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18 SIGN BUSB
19 26 BUS B B
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32 PAR
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40 45 CYCLE
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58 63 PERCNT MDE 3 BUSA
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1)
2)
3)
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13 16
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1)

LS
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MOTOR
ILE
MDE
CYCLE
PP

QP

PC

QC

PZ

QZ

PG

LA\LB

2)

3)

4)

5) 76-80

MW
Mvar
MW
Mvar
MW
Mvar
MW

PP QP PC QC PZ

QZ

LE

MF
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6) PG  >90000 76 9 PG
7) 32 M
32 M
8)
34 LE
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4.4 MDE 5
J1 [ I3 4 Is T6 17 B
1]2[3[4]s[e[7]8]olo] 1]2]3[4]s[6] 78] of o[ 1[2[3[4[s[e]7[8[olo1]2] 3[4 s]6[7[8[ ool 1]2]3 45 6] 7[8]ofol1]2[3]4[s[ 6] 7[8olof1]2]3]4]5e[ 78] ool 1[2[3]4]s[6[7[8] 9]0
1 2 LS
5 12 BUSA
19 26 BUSB
13 16 Bl
27 30 B2
37 MDE 5
32 33 LINE
LINE 1 BUSA
2 BUSB
3 BUS A* PERCNT’
4
5}
7 DPORD
8 DPORD
LINE
40 45 CYCLE
46 51 Fault R LINE 1 2 3
52 57 DPORD MW LINE 7
kA LINE 8
58 63 PERCNT LINE 3 BUS A
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1[2[3 2 5I6I7I8|9I<1)|1|2 3[4]56] 7 Z 9I5|1I2I3I4I5I6 7I8|9I3 1 2 ? 4]s]6[7[8]9 SI1I2I3I4I5 6I7I8|9Ig|1 2[3[a]s]6[7 8|9I8|1I2I3 4[s[e[7]8]9 é|1I2I3I4I5 6I7I8|9Ig
Col Y ea e L se e o | cvee | e | PO | e | AP | e
1 2 LS
*4 SIGN
5 12 BUS A
13 16 KV1 BUS A
*18 4
*19 26 BUS B
*27 30 KV2 BUS B
**32 SIGN
IOPT 5 6 7
33 IOPT
=1 BUS A
=2 BUS A PERCNT
=3 BUS A
=4 BUS A
=5 BUSA BUSB
=6 BUS A
=7 BUS A
37 MDE =6
40 45 CYCLE
46 51 BLOCK ANGLE IOPT 3 4 135
52 57 DPIORD IOPT 6 kA
53 9 IOPT
7 MW
58 63 PERCNT BUS A IOPT 2
O<PERCNT< 100
64 75 ARDC ELDC Q
mH
* IOPT 1 3 4 6 7
** IOPT 5 6 7 4 18
DPIORD
/
BUS A BUS B
R L
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4.6 MDE 7
1|2 5|s|7|s|9|(l>|1|2 3|4]s]6|7 8|9|§|1|2|3|4|5|6|7|8|9 g|1|2|3|4|5|s 7|8]9 g|1|2|3|4|5 6|7|B|9|g 1]2]3]4|5|6]7]8]9 (63|1|2|3|4|5|6|7|8|9 (7J|1|2|3|4|5|6|7|8|9 g
1 LS
5 12 BUS A
13 16 Bl
17 1D
37 MDE =7
40 45 CYCLE
46 50 GDAM
1)
Toe = Kp(max g )3 (R, — R, )26 7T/
Toc
Kb Kp 1
maxlpc
R, Ri
Ta3
KD =0.5 TDC
T Tdc(pu)
0.3 1
0.2 ¢
0.1 r
_t(cycle)
0 >
0 2 4 6 8 10 12 14
5 Toc 0.12 12
0.0 0 12 5
2) 5
3) Dynamic
1 GDAM 5 5
4)
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4.7 MDE 8

J1 I2 I3 4 [5 [6 7 B
s[e[7[sof o 1]2[3[4]s[6] 7[8[ ol o[ 1]2[3] 4] s[e[ 7] 8] of o[ 1] 2[ 3[ 4] 5[ 6 of1]2[3]4]s[e[7[8[olo]1]2[3[4]s]e[ 7] 8o o] 1T2[3[ 4[5 6] 7[ 8] of o] 1] 2 3T [ s[ 6] 7[ 8 9] 0

1]2[3[4 7[8]9
M

Ls BUSA Bl |ID D| CYCLE PWRL SEC1 PWR2 SEC2
E

A2 A8 F4.0 |a1l 11 F6.0 F5.0 F5.0 F5.0 F5.0

1 2 LS

5 12 BUSA

13 16 Bl

17 ID

37 MDE 8
40 45 CYCLE

46 50 PWR1

51 55 SECI

56 60 PWR2

61 65 SEC2

1)

2)
3) 10
4) CYCLE

SEC1 SEC2

5)

6)

40-45

7) 1
‘ 218"
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8)

LS 218.

25
LS 218.

0.5

LS 218.

LS 218.

LS 218.

LS 218.

218"

8 5. 100.0.1 0.0.6

40%

8 20. 40.0.1 40.0.2

5
0.3

8 5. 100.0.1 40.04
8 20. 40.04 40.0.9
8 45. 40.0.9 100.1.2
8 60. 100.1.2 100.1.3

0.3

40%

-200%/

2006

6

25



PSD-BPA

4.8 MDE 9

[t [2 I3 4 I8 [6 7 I8
12]3[a]s[e[7[8]olo1[2]3[4]s[6] 78] olof1]23[4ls[6[7[8]o o] 2 [3[4ls]el7]8 ool 1[2]3[4]5]el 78] ofof1]2[3[4ls[6[7[8lofof1[2]3]4]s[6[7]8[olof 1] 2]3[4[5]6[7 8] ol0
P M Pl |s
Ls BUS A B1 BUSB B2 A D CYCLE FAULT R FAULT X NDE[ [H| | 1| FAULT Ry | FAULT X4
R E Al |D
A2 A8 F4.0 A8 F4.0 Al 12 F6.0 F6.0 F6.0 12| 1] i Fs3 F5.3

1 2 LS

5 12 19 26 BUSA BUSB

13 16 27 30 Bl B2 BUSA BUSB
32 PAR

36 37 MDE 9

40 45 CYCLE

46 51 FAULT R

52 57 FAULT X

71 75 FAULT Rd

76 80 FAULT Xd }
65 66 NDE

—q

ZD ZHZ VA VA
L

NDE

O© 00 NO Ol WN -
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68 PHA
PHA 1 A
2 B
3 C
4 BC 1
5 AC 2
6 AB 3
70 SID
SiD 1 BUS A
2 BUS B
1)
a
b
C
d
€
i
g
2)
3) LS
4)
MDE 1 2 LS
3 6 LS
5) “ ”
100MVA 500KV j 0.0001~0.0004
6) MDE NDE 3 PHA
7) MDE NDE 6 PHA SID
BUSA BUSB PHA 1 SID 1
8) MDE NDE 5 9 SID
9) MDE NDE 7 8 SID
10) MDE=1 2 3
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4.9

MDE 9

[t 2 I3 4 Is [6 7 I8
1]2]3]4]s]e[ 7] 8] ol o 1] 2] 3[4 s]6] 78] of ol 1[2[ 3[4l 5[ e[ 7] 8] ol o 1] 2] 3 4 5[ 6] 7|8l o] ol 1]2[3[4[5] 6] 7I8[olol12]3[ 4[5 e[ 78l of ol 1] 2] 3] 4[s[ 6] 7[ 8ol o 1] 2] 3] 4] 5[6[ 78] o]0
c M
Ls BUS B1 [ID| D D CYCLE
E E
A2 A8 F4.0 |A]] A1l 11 F6.0
37 MDE “ 9
4.10 MDE 9
1 [2 I3 4 [5 I6 7 I8
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E E
A2 A8 F40 |A]l A1l 11 F6.0

13
17
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16

45
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4.11 MDE 10
12]3[4 5|6|7|8|9I(1J|1|2 3[4]5]6]7 SIQIEI1I2I3I4I5I6I7I8I9Igl1I2I3I4I5 6[7[8[9 3I1I2I3I4I5 [ 7]8[9 § 1[2[3[4]5 6I7I8I9Ig 1I2I3I4I5I6I7I8I9ISI1I2I3I4I5I6I7I8I9I§
1 2 LS
5 12 BUS A
13 16 Bl BUSA
17 ID
36 37 MDE 10
40 45 CYCLE
50 SCID
SCID 1
SCID 2
SCID 3
SCID 4
SCID 5
51 55 CREST Erest=CrestxEfdo
56-60 T
SCID 1 4 5 T’do
SCID 2
SCID 3 T’do
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4.12

MDE 5

T AR e eE T EREEDHGE IS SISl Mz = STeT Ao T2 TS SIaTeTal
1—2 LS
5—12 19—26 BUSA BUSB
13—16 27—30 B1 B2
33 LINE

LINE 9
37 MDE 5
40—45 CYCLE
64—69 Penp Teno

MW
lenp TEND
pu
70—75 PstarT
CYCLE MW
IstART
CYCLE pu
76—80 Tenp
Poc ,
Poco
Poc = Ppeo + kK x't
k PEND — PSTART
Teno —~CYCLE CveLE Tew
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4.13

MDE 11

H
~
%

[=]

[t
s[e6[7[8][9] o] 1] 23] 4[5]6

7

[2 I3
8[ oo 1[2[3[4]s[6]7][8]9] o]1]2]3[4]5

4
o 1[2[3]4]5

[s
6[7[8] 9]0

1[2[3[4]5

[6
6[7[8[9]0

1]2]3]4]5

[ B
6] 7[8] oo 1] 2] 3[4]5]6] 7] 8] 9]0

BUS A

B1

CYCLE

Vrerl

SEC 1

Vrer2

SEC 2

A8

F4.0

Al

F6.0

F5.0

F5.0

F5.0

F5.0

4—15
17

36—37
40—45
46—50
51—55
56—60
61—65

1)
2)
3)
4)

LS

ID

MDE 11
CYCLE

Vrer 1
SEC1
VRer 2
SEC 2

10
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4.14 ALAM

0 |1 |2 B 4 | s |s 7
1]2]3]4] s]el 7] slolofal2la] 4lsl6l 718l o]0l 1] 2] 3]a]slsl 7 slolo] 2] 2[3]4ls] el7ls]olol1]2]3] 4]sl6]7]8]o] o] 1 4]s]6] 718l o]o]1]2] 3]4]5] 6 9lo
AL BUS A BASE1 BUS B BASE2 g Teeom N Vi TIMER é

A2 A8 F4.0 A8 Fao | |a1 Fr.4 11 F5.4 Fr4 11

1 2 AL

5 12 BUS A A

13 16 Bl

19 26 BUS B B

27 30 B2

32 PAR

PAR=* BUSA BUSB ALAM

35 41 TBegin ALAM

44 N ALAM

47 51 Vi pu 0.7 pu

54 60 Timer

63 LOCK =1
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4.15 LZ

0 |1 |2 I3
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1]2]3]4] s]6l7] slolo]1]2]3]4]sl6 olol1] 2]3]4]s]6]7lslo]o

~
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=
N
w
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ol

slolol1]2]3] 4

=)
=]

slsl7lslo] o]1

2]3]4]5]6]7]s

olol1]2] 3]4]5

sl 7ls]oo]1]2

3]4]s]6]7]s]o

o

Lz BUS1 BASE1 BUS2 BASE2 ID

Gl

Bl

R

X

G2

B2

A8 F4.0 A8 F4.0 Al

A2

F7.4

F7.4

F7.4

F7.4

F7.4

F7.4

1-2
5-12
13-16
19-26
27-30
32
38-44
45-51 1
52-58

59-65

66-72 2
73-79 2

LZ

NN -

-

pu
pu
pu
pu
pu
pu

1) 1 2

9999.0

2)
LZ

3)
ID
MDE=-1
4) “
0.0119+j0.1008

LS C 230. 3
LZ C 230. 3

LZ

B/2

230. 1
230. 1

>
>

10 1]

ID

0.05225

-1 10.

.05225 .0119

9999.0

3”

-1008

.05225
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2006 6

33




PSD-BPA

5 FF
123|45|6|739|(1)|123|4|5|6|789|g|123|4|567|3|9Ig|123|4|567|8|9I312|345|6|789212345|67898123456739;1234567892
v || s | e SN Lot o 1Pl e
1 2 FF
5 7 T 0
9 11 DT 1
13 17 ENDT 300
19 21 DTC
23 25 ISTP
27 31 TOLI 0.01pu
33 35 ILIM 25
37 40 DELANG 0.1
42 43 DTDV 8
45 47 DMPMLT 1.0
55 56 FRQBSE Hz 50Hz
58 LOVTEX 1 0.4pu
60 IMBLOK 1
=0
=1
=2
>2 0
64 MFDEP
0
1
2
3
4
66 LSOLQIT 1
68 NOANGLIM 0
500
70 INFBUS
71 NOPP
72 NODQ
73 NOSAT
74 NOGV
75 IEQPC Eq C
76 NOEX
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77 MFTOMG MF MG

78 NOSC
79 MGTOMF MG MF
80 NOLOAD
1)
2) DT 1
19-21 DTC 23-25  ISTP
ISTP / 1
3)

0.5

0.5

4) TOLI ILIM DELANG DTDV LSOLQIT
TOLI DELANG

5) INFBUS NODQ NOGV IEQPC NOEX NOSC NOLOAD

E NOEX 1
6) 500
500
NOANGLIM 1
7) IMBLOK 60 1 01 2
1 80 0 1
8) DMPMLT
D /
D
213 pe, —p, P,
dt
45-47  DMPMLT D F1  20-22
DMPALL D F1 DMPALL 0 D
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45-47 DMPMLT DMPMLT
1.0
9) MFDEP 64
V, = (0, /0)E, — (o, /05)X4ly —R,I,
V, = (0, /09)E, + (o, /0g)X 1, —R, I
o, ®,
2H d“;r +Do, =T, - T,
T,=P, /o, T,=PJ /o,
MFDEP 0 ®, =, =1.0pu
V, =E, - X;l, - R,
V, =E, + X1, —R,I,
o192 py —p —p,
dt
MFDEP 1
V, = (0, /0)E, — (o, /0y)X 1y —R,I,
Vy = (0, /09)Ey + (0, /0h)X 1, —R, I
209 Dy, =T, T,
dt
MFDEP 2
V, = (o, /og)E, — (0, /o) Xgly —R, 1,
V= (0, /09)Ey + (0, /0)X 1, —R,I,
o132 py —p P,
dt
MFDEP 3
V, =E. = X1, —R,I,
V, =E; + X1, - R,
2R Dy =T, T,
dt
MFDEP 4
V,=El - X1, -R,I,

V, =E; + X1, -R,1,

2H
dt

do,

+Do, =T, —P,
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10) FRQBSE Hz

FRQBSE 50Hz
11) LOVTEX LOVTEX O
0.4pu30
12)NOPP 71
M CASE
13) NOSAT 73
SG1.0 SGi12 0 MG 64-77
14) MFTOMG MGTOMF BPA
MFTOMG MF
MGTOMF
BPA
0

1 1/FRQBSE
30
LOVTEX=#0
MF 69-77
N A B 0
MF MG
MG
MG MF
73 1
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6 F1 FO

6.1 F1
0 1 2 |3 |4 5 6 7
1]2|3]4] slel7] slo]o1|2l3]4]sle|7] 8]ool 1] 2[3]4]s] 6] 7| slolol 1|2 3]4]5| e]7lslofol1|2]3l4lslel 7|8l o] o|1|2]3]4]s]6]7]8]o]of1|2|3]4]5] e]7]8|o]o1[2]3]4
F1 TBUSF TZERO MPAL E VCHGL| § caisu | | Tirskez [T =
F1 FF FF
1 2 F1
5 9 TBUSF
TBSUF

0

12 16 TZERO
TZERO TZERO 0 TZERO
Tr

SVS Tsi Ts7 Tswo Tss  Tsa 0

PSS Tov Tos
20 22 DMPALL DMPALL 0

DMPALL FF DMPMLT DMPALL
0
26 IAMRTS 0 CASE XFACT 0
M
28 31 VCHGL F4.3
0.5pu
33 SPTOSG SP PSS SG
PSS 0 SP SG
37 41 GSIQU GH GS
43 47 TITSKP CASE 17
48-49
48-49  ITSKP1 43-47 TITSKP ITSKP1
51 VRLIM  FM\FO\FP\FQ\FR\FS\FT FG
VRLIM 0
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6.2 FO
2I2 3[4] s|e]7] 8|9 (1)|1|2|3|4|5|6|7 iﬂQléll 2 4|5Is|7|s|9l§|1 2|3]4]s] 6|7 iﬂnglllz 3l4]s|e]7]8 2 2|3]4]s]el 7] 8] §|l|2|3 4l5] 6|7 8|9|;|1|2|3|4|5 6I7Izﬂgz
FO ('3 ,L GEN-1 BASE1 [') GEN-2 BASE2 I'D AMAX | AMIN \'/ BUS BASE IF| BUS BASE
FF
1-2 FO
5 IG
1G=0 ( ) 1G=1
8 1A
IA=0 ( ) 1A=1
10-17 GEN-1 1
18-21 kV 1
22 ID
24-31 GEN-2 2
32-35 kV 2
36 ID
38-42  AMAX Y ( = 200)
43-47  AMIN Y ( =-200)
50 v
V=0 ( ) Iv=1
V=2 V=3
52-59 BUS
60-63 kV
66 IF
IF=0 ( ) IF=1
IF=2 IF=3
68-75 BUS
76-80 kV
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MC MF MG M CASE LN

d g

B q

Y

g
I .|
W)
f
X

C d
f g q

Vq =-Raig +e'c']I —Xaid

Vy :_Raid +e'(;| +X'(;|iq

. de, .. . .
Tdo_q:[eq —eq —(Xg —Xg)ig]

dt
. de, C X =Xg) .
Tgo —-=[Vs —eq —— 24—~ (eq —€q)]
dt Xgq —Xg
Lodey o e . -
qud_,[(j:[ed_ed+(xq_xq)|q]
de, Xg=Xg)  +
Tqo d—d=[—ed 1 " ey —eq)]
t Xq—Xq

T =eqgig +eqiq +(Xq —Xa)igiq

2
Md—6+ DEITM —TE
dt? dt
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BPA
1) d g
a
b
CASE MF
c ) MF
M To 0
Tao' 999 Eq C
0.0<Tg0'<999
2) E=C MC
D
3) LN
4) MC EMWS=999999
5) MS  EMWS 0.0

Ef =Uq +Ralq +Xlg

Eq =Ug +Rylg —Xglg

. dE; L. C. . dEy
qu—:(Ed—Ed)+(Xq—Xq)lq+Tq0—
dt dt
dE, dE,
» OEq Cen Ct » OEq
Tao — = (Ey —Eq) — Xy =X J1g +Tyo —+
40 5 (Eq q)(d d)d 40 5
. dEg  _ .
TqOT:_Ed+(Xq_Xq)Iq
dE,
. dEg . . '
Too —5 =Er ~Eq —(Xd _Xd)ld - (Ke —1Eq
b ,(n—l)
Kg =1+—E
G a q
Pm P
J99 _Pn _Pe po—ap)
dt O o
ds
—=(o-1lo
S (-t

CASE
fg
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>

> BPA Eg-Es  Ea—Fq
Xq=Xq  Xg—Xg

lg g
> BPA Eq Eq Eg Eq
Eq
M MG M

1) q0 0 X4 Xq

2) q0 =0 Xq =Xq Q

3) 40 0 X4 Xq

4) g0 =0 Xq =Xq

5) Tgo =999. Eq 2

1)

2) MC

3) FF 64 MFDEP
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7.2 MC

MF MS

B B B [4 B [c T ]
]2 zqqqnﬂqqlﬂqqseﬂmqmuzﬂﬂsﬂnsmmuzqqqenﬂqqlqﬂqqenﬂqqquqqanaqoqqsqqqngqqqﬂgqqq7sgo
ol
M E c NAME KV é Faws P(pu) [ Qlpu) QA/;/S?E Ra X'“ X’q Xq Xq T‘uu T‘qO Xe Xp Se10 Se12 D
v o]
PEE
AY AL A8 F4.0 |A] F6.0 F3.2| F3.2 F4.0 F4.4 F5.4 F5.4 F5.4 F5.4 F4.2 F3.2 F5.4 F5.4 F4.3 E3.2
1 M
2 C FS
4 11 NAME
12 15 KV
16 ID
1D=1 1D=2
17 22 EMWS MWe
T
Emws = TMVABASE
T,
MVABASE
23 28 P(pu) Q(pu)
1.0
ID
P Q
pu =3 Q p o
> P(pu) =1.0,>" Q(pu) =1.0
29 32 MVABASE

Ra Xd Xq Xd Xq XL

M PSS

MF MVABASE
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33 36 Ra

37 41 Xd'
42 46 X'
47 51 Xd
52 56 Xq
57 60 Tdo'
61 63 Tqo'
64 68 XL
Xd'<Xqg'<Xq Xd'<Xq Xq
XQg'=15 3.0Xd'
Xqg'=Xq
: X,
qozi&_'q-rdo
2 X, Xq
Tqgo'=0
69 73 SG1.0
74 77 SGl1.2 1.2
\Y}
1.2
1.0
Id
la 1.2la Ib Ic
SG1.0 IB/IA-1 0.05<5G1.0<0.2
SG1.2=Ic/(1.2 1A)-1 0.25<5G1.2<0.5
78 80 D
D MW/ I( Af/50)
2.0
D
1) Xd'
2) MF SG1.0 SG1.2
X Xy
3)
X'q X'q X'q
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7.3 MG

| 12 |3 T2 B Ie 7 -
T i ECEEENPEEEEBNEEER EEEEENEE R EEEEENEEEPEEEEENEE N REEEECNEEER EEEEENEE N R EEEEEUEER
E 2 I MVA . . ‘
M \T( g NAME kv [ Ewes [P0 Q00| case [ R X, X, Xq X, T | Te N A 5 5
PE] E
AL AL A8 F4.0 |A] F6.0 F3.2 | F3.2 F4.0 F4.4 F5.4 F5.4 F5.4 F5.4 F4.2 F3.2 F5.4 F5.4 F4.2 E3.2
1 M
2 G
4 11 NAME
12 15 KV
16 ID
1D=1 1D=2
17 22 EMWS MWe
T,
Emws = TMVABASE
T,
MVABASE
23 28 P(pu) Q(pu)
1.0
ID
P Q
pu =3 Q p o
3 P(pu) =1.0, > Q(pu) =1.0
29 32 MVABASE
Ra Xd Xg Xd Xq XL
M PSS
MF MVABASE
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33
37
42
47
52
57
61
64
69
74

78

1)
2)
3)

36
41
46
51
56
60
63
68
73
77

80

Ra
Xd'
Xq'
Xd
Xq
Tdo
Tqo

MF

MW
2.0

64 77

A

B

I

Eq'

Af/50)
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74 M

In IB 3 T4 I5 [6 [7 I8
1]2[3[a[s[e[7]8[ofo1]2[3[4]5] 6 [7[8]ofo[1]2[3[4[s]e[7[8loof1[2[3[4]sIe6[7]e[olol1[2[3[4lse[ 7|8l olol 12 3[4l 56l 7189l ol 1[2[3[4]s6[7[8[ ol o[ 1[2[ 3[4 s[6[7 890
s|c
gg NO. «
MVA uNITs| | & g
M \T(g NAME KV [ID| patinG PF This | | & g X X T T
CARD
P|D
E|E
Al A8 F40 |Al| F5.1 F3.2 A2 A3 F5.4 F5.4 F4.4 F4.4

4 11 NAME

12 15 KV

16 ID

17 21 MVA RATING

23 25 PF }
31 32 TYPE

SC
GT
CcC
GE

34 36 OWNER
38 42 X' d

43 47 X"q
48 51 Tao"
52 55 Teo"

o o o

1)

2) M MF
MG

3) M MF

4H M Xd" X'qg  MF 29~32 MF
29~32

5) 17 32
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7.5 CASE

1 [2 [3 [4 5 6 7 [8
1[2]3[4]s]e]7[8[ofo[1]2[3[4]s]6] 7]eofo[1]2[3[4]s[6[7[8] o[ ol 1] 2] 3] 4[s[6[ 7] 8o o 1] 2] 3[a[s]6]7[8] 9] o[12]3[4]5]6]7[8]o]o]1]2[3[4]s[ 6] 7]8]9[o 1] 2] 3[4]s 6] 7[8] 9]0

CASE CASE CARD DATA XFACT | TDODPS | TQODPS | TDODPH | TQODPH
CASE
XFACT TDODPS TQODPS TDODPH TQODPH 5
(1) X" X" X'

X"=X'¢*XFACT
X"=X'¢*XFACT

@) Tqo' 0
T"4.=TDODPS
T"0=TQODPS
(3) Tqo' 0
T"4=TDODPH
T",=TQODPH
(1)
(2 XFACT 0 XFACT 0
TDODPS TQODPS TDODPH TQODPH 0
(3) M
M
4) F1 26
M
©) T'q0=0 CASE
(6)
XFACT 0.65

T"d0:0.03 T"q0:0.05
T"d0:0.04 T"q0:0.06
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7.6 LN

[ B I3 [4 [5 I8 7 B
1]2]3[4]s[e[7[e]of o[ 1]2]3[4[5] 6] 78] ol o[ 1[2[ 3[4 s[e] 789l o 1[2[ 3[4l sTe[7[ 8l o o[ 1]2]3[4[ 5] eI 7[8] ol o[ 1] 2] 3[4 5[ 6] 7[8[ ol o[ 1[2[3[4[s[ e[ 7T8[ ol ol 1]2[3T45[6[ 78] 9]0
ol
B|G
L|T|c NAME KV NAME KV NAME KV NAME KV NAME KV
oo
E|E
LIN| A8 F4.0 A8 F4.0 A8 F4.0 A8 F4.0 A8 F4.0
1 L }
2 N
4 15 1
19 30 2
34 45 3
49 60 4
64 75 5
1) Pcen

2)

LN

BD BM

LN

Pcen
3) Pcen LN
4)
LN
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7.7

1)

2)

1)

2)

3)

4)

1)
)
(3)
(4)
(5)
(6)

5<Epmws<20000
0<P<1.0
0<Q<1.0
SP 1.0
2Q 1.0
0<D<3.0

0.01<X'4<0.5

(1)
(2)
(3)
(4)
(5)

1)
(2)
(3)
(4)
(5)
(6)
(7)

T'qo=0)
0<Ra<0.1

0<0.1Xd<X'd<X'g=Xg< Xd <10.0

0.01<SG1.0<SG1.2<2.0
0.3X'd<XL<X'd
1.0<T'qo<20.0

0<Ra<0.1

0<0.1Xd<X'd<X'g<Xq <Xd<10.0

0.1<T'qo<5.0
T'go<T'do
0.01<SG1.0<SG1.2<2.0
X"d<XL<X’d
1.0<T"d0<20.0

P+jQ=-0.001+j100

MC MF
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F8
8.1 1968

Erp
Eromax
Eromin
IFD

I

Ka

K'a
Ke

Kr

Ki

Kp

Kv

Se
Semax
SE.75MAX
Ta

Ta1

Te

Te

T
TrH
Ve
Vemax
VR
VRmAX
VRMIN

|EEE

Vs

VR
VR

VRMIN MULT VRrRmAX

VRer
VrH
Vr
V1Hev
AVt
Vso
V1o
XL
V'r

V'ro
Tr

PSS

VRrmIN

\/H-::\/T-—-OJJSITQrkp
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821968 |EEE E

1 §i4|5I6I7I8I9IéI1 2[3[4]s] 6 7I8I9I5 1[2[3]4]s]e[7]8]9 g|1|2I3 4[s[6[7 8I9Ig|1 2[3[4]s]e[7[8]o g|1|2I3 4[s[e[7[8 slghlz 3[4]5[6 7I8I9I<71 12 3] 4[5 6I7I8|9I<81
2RI BN SR S Y i B oIl S s B L (- B
1 — E
2 A B CDEFGJK
3
4 15
16
17 20 Tr—
21 25 Kp—
Ky— / E
26 29 Ta—
Tre— E
30 33 Tar—
34 37 VerminmuLT—VRMmAX VRMIN D J VRMIN
38 41 Kge— Ke 1.0 Kege 0.0
42 45 Teg—
46 49 Sg7smax—75
Ki— D
50-53  Semax—
Kp— D
54 58 Erpmin—
59 62 Erpmax—
Vemax— D
63 66 Kg—
67 70 Tg—
71 75 X— D
76 80 Tgp— D
D E
D J
Ke 1.0
Ke 0.0
1) E
2) ED 50-53 KP MF 29-32
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8.2.1 EA
VRer Regulator Exciter
Filter VR
VT 1 - + Ka 1 + 1 Erp
SRR 3 - : e >
1+STr X 1+STa 1+STa STe
T VRMIN )
Vso Se+Ke |«
Other Stabilizer
Signals e
1+STF
1 Tr, Ka, Ta, Ta1, VRminMuLT = -1.0, Se7smax, Semax, Eromax, Kr, Tk, Kg, Te
2  Veruax = Semaxt Ke  Erpmax
VrviN = Vrmax VRMIN MULT
3) Ke 1 Ke 0 Ke 0
EA EA
Tr 0~0.06
Ka 25~400 Ka
Ta 0.02~0.2 Ta Taz
Ta1 Ta
VRMIN MULT VRMIN VrmiIN = VrRmax VRMIN MULT
VRMAX Semaxt+ Ke  Erpmax VRMIN MULT 1.0
KE KE 1.0 KE 0.0
Te 0.5~0.95
Se75mAx 75
Semax
Sesmax  Semax :
0.5 3600 / )
Mag_A_Stat
Semax 0.267 0.95 0.86
Se 75MAX 0.074 0.22 0.50
Erpomin -3.5 Eromin =0
Erpmax 35
Ke 0.03~0.08
Te 0.35~1.1
EA
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8.2.2 EB
] VRer Regulator Exciter
Filter i VR Eromx
VT 1 N Ka R 1 . 1 . Erp
1+ STr C C 1+STa 1+STa @ STe /
r ) VRN Eromin=0
Vso Stabilizer Se+Ke
Other
Signals SKr 1 o
1+STe | 1+STr
1 TR Ka Ta Tar Vevminmuer Ke=10 Te
SEvax Semax Eromin=0 Eromax Kr T T
2  Veruax = Semaxt Ke  Erpwmax
VrviN = VrRmax VRMIN MULT
8.2.3 EC
EB
VRer Regulator Exciter
. VRuAx Erpmax
VT -:j +i> Ka 1 +i: 1 Erp
Ll Ll 4’
(Tr=0) 1+STa 1+STa1 ) STe /
r ) VRN Erouin=0
Vso Stabilizer SE+Ke '«
Other / \
Signal
gnats e Se+Ke [«
1+ STk
1 Ka Ta Tar Veminmuer Ke=1.0 Te
Sesmax  Semax Eromax Eromin=0 Kg Tr
2  Veuax = Semaxt+ Ke Erpmax

Vemin = Vrmax VRMIN MULT
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8.2.4 ED
i VReF Regulator Exciter
Filter /VRuax Varax
V'T 1 N Ka 1 " Vs 1 | Em
e (1 —» - : —» >
1+STr 14STs | | 14STm . /o + STe
I* - VRUIN * -
Stabilizer
Vso
SKFr
Other -~
Signals 1+STe
V'T—»f V/ THEV
Vrrev= | KeV'T+jKil >
I THev=| KPV'T+jKi I 7] l @
I —» J1-A 4
1 TR KA TA TA]_ VRM|N KE :10 TE KP K|
Vevax Kr T Xp Kg
2  Vgrvax =-VRrwmIN
V1HEV
A= (078 X|_ IFD/ VTHEV)
A>1,Vg=0
Ki
(1.19)(-Q++ E?— PF)(Ss/SN)
PF
E
Q=sin(cos ' PF)
Sg= MVA
Sn= MVA
8.2.5 EE
VRer Regulator Exciter
+ \/RiAX Eromax
V't - K'a *| Vri VR + C 1 Erp
> — Lt '
1+STru STe /
VRmIN IF: - Eromn
AVT >= Kv, VR =VRruax
Se+Ke
[AVT] < Kv, VR =VrH
V'to
+ AVT <= -Kv, VR=VRMIN
V't - 5 AVT -
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1 Tre Kv Veminmuer Ke Te Sesvax Semax  Eromin Erpmax
2  Veruax = Semaxt Ke  Erpwmax
3  Vruin =Vgkmax VRMINMULT
4 Try>0 K'a 10 Trn =0 K'a 10
Try=0 Ka/ S
8.2.6 EF
EC
VRer Integrating Regulator Exciter
. VRuAX Eromax
Vroo- + 5 KA(1+STA) + i : 1 / Erp
(Tr=0) X S ) STe
T{ ) VRN Eromin=0
Vso Stabilizer Se+Ke
Other / \
i |
Signals SKe_ |, Serke L
1+STr
1 Ka Ta Vrwinmuer Ke=1.0 Te
Sesmax Semax  Eromin =0 Erpmax Ke TE
2  Vgeuax = Semaxt Ke Erpmax  Vevin = Vruax VRMINMULT
8.2.7 EG
VRer Regulator
. VRMAX
VT o - + 5 Ka 1 Er0 _
2 1+STa 1+STa
T VRMIN
Vso o
Other Stabilizer
Signals SKr
1+ STF
1 Ka Ta Tar Ke Tr Eromin  Erpwmax

2  Vgruax = Erpmax
VrmiN = Erpmin

2006 6 56



PSD-BPA

8.2.8 3 EJ
V1 Emp EG
) VRer Regulator
Filter ) VRAx Eroux e
V' 1 - + Ka 1 /
1+ STr 1+STa 1+ STaz
r i Vemn Eromin
Vso o
Other Stabilizer
Signals SKr
1+STr
1 TR Ka Ta Tai Vrvin Eromin Erpmax K Tr
2  Veruax = -VruiN
8.2.9 EK
Vrer Regulator Exciter
+ /— VRuax Eromax .
Vi - + Ka 1 + 1 FD
D > - : E— > >
(Tr=0) S 1+STa 1+STa STe /
I-l- Van—/ Erouin=0
Vso Se+Ke
Other Stabilizer
Signals T
1+STr )
1 Ka Ta Tar Veuinmuer Ke=1.0 Te Sezmmax  Semax
Eromin =0 Erpmax Kr TE
2  Veuax = Semaxt+ Ke Erpmax
Vrmin = Vrmax VRMINMULT
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E
831981 IEE

Erp
Erp

Eron

Fex

15

IN

Ka

Ks

Kc

Kb

Ke

Ke Ky
Ke

KH

Ki

K

Ky

Krv

Kp /
Ks

Kv

< Ve:r Erm: —_
< 0.75Vg1 O.
Se1

-SFEAz Ts Tc
Te

Tr

Tr

TrH

Va

Ve

Vc

VE

VERR

Ve

VEe

\e

\/H‘\/L

Vi1

VLR

Viv
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VN
VR

VRer

VRrH
Vs
Vr
Xc
XL

Op
A44><:j%4>c

A—>

B—

B—

2

LV
GATE
AT W
GATE
A
1 X
1+ST }
B

A

1+ST

Y,

@

C
C

B,C=A
B,C=B
dy/dt=(u-y)/ T
BLy<A x=y
Y>A X=A
Y <B,x=B

f=(u-y)/IT
Y=A >0 dy/dt=0
Y=B <0 dy/dt=0
dy/dt=f B<y<A

2006

6

59



PSD-BPA

841981 |EEE F

84.1F

[1 B I3 [4 [5 I [z I8
3]als[e[ 78] ofof 1] 2] 3]4]5] 6 [ 7[8[ ol o 1] 2[ 3[4 5[ 6] 7[ 8] of o 1] 2] 3[4 5[ 6] 78] o] o 1] 2[ 3] al 5] 6] 78] ol o] 1 2[ 3] 4 5] 6] 7[ 8] ol o] 2] 2[ 3[ 4] s 6] 7 8] o[ o] 1] 2[ 3[ 4] 5 6] 7] 8] o 0

1]2
S
U

o2 NAME w ol re “ . Viww | Vi . . Ka T Vawae | Ve Ke .
v © " Vauax(F) | Viin(F) Kv(E)* Tea(E) | Vawmax(H) | Vamin(H) K (L) &
Pl
E

A2 A8 F4.0 [A]] F5.4 F5.4 F5.4 F5.3 F5.3 F5.3 F5.3 F5.2 F5.3 F5.3 F5.3 F5.3 F4.3

2 A H JL

16

17 21 Rc *

22 26 Xc *

27 31 Tr

32 36 Vimax G K L
V aMAX F

37 41 VimIN G K L
V amIN F

42 46 Ts

47 51 Tc

52 56 Ka

57 61 Ta
TrH E
62 66 VRMAX
V amax H
67 71 VRMIN
Vamin H
72 76 Kg A B E Ke O

Kj L
77 80 Te

* MF  29-32
A H J L F
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8.42F

FzZ

1]2[3 4|5I6I7I8I9Ié|1 2[3]4]5[ 6 7I8I9I§|1 2[3[4]5]6 7I8|9Ig|1 2[3]4]5[6 7I8|9Ig|1 2[3[4]5]6 7I8|9I<5>|1 2[3[4]5[6 7I8I9Ig|1 2[3[4]5[6 7I8I9I;|1 2[3]4]5[6 7I8|9I§
o, NAME w ol = sa | O] T Ke T . Koo | k@ | k@ | k@ | Ve
KiOL) | Ke(DL) 0 o(L) Eroax KoL) | Vemax(L) Xu(L) Viv(H) Kiv(H) Kn(H) Ke(H)
1 F
2 Z
4 15
16
17 21 &g 32 36
Ki D L
2 26 Sg 32 36 75
Kp D L
27 31 Eromin J
Eron
Op L
32 36 Em Ser ( ) A B
Ve Se1
C F H
Erpmax D L
37 41 K¢
Ke L
42 46 T
Vemax L
47 51 Kc
52 56 Kp C FH
XL * L
57 61 Kg F
Viv H
62 66 KL F
KLy H
67 71 Ky F
Kn H
72 76 VR F
Kr H
* MF 29-32
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8.4.3 FA
Vs
VRMAX
.
VERR;;é_’ 1+STc - Ka VR + 1 EFD‘
& 1+STs 1+STa STe
VF VRMIN VEE
SE+KE <
SKEk .
1+ STF
1 Ka Ta Veruax Vevin Te Se1 S22 Erp T
2 Ts Tc Ke
3 Tc>0 Tg>0
4 KE =0 KE VRo 0.0
8.4.4 FB
Vs VT1*VRuAX
.
VERR + 5 1+ S-I-C . KA VR + 1 EFB
y 1+STs 1+STa STe
- =~ .
VF VT*VRuIN VFe
SE+Ke |«
SKF
1+ STk
1 Ka Ta Veruax Veuin Te Se1 Se2 Erpa T
2 Ts Tc Ke
3 Tc>0 Tg>0
4 KE =0 KE VRo 0.0
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8.45 FC
Vs
VRuAx
+
Verr + :g 1+STc Ka VR + . 1 VE NG Ero
. 1+STe 1+STa ‘; STe
- - F
VF VRMIN 0 =
Fex=F(In)
A
In
Se+Ke 1« > IN—KC*IFD
+ Ve
SKE VFE s 3
1+STe |
+ IrD
Kb =
1 Ka Ta Vervax Veuin Ke Te Se1 S22 VEr Ke Tk
2 Te Tc Ke Kp
3 Tc>0 Tg>0
8.4.6 FD
Vs VRumAX Eromax
+
VERR +% Ka VR +CZ +C 1 Ero -
1+STa LA STe
- - 0
VF VRN Ve
Ke |«
SKF
<7
1+STF
Vi—_ - VE
~ VE:‘KPVT+JKI|T‘ >/H
[T —»
L Ke+Irp
I = =
o M Ve In Fex=F(In) Fex
1 Ka Ta Vruax Vruin Ke Te Ermpmax K T K/ Kp Kc
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8.4.7 FE
Ky VRumAX
VERR Vrmax —VRMIN | VRrH
SKvTrH
K _/
- VRMIN
v
IFVERR > Kv, VR =VRMAX Ve + 1 Erp
——» IF [VERR| > Kv, VR=VRH 4>@—> STe
IFVERR < -KvV, VR=VRMIN _ £
VFe
Se+Ke
1 Kv Tre Vrvwax Vruin Te Se1 Sz Erm
2 Ke
3 Ke=0 Ke Vsro 0.0
8.4.8 FE
Vs Vanax
Ves + iieT K y " V/RuAX
+ C A A E
_i 1+STo | | 1+STa " & K Vf ) iVE o 17—
vV vV + ' 0 Fex
F - Vi Vi Ve Fex=F(In)
KL 4—@;—« ﬁlN
+T SeaKe oy = Ke+ Irp
VLR VFE+ VE
Ki |« s 4
+ Ko L« IFD
SKFr .
1+STe |
1 VAMAX VAMIN KA TA VRMAX VRMIN KE TE
SE1l SE2 VE1l KF TF KB KL VLR
2 TB TC KC KD KH
3 TC >0 TB >0
4
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FF
Vs
Vamax Vemax-K'dl
+ /7 VRMAX EMAX DIFD
Verr ¢ T [14STe | [ K [vaton ] Ve 1, o B
X 1+STs 1+STa y + 5 STe
VF Vamin h VR i 0 Fex
Vi Fex=F(Iv)
T In
, SEKE ol [y = KC\;'FD
E
Ki 1< VFE . 2
+ IFD
SKFr ’ Ko
1+STF |
Veemax = (VirK KB ) / (1+K Kp)
Vemax = Veemax | (Ket+Sg)
K’p=Kp/ (KE+SE)
S =F(Ve)
8.4.9 FG
Vs
+ Vimax (Vruax-KcIrp)
1+STs 1+STa
Vi (Vruin-KelIrp)
1 Vimax Vimin Ka Ta Veruax VrwmIN
2 Ts Tc Kc
3 Tc>0 Tg>0
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8.4.10 FH
L KLv 4—@< =
& +
Vv
Vs Vanax
+ /[
VERR
/s 1+STc Ka 1 Ve I Erp
y 1+STs 1+STa STe
- _/
VE Vamin Fex
Fex=F(In)
T In
Se+Ke ol [y = Kc+ Irp
5 VFE AVE
IFD
Kn * Ko |«
S WN N
L < | <
1+STF KF:
EFoN Erp
1 Ka Ta Vamax Vamun Ke Te Sa1 Se2 Eron Ve
Ke Tr Vv Kuiv Ky Kr
2 Te Tc Kc Kp
3 Tc>0 Tg>0
4
FH
Vs Vamax
+
VERR 4 1+STc Ka Va VR 1 Ve C Erp
z P z - > H ——»
- 1+STs 1+STa + % STe
- - _/ T Fex
VF Vamin VEMIN
Fex=F(In)
T IN
Kr SeeKe > Iy = Kc+ Irp
1 VFE 1 Ve
IrD
Kp
KN
S WN VN
[ < 1 <
1+STr KF:
ErFon Ero
VEMIN = VLV / FEX
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8.4.11 FJ
Vs
. VRiax (VTEromax-Kc Irp)
VERR + 1+STc Ka Erp
1+STs 1+STa g
Tl VF -/
VRUIN (VTEFoMIN-Kc I FD)
SKF
1+STe
1 Ka Ta Vruax Vruin Eromax  Eromin TF
2 Te Tc Kc
3 Tc>0 Tg>0
8.4.12 FK
Vs
. V IMAxX (V1Vruax-Kclrp)
VERR  + 1+STc Ka Erp
1+STs 1+STa g
VE (VTVrmin-Kclrp)
SKr |
1+STr
1 Vivax Vimin Ka Ta Vgevax Vrwvin
2 Te Tc Keg T K¢
3 Tc>0 Tg>0
4 Ke>0 Te>0
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8.4.13 FL
Vomax
Ke |
VRMAX
/ Erpmax
J1+S'|_c Ka VR / ,EE)
1+STs 1+STa :
Vimin VRUIN

Vi—» v VB

~ VEZ‘KPVT-I—J(KI-FKPXL)'T‘ . o 17)

lr—»

L Kc- | Kp=Kpe™
C* IFD

IFD—» = Ve In Fach (i) Fex

1 Vimax Vimin Ka Ta Vevax Veuvin Kji K; Kp
Eromax Kc XU Ko Vewmax
2 Ts Tc 6
3 Tc>0 Tg>0
8.4.14
Vr—» _ o Ve 1 - VERR
a VCZ‘VT+(RC+1XC)|T‘ 1-ST= 4’-%)—’
VREF
A L
Rc Xc Tr
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8.4.15
A B CEFH

Sc=Mee™™ A B F

C F H Kc O
Se=Mee™™ C FH Kc>0)

M N

SEZMOEN'EFD1 A B E
SEZZM.eOJSNoEFDl CEH Ko=0
Sa=Mee™  c F H Kc0
S, = M e g™N*Ve cE H K0

EXCITER OUTPUT VIOLTAGE (pu)

a 1] d EXCITER FIELD
CURRENT (pu)
4 l|'_ -
= A .
S==(A-B)/B A BE CFH Kc=0
S=(C-B)/B C F H Kc>0
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8.4.16
C D FHL

|NSO.51 FEx:1—0.58|N

051<Iy<0.715 Fex=-0.865 ( Iy +0.00826 )*+ 0.93233
IN>0.715 Fegx=1.68-1.714 Iy

Fex<0 Fgx=0

C F H EFD:VEFEX
D L Ve =VeFex
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8.5 M—V
8.5.1 F M—V F+
F M—V F+
F
1;3MddﬂmJa1ﬂﬂM56 ﬂngﬂﬂd4ﬂﬂﬂw9aﬂﬂd4Hﬂ?MJ&HZMMHM?MJaﬂzﬂﬂﬂﬂ?MJaﬂzﬂﬂﬂmva&u2ﬂﬂﬂeﬂMJ3
1 F
2 M—V
3 PSS VR FM-FT
4—15
16
17—20 Re —
21—24 Xe —
25—29 Tr —
30—34 K —
35—37 Ky —
38—57 . T. Ts Ta—
58—62 Ka —
63—67 Th —
68—72 Ke —
73—76 T —
77—80 K —
1) 17-20 Re 21-24 Xe MF 29-32
2) PSS
FM FN FO FP FQ FR FS FT VR FU FV
VA
FM PSS
Vs
VERJ’E%J’ K@+ST)| | 1eST,
K, +ST, 1+ST,
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F+
12[3 4|5|G|7|8|9Ié|1 AEEER 7|3|9I§|l 2|3]4]56 7|8|9|g 1]2]3]4]s] 6]7]8 9Ig|1|2 3|4l s]ef7 8|9IZ|1|2 3| 4s]s 7|3|9I§ 1]2f3]4fs] 6] 7]8 9I;|1|2 3J4]s]6 7|8|9Ig
A | mave | kv o] Ve | Ve | ke | T | ke | Te | s | s | Ve | Ve | Ke | Ko | Ko | Ve [ B
A2 A8 F40 |Al F5.3 F5.3 F4.2 F4.2 F4.2 F4.2 F5.4 F5.4 F4.2 F4.2 F4.2 F4.2 F4.2 F4.2 F4.2
12 F+
4—15
16
17—21 Vamax —
22—26 Vamin —
27—30 Kg —
31—34 Ts —
35—38 Ke —
39—42 Te —
43—47 S —
48—52  Smp— 75
53—56  Vewax —
57—60  Vewn —
61—64  Kc —
65—68  Kp —
69—72  Kuy —
73—76 ViR —
77—380 Eromax —
1) 5760  Vrwin
2) FZ 8.4.2 Fz F+
FZ
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VRMAX
+ L+ Vi +
Verr K(L+ST,) 1+ST, Ky |+
z —» —> X
Ky +ST, Q

L b
A 1+ST, 1+ST, b 1+ST,
V
VLl vz VRMIN
VAM\N
14T, v
‘21487, FE
- P \
+
CVir li::lr
B
f
1
S
e
1+ST, Vinz
ViR
FM Vi Ve Ve Vee
FN Vi Vie Eo Vie e

VS
+ +
Verr % K(1+ST,) 1+ST,
) —» e
. K, +ST, 1+ST,

VIN2

ViR

FO VINl VIN2 VIN3 VFE
FP

VIN1 VINZ EFD VIN3

I
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VS VAMAX VH
Ve %" K@eST)| 14T, |+ | Ky |+ » W Ko
K, +ST, 1+ST, o |1+ST, 1+ST,
- VLl VLZ
VAMIN
1+ST,,
“1+ST,,
+
CVir li:;lr
B
f
1
S
+ Ving
1+ST, Vinz
Vizr
FQ VINl VIN2 VIN3
FR VINl VIN2 EFD VIN3
[
VAMAX
K@+ST,)| |1+ST, | * WL + .
K, +ST, 1+ST, o |1+ST, i
VAMIN
*
CVir T 1i<—
— [
K. 4— t
T+ \m 1
VLlR S
+ V|N3
| N3
SK ¢
1+ST, Vinz
ViR
FS VINl VINZ VIN3 VFE
FT VINl VINZ EFD VIN3 I FD

6
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AMAX
S
Ve iJ' K@+st)| |1esT, | * K,
—"
Ky +ST, 1+ST, 1+ST,
VAMlN
SK K., 1+ST,,
1+ST, 1+ST,,
+
CVir

s V\NH

IPRLLE

FU

Vs VAMAx _KchD
+ +
V{ﬁ}@ ST, | * K,
K, +ST, | |1+ST, 1+ST, .
VAM\N
SKF
1+ST,.

%
1
S
é) F vl Ving

FV
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8.5.2

EL

Ja [2 3 [4 [5 IB [7 8
1[2[3[4[s[e[ 7] 8ol o 1[2[3[4]5] 6 [7[8[olof 123456l 7[8[ 9]0l 1] 2[3[4]sTe[7 8ol ol 1[2[3[4[s[ 6] 7[8]ofof 1 [2] 3 a[se[7[8[ ol o[ 1]2]3[4[s[6] 7[8of o 1]2[3[ 456 7[8[ o]0
Irpo
ElL NAME kv [io] Br c Kiz Tu T T Py Q P2 Q Kt T Tz g
Ve —
A2 A8 F4.0 (A1  F54 F4.1 F4.3 F5.2 F4.2 F4.2 F4.1 F5.2 F5.2 F5.2 F5.2 F5.2 F4.3 F4.3 (1]
17—21 lepe  VEE—

22—25
26—29
30—34
35—38
39—42
43—46
47—51
52—56
57—61
62—66
67/—71
72—75
76—79
80

Br —

Ko —
TLl I
T —
T —
P, —
Qu—
P, —
Q—

Kin —

T —
The —
TYPE —

A~ WD

Vin VFE
Vin VFE
Vin IFD
Vin IFD

MW
Mvar
MW
Mvar
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8.5.3
AVR
AVR
1
t 00 IFD = IFDoo
2 2
t = tz_o IFD = IFDoo
t I -A B
A IFDoo2
B 4 .’ tao
loo  1.05
tz.o =10
A 1.05°= 1.1025
B= 4-1.05 x 10 = 28.975
t=B/ Il 1.1025 =28.975/ 1o  1.1025
IFD 1.05|1.06|1.07( 1.1 1.2 1.4 1.6 2.0 2.2 2.5 3.0
t 00 1228 | 646 |263.6| 85.3 | 33.7 | 19.9 10 7.75 | 5.6 3.7
IFD IFFD
||:D |an IFDoo IFDoo
B

B=[(Ipp" —A)dt

Bo
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I FDoo

0.90 0.95 Imo
IFD
B > B T I Io. B Bo

-

B O I FDS I FDoo
B 0 I FD I FDoo

B=[(I" — At

3 B 0 In Ine
B= (g — At

4 B 0 I leo

N

0.90 0.95 Iww T T At
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8.5.4
1
2 AVR
1
Q K- P C
K tga 0
: ¢ : ¢ (P._ 0N
K = Q,-Q, T
R-F A ., Q) P
2 Pl _ P2 2
2
Q
P +(Qy-Q)* =1 0
(01 QU)
Q = Qo Y r2 - P2 r
r Qo
P. Ql P, Qz
Q —1 ﬂ+Q +Q
o 2 Ql _Qz ! ?
r? = P12 Jr(Qo _Q1)2
or

r*= P22 +(Qo _Q2)2

Q=K-P+C-V/

P? +(Qo Ve _QZ)Z - (r'vtz)z
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8.6 —1FX

FX  F+

|1 |2 I3 |4 5 |6 |7 |8
1] 2] 3] 4] 5] 6] 7] 89l of 1] 2| 3] 4] 5] 6] 7 8] ol o] 2] 21 3] 4] 5] 6] 7] 8] o of 1 2| 3 4] 5] 6] 7| 8 o] of 1] 2] 3] 4| 5 6] 71 8] of o] 21 2] 3] 4] 5] 6] 7] 8] o] of 12| 3] 4] 5] 6] 7| 8] of of 2] 2] 3] 4] 5] 6] 7] 8] o] 0
Hx NAME Kv lio] RC XC TR KA TA KP Kl Vrmax | Vrmin IKP | 1Kl Vimax | Vfmin KT T
A2| A8 F40 |AY F43 | F43 | Fa4 | F43 | F44 | F43 | F43 F5.3 F5.3 F43 | Fa3 5.3 F5.3 F43 | Fa4

4—11

12—15

16

17—20 RC*—
21—24  XC*—
25—28 TR—
29—32 KA—
33—36 TA—
37—40 KP—
41—44  Kl—
45—49  VRmax—
50—54  VRmin—
55—58  IKP—
50—62  IKI—
63—67  VFmax—
68—72  VFmin—
73—76  KT—
77—80 TT—

1 2 |3 4 5 6 7 8
1] 2] 3]4] 5] 6] 7] 8] ol ol 2[ 2 3] 4] 5] 6] 7] 8] of o] 1] 2[3] 4] 5| 6] 7] 8] e of 2] 2] 3| 4] 5] 6] 7 8] of o] 1] 2| 3] 4] 5] 6] 7] 8] o] of 1| 2] 3[ 4] 5] 6] 7] 8] o] o] 1] 2| 3] 4] 5] 6] 7k 8] o] of 1] 2] 3] 4] 5] 6] 7] 8] o] 0
Ax NAME KV |iD KIFD | TIFD Eromin | Eromax
A2| A8 F40 A1 Fa.2 | Fa.2 F42 | F42

4—11
12—15

16

27—30 Kipp —

31—34 T —

73—76  EFDMIN — PU
77—80  EFDMAX — PU
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V S| VRmax VFmaX
+ Eromax
—> i IKp +————*
VERR 1+STx Kpt S S 1+ ST, Erp
o EFDMIN
VRmin VFmin
o) K IFD
1+ STIFD

1) FX 17-24 RC XC MF 29-32

MF  29-32
2) FX F+ F+ Kipp=1

Tiep=0 EFD EFDMAX
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8.7 —FEX
[1 I2 3 4 5 6 7 8

1 2] 3[4] 5] 6] 7] 8] ol o[ ] 2[ 3[4l 5] 6] 7] 8] of o] ] 2] 3] 4] 5] 6] 7] 8] o] ol 2] 2] 3[ 4] 5] 6 ] 7] 8] ol o ] 2] 3 4] 5] 6] 71 8 o] o] 2] 2 3] 4] 51 6] 7] &l o] o] 2l 2] 3] 4] 5] e 7L 8] 9] o] 1] 2[ 3] Io
FEX NAME BASE D | AMPL1 | FREQL | ANGLOL | TBEGINL1| TEND1 AMP2 | FREQ2 [ANGLO2|TBEGIN2| TEND2 E
A3 A8 F0 |1 5.0 F5.2 F5.2 F5.0 5.0 5.0 5.2 F5.2 5.0 5.0 F;]
1—3 FEX
5—12 NAME
13—16  BASE kv
17 ID
19—23 AWP1
24—28  FREQ1 /

29—33  ANGLO1
34—38  TBEGIN1

39—43  TEND1
45—49  AMP2
50—54  FREQ2 /

55—59  ANGLO2
60—64  TBEGIN2

65—69  TEND2
80 IPER =0
1) FEX
2 FEX
2) FEX 0 0
FF
3) 80 0
80
4)

Veer =Veero T A Sin(a)lt + (p01)+ A, Sin(a)zt + (002)
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8.8 OEX
1&h45hhmpﬁhpshhm 789;123456789312345678931234567892123456789g123456789;123456789§
OEX NAME BASE |ID ﬁ X z g ? X Y A (1 E E
A3 A8 F40 [ay fiz iz 2 fiz |i T [ (G [N (A [ (O [ (%

1-3 OEX

5-12

13-16

17

19 ALL

21 VC RC XC

23 VF al:

1+ ST,
25 VS PSS
K(1+ST. 1+ST
27 VAI2 (1+5T,) s
Ky +ST, 1+ST,

29 VA

31 VL2

33 VH

35 VRA “s

1+STg

37 VR

39 VFE

41 VE

43 FEX

45 EFD

(@) FM/FN/FO/FP/FQ/FR/FS/FT/FU/FV

(2 21~45 19

21~45
€)) 1 2
3 “
+ AVR.OUT” « + AVR.CUR"

2006

6 83
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4 FF 90
5) FM
Ve z* K@+ST)| | 14sT,
x K +ST, 1+ST,
VC
V1—» v ‘V (Re+ X )” 1 - VERR
c=|VT+(Rc+ JAc)IT T— " T
[T —» 1+STr .
VREF
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9 PSS S

9.1 PSS — SF SP SS SG

1 [2 B [ [5 B 7 B
3[4l sel 78] of ol 1[2[3[4]5] 6 [7]8olo] 1[2[3[4[5[e[7[e[ ol o] 1] 2[ 3] 4] 5678 ool 1T2]3[4[ 5[ 6] 78T of o] a] 2] 3T a[ sTe[7[8[ ol o[ 1] 2] 3] 4[ 5T 6] 7] 8] of o] 1 ]2 3[ 4] 5[6[ 7] 8] o] 0

REMOTE SIGNAL BUS

NAME KV D] Kev | Tor | Kes | Tes | To Ta To T Te Tas Tos | Vswax | Vourorr Vil NAME AND BASE KV

%)
NIm o < v

A8 F40 |A1l F43 F33 F43 F33 F4.2 F4.3 F4.3 F43 F4.3 F4.3 F43 F4.3 F43 |F2.2 A8 [ Fa0

4 11

12 15 kV

16 ID ID
17 20 Kov

21 23 Tov

24 27 Kgs

28 30 Tos

31 34 Ty PSS

35 38 Ty

9 42 Ty

43 46  To

47 50 T o

51 54 T

55 58 T o

59 62 Vauax PSS

63 66  Vcutorr

67/ 68 VsLow Vsmin

69 76 SF PSS

77 80 kv
77 80 Kos SP\SG MVA

1) SS AVt

2) SP AV~

3) SF AV~
4) SG AVt
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AVT

. Vsiiax
) _STo | 1+STy, | 1+STy, 1+ST,, ‘/ Vs
1+STq 1+STa 1+STe2 1+STqs K,ofg\is
Vsmn -
L
Kov AVr=
«— AVT=Vro-Vr
1+STov E
+ Kos Shaft Slip, Veutorr <= 0, Vs = V's
1+STes || AFreq. or Veutorr > 0,
+ Accel. Power |AVT]<=Veutorr,Vs = V's
|AVT|>Veutorr,Vs = 0
Kes o et AVt = Vo - Vr
1) Kov,Tos, Kas, Tov, To, Tot, T o1, Toz, T7 g2, Tas, T7 g3, Vsvax, Veutorr, Vsiow
2) Vsiow <0 Vsuin =-Vsuax
3) Vsiow>0 Vsuin=-Vsiow
4) €ts
SP SG 24-27 Kaos 77-80
MF 29-32

2006 6
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9.2 PSS — SH

[ 2 [3 [4 [s [6 [7 B
1]2[3]4] 5] 6] 7] 8ol o] 1[2] 3] 4] 5] 6 [ 7] 8] of o] 1] 2] 3 4] 5] 6] 7 el ol o] ] 2 3] 4] 5] 6] 7] 8l ol o 2] 2] 3 4] 5[ 6] 7 8l o] o1 2] 2] 3] 4] sl 6] 7] 8l o] o] 2[ 2] 3] 4] 5] 6 [ 7] 8] o] o] 2] 2] 3] 4] 5] 6] 7] 8] o] ©

SH GEN NAME BASE D D T1 T2 T3 KO K1 K2 K3 K VSMAX | VSMIN KP KMVA
1 2 PSS SH

4 11

12 15

16

17 21 To

2 26 T

27 31 T

32 36 T3

37 41 Ko

42 46 K,

47 51 K

52 56 Ki

57 61 K

62 66 Vsuax

67 71 Vswuin

72 76 Kp

77 80 KMVA Kp MVA

\
R et bR TYe
? Vsmin

Pso Ko K1 Kz Ks
y y
+
C KpS ié’ 1 1 R
PG — 1+ TDS B Tls Tzs T3S
4
2
1) Kk Tob T. T, Ts K Ki Ki Ko Ks 0
2) 72-76  Kp 77-80 0
MF 29 32
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9.3 PSS —— SH/SH+
SH SH+ SH 9.2
SH+
[1 [2 3 4 5 6 [s
2] 3[4] s]e[ 7] 8] o[ o[ ] 2[ 3] 4] 5 6 [ 7I 8 o] of 1 2] 3 4] s e[ 7] 8] o o] ] 2 3[ 4] 5] 6 [ 7 8[ ol o[ [ 2 3[ 4] s 6] I 8 o] oI e[ 2] 3 4] 5] e 7] 8] o[ o] ] 2[ 3] 4] 5] & 3[4]5[6[7]8[9] 0
1 3 SH+
4 11
12 15
16 ID
17 21 Kpu
22 26 Tpu
27 31 Kpge
32 36 Te
37 41 Ky
42 46 Tw
47 51 Tpa
52 56 Tp2
57 Kbp1 0 1
77 80 KMVA Kpu Kpe MVA
PSS
K
Py—» pm
1+STpm
+
P> Kpe s Kp1+STp1| | _STp2
1+STpe | — h 1+STp; 1+STp,
Aw——p Kuw
1+ST,
(%) (%) (%) VSmax{
K™ Vsmin
Ko Ky Kz Ks
4 4 4
4 BT I T D I O
TS TS TS| |
) 4 y
Do @
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1) SH  SH+ SH
72-76 KP

2) SH+ SH SH+

3) SH SH+ 9.2 PSS

4) SH+ Kpm Kpe
0 MF  29-32

5) Koi 0 1

6)

77-80

17-21

D

2006 6 89



PSD-BPA

94 PSS

S1

— SI/SI+

Sl

Sl+

1]2|3 4|5|6|7|8|9|;|1 2] 3]4]5] 6 7|8|9I§ 1] 2] 3] 45, 6|7|8|9I2 1] 2] 3] 4] 5 6|7|8|9Ig|1 2]3]4]5 6|7|8|9Ig 1] 2] 3] 4] 5 6|7|8|9Ig 1] 2] 3] 4] 5] 6] 7] 8] 9] Z)|1|2|3|4 5] 6] 7] 8] 9 g
sH|+| GENNAME | BASE |ip| Tw T5 T6 T7 Kr Trp ™ TW1 W2 Ks To T10 T12 rlq
A
A2 A8 Fa0 a1l Faa F5.3 F5.3 F5.3 F6.4 Fa.4 F5.3 F5.3 F53 | Fa2 F5.3 F5.3 F53 i1
1 2 S
4 11
12 15 kv
16 ID
17 20 Trw
21 25 T
26 30 Te
31 35 T,
36 41 Kr*
42 45 Trp
46 50 Tw
51 55 Twl
56 60 Tw2
61 64 Ks
65 69 T
70 74 Ty
7 79 Tp
80 INP =0 o Ps
=1 1
=2 PG

SI+

[+ [2 [s [4 [5 [s [z [s
1]2]3[4] 5] 6] 7] 8] o o] 1] 2 3] 4] 5] 6 [ 7I 8 o] of 1] 2] 3] 4] 5] 6] 7] 8] el of | 2] 3] 4] 5] 6] 7] 8] of o] 2| 2l 3] 4L s 6] 7l 8 of of 1] 2] 3] 4] 5] 6] 7[ 8 ol of 1 2] 3] 4] 5] & ] 7] 8] o] o] 2| 2] 3] 4] 5] 6] 7] 8] o] 0
si+| GENNAME | BASE |ip| KP T1 T2 T13 T14 T3 T4 Vsmax Vsmin é BUS NAME  BUS_BSH KMVA
A2 A8 Fa0 |al Fs3 F5.3 F5.3 F5.3 F5.3 F5.3 F5.3 F6.4 F64 i A8 Fa0 | F40

12
16
17
22
27
32
37

15

21
26
31
36
41

ID
Kp
T,
T,
Tis
Tu

S+

kv

2006
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42 46 T,
47 51 T,
52 57  Vsmax
58 63 Vsmin
64 IB
=1
=2 EQ
65 72 BUS NAME
73 76 BUS BSE kV
77 80 KMVA SI Kr MVA
@9
o 1 TsS TS |+ 1+ToS 1 T4
+ TS| | 1+TeS 1+7T7s z L+les} W
P%»
Ps K T Tu2S
= 1+TrrpS TR 1+VTV3V23
Vsmax
1+T18‘ 1+ T3S 1+ T3S .V
11+T,s P Tl 14 T,S T 1+T,S v 'S
ngn
1) SI - SlI+
2) SI 36-41 Kr SI+ 77-80
MF  29-32
3)
4)
SI+
0 1 2
EQ 65-76

2006
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10 ST

T1 B 3 [4 I5 [6 [z I8
4]s]e[7[8]ofo]a]2[a[4]s] 6 [7]8[ofo[1]2[3[4]s 6] 7[8[ oo 1]2]3[4]5]6] 7] 8]0l ol 1]2] 3] 4[ 5[ 6] 7] 8] of o[ 123 45T e[ 7] e[ o o] 1] 2] 3] a[56]7[8[ ol o[ 1[2]3[ 4] 5[ 678 00

1 2 ST
4 11 NAME
12 15 kV
16 ID
17 31 T; T, T3
32 37 K
38 52 o Aotl, Ant2 Hz
53 57 Tpelay
58 62 Tq4
ST PSS SS SF

) A 1 LT +C PSS
ets

sy 1+ STy 1+ ST2 2 Model
_ pt
Kr= Aou—Amt2
S
U >= 0 ’ 4 1+ S-|-4
S1 S2 @pt
0] STs + N U
— > > KT
1+STs Ao Ao b2
- T KTAo t2
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11

11.1

D4

Fup

Fip

Frp

K Pmax/
K' Pmax/
Ky Kg

Pov

Pum

Pmax

Pvin
Py

*R

Ppowx  ( VELcrose)(Pumax/

Pup (VELopen)(Pmax/

T, Ty
Ten

Tco

Tru

Trui

Tru2

Ta

Tp

Tyq

Tw
VELopen
VELc1ose
V’r

Dy

A® 50

AO):((D—zTCfo)/ZTEfo

fo=150, =

2006 6
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PSD-B

PA

11.

11.

2
2.1

GG GH GC

GG

1 2 3 4 5 6 7 8
IEECECEEECEEEEEGEEECEEEREREEERREEREGEEECNEEEEGEE BB EEEECEE BB EEREREEECREEEBGEEEE
S|C
U|H
B|G|
G|T|C| NAME kv Pmax R Tl v T3 T4 TS5 F  |TYPE G-GENERAL PURPOSE GOVERNOR
Y| O]
P(D|
E|E
G|G A8 F4.0 |[Al _ F6.1 F5.3 F5.3 F5.3 F5.3 F5.3 F5.3 F5.3
K'Aw - Puax 1 1 Pu Pu-Pe
1+ST: @7 o 1+ SFTs
1+ST: t 1+STs 1+STs 1+STs | +
T"' ~ | Pe
Pwo
1 2 GG
4 11 NAME
12 15 kV
16 ID
17 22 Pumax MW
23 27 R 0.03~0.06
28 32 T,
33 37 T,
38 42 T;
43 47 Ty
48 52 Ts 1/2
53 57 F F 2 F
[1 [2 E J4 B [s [ [s
1]2]3]4] s[el7] slelof[2]3]4I5] sl7Tsl ool ] 2IaT4Isle]7 I8 oMol Ll2I3] 4] 5] el7Islolol ]2 3]4l5T6] 7 18]l o Il 4lslel 718l el ol ]2 3] 4151 sl 7Ts[ol ol 2]zl 4I5]6] 78] o]0
I VEL VEL TYPE H HYDRO
G|H| NAME kv pmax R Tg Tp Td Tw/2 crose | opex D4 € GOVERNOR
A2 A8 F4.0 [al] F6.1 F5.3 F5.3 F5.3 F5.3 F5.3 F5.3 F5.3 F5.3 F6.5
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PILOT VALVE GATE SERVO TURBINE
Pur PuAX(P.U.)
1 1 Pov 1-STw Pu
> » > —>
To(1+STp) S 1+STw/2
Poown Puin=0
R
SDdTa4
1+STq
1 G
2 H
3
4 15
16
17 22  Pmax MW
23 27 R
28 32 Tg
33 37 Tp
38 42 Ty
43 47  Tw/2
48 52  VELcrosk Pmax
53 57 VELopen
58 62 Dy
63 68 ¢
K' PMAX( )
Tw=2*Tw/2
PMAX PMAX/

PUP (VELOPEN)(PMAX
P DOWN=(-VELCLOSE)(PMAX

Ts
Tp
T4

0.03~0.06
0.2~0.4
0.03~0.05

Td=5Tw 2.5~25.0

2006
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Tw/2 0.25~2.5
VELcLose 0.1~0.2
VELOPEN 0 1~02
T
Dq D=2.5— 0~0.6
2H
H
GH
[10]
™o Mo
+ K O max + max
® + 7 o 1 A/«l l—Twp
s 5 / - e
- Ko @—b > > T.P + ; 1+0.5Twp
O mi min
é & K <
& | KeTip .
Tip+1 |
(a)
Ho
+
O ma max
) /— o 1 A/u L l—Twp
K ahalESrin: jL 1+0.5Twp
O-ITH min
£ ¢ 0i |
¢ | BTp |
Tip+1]
(b)
Ks=1/R  K=1 Ti=Tq
8 = B=Kp c=p
1
@ (b (b) (a) R
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D imax 1
b -
( ) J;’min TSS
1 1 1
R Ts Tc
Mo
pmax/ Ts + W max PT
1 J 1 + 1-TwS
— > > — 75 .
To _/ S 1+0.5TwS
pmin/ Ts X min
- R |«
KsRTdS
1+ TaS
(c)
(©) GH
1) TG R-'TS R 0.05 TS 4~8 TG=0.2~0.4
1
2) TP ~ 0.03~0.05
1+STp
3) Pur P powN pmax/Ts  pmin/Ts p
1.0<p<l0 TS 5
p UP = VELOPEN * PMAX( PMAX/Ts * PMAX( )
P DOWN = (-VELCLOSE) * PMAX( pMIN/Ts * PMAX( )
p 1.0
VEL = = ~0.1~0.2;
O Ts 4~8
-1.0
VEL =—=~-0.1~02
CLOSE 4-3
GH VELOPEN VELCLOSE
VELOPEN zpmax *izpmax * 1 :pmax — 1.0 =0.1~02
I'R T, 1/R RTs Ts 4~8
VELCLOSE -0.1 -0.2 VELCLOSE 0.1 0.2
4) R
5) Di=Ks*R Ké=B/06,p~0~0.6,6=~0.05~0.1
KB=0~12 Dd=0~0.6
6) Td 2.5~10

2006 6 97



PSD-BPA

11.2.3 GC
[1 [2 [3 [4 [5 [6 [z B
1 i 3[a[s[6] 7] 8] 9] o] 1] 2[3[ 4] 5] 6] 7[ 8] o] o[ 1] 2[ 3[ 4[ 5] 6] 7[ 8] o] o] 1] 2[ 3[ [ 5[ 6] 7] 8] ol o] 1] 2[ 3] 4] 5] 6] 7[ 8] o[ o] 2] 2[ 3] 4] 5 6] 7[ 8] 9] o[ [ 2] 3[ 4] 5] 6] 7] 8] 9] o] 1] 2[ 3[ 4 5] 6] 7] 8] 9] O]
Po
. Puwax(p.u.)
AYORS > K - (%)_» f N 1+SFTs + Pw
1+ST; (1+ST3)(1+ST4)(1+STs) C
PmiN =0 )
HIGH PRESSURE UNIT
— > DuV;
Po
‘;I_ _ + PmaAx(P.U.) — N
Ao p . —<%> % + 5 +
T’@*' 14T f T(1+ST3)(1+STa)(1+STs)
PmIN = 0 )
LOW PRESSURE UNIT
»  —DuV;
1 G
2 C
3
4 15
16
17 22 Pmax MW
23 27 R
28 32 T,
38 42 Ti
43 47 T,
48 52 Ts
53 57 F
58 62 Dy
1)
2) Puax R Ty T3 T4 Ts F Dy
3) K PMAX/ *R
4)
_ l[(Xd _X;)T;o i (Xq _X;)TJO]
T2 (XXt (X +Xp)
Xr
5) PMAX PMAX/
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11.3

GS GL GW

11.5
11.3.1 1 GS
[+ [2 E [4 [s [s Iz [
1]2]3]4] 5]6]7] 8lofo] 12| 3] 4]5| 6] 718l ool 1] 2]3]4|5]6] 7|8 o]0l ]2k 3] 4]5] 6] 7]8lofol 1] 2] 3] 4l5] 6] L8]] ol 1]2]3]4]5)6l 7] 8ol ol ]2 3] 4]5] 6] 718l o] ok 1] 2] 3] 4] 5] 6] 7] 8] o] o
S NAME kv I[) Pmax Pmin R T1 T2 T3 VEL OPEN | VEL CLOSE € TYPE S STEAM GOVERNOR
A_Z A8 F40 |A F6.1 F5.3 F5.3 F5.3 F5.3 F5.3 F6.1 F6.1 F6.5
Po 1
+ 5 eK Pur Puax(p.u.)
+ -
KAw - 1 1
1+ST> % PR / 1 / Py
1+ST. Ts S /
Poown PMINP.U.)
1 G
2 S
3
4 15
16
17 22  Pumax MW
23 28 Pum MW
29 33 R
34 38 T,
39 43 T,
44 48 T;
49 54  VELopen ,
55 60 VELcrose ,
61 66 ¢
1)
K:PMA)(( /R
P up=(VELopeN)(Pmax( )
P pown=(-VELcLosg)(Pmax( )

Pmax(
Pyin(

)=Pmax/
)=Pyin/
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2) S A B CDEF
IEEE 1973 12 GS [7]
T, T Ts PUP PDOWN
GE M 0 0 0025 0.1 0.1
GE 0 0 0.1 0.1 0.1
M 2829 109 015 0.1 0.1
0 0 0.1 0.1 0.1
02~03 0 0.1 0.1 1.0
Ten
R 0.05 K 20
3) GS
[10]

o

Ho
+ O max + W max
- ! I I
_,jL_ + jL Al _1 Py
Q) T'p+l T sp Top+1
O min W min

GS
1
GS
1+Tip
1 1 1 . .
GS — — — P Up~™ P DOWN Ts
Tsp Ts p
Tl P yp~P pown
[1 B [3 [4 B [s [7 8
1] 2[3[4] 5] 6] 7] s[ol o[ 1] 2] 3[ 4] 5] e[ 7I8[ of o 1] 2[3[4]5] 6] 7[ 8] ol ol 1] 2] 3[4 5] 6] 7] 8[ o] o 2] 2[3[ 4] s 6] 78] o] o] 1] 2 3] 4 S| 6] 7] el ol of 1] 2] 3 4] 5] 6] 7[ 8] of o] 1] 2[ 3[4]5] 6] 7] 8] o] 0
G|L NAME kv ]; PE K € Tr Tb To Tc VELclose | VELopen | PMAX PMIN
A2 A8 B0 A 6.2 F5.3 F5.3 F5.3 F5.3 F5.3 F5.3 F5.3 F5.3 F5.3 F5.3

VELopen YTe 1/’
Ao 1 " - —» Poy
— > K - - - f 1/To o S
= 1+T,S L2

1+TgS

VELclose Pyig
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1 2 GL
11
12 15
16
17 22 Pe MW
23 27 K
28 32 €
33 37 Tr
38 42 Tb
43 47 To
48 52 Tc
53 57 VELclose
58 62 VELopen
63 67 Pumax
68 72 Pyin
11.3.2 GW
n iu|s|a|v|x|9|$|l T b R [ [ o [ e [ e [ e
Po
PMAX/100
K A 1+ST» _ + f -
(1+ST)(1+STs)
PMIN/100
1 G
2 w
3
4 15
16
17 22  Pumax MW
23 28 Pumw MW
29 33 R
34 38 T,
39 43 T,
44 48 T
49 54  VELopen
55 60 VELcLose
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1) K PMAX/ *R
2) W W
11.4 GA GI\GI+ GJ GK GZ
GD
11.4.1
GA 11.4.2~11.4.4 GI\GI+ GJ GK
11.5 TA\TB\TC\TD\TE\TF
GI\GI+ GJ GK
GA TA\TB\TC\TD\TE\TF
11.4.5 GD GZ
GA 11.5.1 11.5.2 TA TB
11.4.1 GA
[1 2 [3 [4 [s [s 7 8
BB EREBERREEEEREEERR BEEEBEEERREBEEREEEERBEEEREEERREECEEEEEEREEEEREEERREEREBHERR
G|A| NAME kv ]; PE TC TO ELclosqVELopen| Pmax | Pmin T1 KP KD KI NTGmaxNTGmijPIDmax|PIDmin
PID
Pyax
VELopen 1 Poy
1/ J: ==
/
VELclose Py
1 -l
1+T,S
LVDT
1 2 GA
3
4 11
12 15
16
17 22 Pe MW
23 26 Tc
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27
31
35
39

43

47
51
55
59
63
67
71
75

D

11.4.2

Gl

30
34
38
42

46

50
54
58
62
66
70
74
78

To
VELclose
VELopen

PMAX

PMIN

Tl

Kp
Kp (Td) PID

PID

K, (1/Ti) PID
INTG max PID

INTG yn  PID
PID wax PID
PID yn PID

TA-TF
2) PID

11.4.2~11.4.4

INTG_MAX

LVDT

-9999

GINGI+ GJ GK

1 GI\GI+

GI

GI+

INTG_MIN PID_MAX
9999

11.5.1~11.5.6

PID_MIN

[1 2 3 4 5 6 7 8
1] 2[3[4] 5[ 6] 7] s[ol o[ 1] 2] 3[ 4] 5] e[ 7I8[ of o] 1] 2[3[ 4] 5] 6] 7[ 8] ol ol 1] 2] 3[4 5] 6] 7] 8[ o] of 1] 2 3[ 4] s 6] 7] 8] o] o] 1] 2 3] 4] sl e 7I 8] ol of 1] I 3 4] 5] 6] I 8[ o] o] ] 2] 3[ 4]5] 6] 7] 8] o] 0
Gl 1 NAME kv ]; T1 3 K 1 KP1 KDI1 KI1 INTGmax | INTGmin [ PIDmax PIDmin |I| Wm Wmin
A2 A8 o Al Fss3 F6.4 52 [ Fs3 F5.3 F5.3 F5.3 F5.3 F5.3 F5.3 F5.3 F5.3

GI+

[1 2 3 4 5 [s 7 8
2] 3[4 5[ 6] 7] 8] ol o[ 1] 2[ 3] 4] 5] e[ 7[ 8] of o 1 2[3[ 4] 5] e[ 7[ 8] o[ ol 1] 2] 3[ 4] 5] e[ 7[ [ o] o ] 2[3[ 4] s 6] 7[ 8] o] o] i 2[ 3[4 sT e[ [ e ol o] 1] [ 3 4] 5] 6] 7[8] o] o] ] 2[ 3[4 5] 6] 7] 8] o] O
Gl 1|+ NAME kv [I) I KP2 KD2 KI12 INTGmax | INTGmin [ PIDmax | PIDmin | CONmax | CONmin

A3 A8 o |aln 3 5.3 5.3 F5.3 F5.3 F5.3 5.3 F5.3 F5.3
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Ao ﬁ K
1+ST1

Gl

12 15
16

17 21
22 27
28 32
33

34 38
39 43
44 48
49 353
54 58
59 63
64 68
69

70 74
75 79

GI+

1 3

4 11
12 15
16

17

18 22
23 27
28 32
33 37
38 42
43 47
48 52
53 57
58 62

GI

PID
PID
PID
PID
PID
PID
PID

GI+

PID

PID
PID
PID
PID
PID
PID
PID

PID

T1
+ 0.5¢

Kpl
Kpl
Kil
INTG_M axl
INTG_MIN 1
PID_M axl
PID_MIN 1

Kp2
Kp2
K2
INTG umax2
INTG ui2
PID wax2
PID 2
CON_piax
CON_yix

CON_MAX

Pev
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1) 2 GI/GI+
2) 11.4.1 GA  11.5.1~11.5.6 TA~TE

3) Gl 17-22 £ + 0.001
0.002 + 0.5¢

4) 1 2

5) 0 9999 -9999

11.4.3 2 GJ

|1 |2 |3 |4 5 6 7 8
BB EREBERREEEEREEERPEEEEREEERPEBEEREEEEREEEEREEERPEECEREEERREEEEREEERREEREBHERR
G|J NAME kv [I) T1 € K1 I KP KD KI NTGma¥NTGmi{PIDmax|PIDmin K2 Wmax Wmin
A2 A8 F4.0 [a] F53 F6.4 F52 | Fs3 F5.3 F5.3 Fa2 | F2 | F2 | Ra2 F5.3 F5.3 F5.3

PID

PREF

>K7®

1+T,S

PID

I 2 aJ

12 15

16

17 21 T,

22 27 € + 0.5¢
28 32 K1

33

2 DEH
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11.

33
34
39
44
49
53
57
61
65
70
75

38
43
48
52
56
60
64
69
74
79

PID
PID
PID
PID
PID
PID
PID

1)

2) 22-27 £

KP
KD
KI

11.4.1

+ 0.5¢

3)

4.4

PID 33

INTG MAX

INTG MIN
PID MAX
PID MIN

GA 11.5.1~11.5.6 TA~TF

+ 0.001 0.002

9999  -9999

GK

w

[1 [2
4] s[6] 7] s[o] o[ 1] 2[ 3] 4] 5[ ] 7l 8] of o] 1] 2[ 3[4]5] 6] 7]

[3
9[of1]2]3

4] 5] 6]7]

[4 [5 7
8[of o] 1] 2 3[ 4] 5] 6] 7] 8[ o] ol 1] 2] 3[ 4] s 6 7[ 8] of o] [ 2 3] 4] 5] el 7[ 8] o[ of 1] 2] 3[ 4] 5[ 6] 7] 8] ©

ol

NAME kv ™ €

K1

K2

1 KP KD KI NTGmayNTGmir|PIDmax| PIDmin | Wmax Wmin

A8 F4.0 F5.3 F6.4

F5.2

F4.2

11 F5.3 F5.3 F5.3 F4.2 F4.2 F4.2 F4.2 F5.3 F5.3

p Pressure

A®

1+T,S

1»

A

Aw

PPRESO

v

—

GK
4
12

11
15
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16

17 21 Tw
22 27 € + 0.5¢
28 1- 0-
29 33 K1
34 37 K2
38
1-CCS 1
2.
3 -
39 43 PID KP
44 48 PID KD
49 53 PID KI
54 57 PID INTG MAX
58 61 PID INTG_MIN
62 65 PID PID MAX
66 69  PID PID MIN
70 74
75 79
1) 11.4.1 GA 11.5.1~11.5.6 TA~TF
2) 22-26 € + 0.001 0.002
*+ 0.5¢
3) 0 9999  -9999
4) 38 1 2 3 I 2
11.4.5 ( ) GD Gz
GD GZ
GD
2Iz 3[4 s[e[7] d9lél1 23] 4] e]7] zﬂglglll AREEREE 9I3I1I2I3 4Is e[7]s 9I3I1I2I3 AEEREE glllzls 4I5I6I7Id9IgI1I2I3 45T el7]s 9I(7>I1I2I3 4I5I6I7I8I9I2
Gp BNAME BV |iof P Pun | DBspecd| R Ky K Ko |cov-max Govam[ PEAED-[PEMAND]
A2 A8 F4.0 |A] F6.1 F6.1 F5.3 F5.3 F5.3 F5.3 F5.3 F5.3 F5.3 F5.3 F5.3
GZ
0 = 2 B 4 B [s 7 [s
1f2]3]4] slel7] slofol1]2]3l4]5| e]7] slolof1] 2[3)4]s] e[ 7slolo1]2f s]4] 5] 6]7s[olof1]2]s[al5l6] 7] 8] of o1]2f3l4]5]e]7Aslolol1]2l3l 5] 6f7[s[elol1]2]3]4l5M6[7] 8]ofo
GD BNAME BV D] Teu Ropex | Reose | EHC-MAX | EHC-MIN| T-0PEN | T-CLOSE [ DB-Value | cv-max | cvamin | K, T, *é
A2 A8 740 |A]  F53 F53 F53 F5.3 F5.3 F5.3 F5.3 F5.3 F5.3 F5.3 F5.3 F53 | [
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i Deadband Droop i
i pl i-f\ | L PID i
SPEED ! /56_ o5 R X i
| PID output '
i Prer \;[\ SPEED/LOAD i')« 34 limiter i
! CONTROL 2 Kus i
Prirc ! - > MODE SELECT + ﬁ( \
— 1 cov max |t DEMAND_MAX i
N ] |
! main control valve — |
i CV_MAX  opening dynamics s DEMAND_MIN i
Pygcn i 1 _\ 1 GOV_MIN i
ﬁ 1+ 5Ty || 1+ s7opey _L Deadband _fHC’MAX Rate limiter i
i Steam chest crmm \é ! _\ 1 ) <|- i
i dynamics R _f 4’-53 . M T 5 (_ i
i SR | trsTcrose \_ i
! : closing dynamics Electro-Hydraulic i
\ o) Converter dynamics !
GD
1 2 GD
4 11 BNAME
12 15 BkV
16 ID
17 22 PMAX MW
23 28 PMIN MW
29 33 DB-speed A w Hz
34 38 R pu
39 43 KP PID pu/pu
44 48 KI PID pu/sec
49 53 KD PID pu- sec
54 58 GOV-MAX PID pu
59 63 GOV-MIN PID pu
64 68 DEMAND-MAX PID pu
69 73 DEMAND-MIN PID pu
GZ
1 2 GZ
4 11 BNAME
12 15 BkV
16 ID
17 21 TSM
22 26 ROPEN p-u. gate/sec
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27 31 RCLOSE p.u. gate/sec
32 36 EHC-MAX EHC pu
37 41 EHC-MIN EHC pu
42 46 T-OPEN sec
47 51 T-CLOSE sec
52 56 DB-value pu
57 61  CV-MAX pu
62 66  CV-MIN pu
67 71 KPE pu/ pu
72 76 TPE sec
78 0 1 2
TA TB
11.5 TA TB TC TD TE TF TW
11.5.1 TA
I B B D B & 7 s
1EEE B 0E 0B0nBE BB EE 0N EBE EEE 60 0EEEE OGN E0N BE BE 0 B0 E 0N BE 0 RGO NE B8 E N0 NBE A AEDED
Pov —» ! 5
1+STen P
CONTROL
VALVE VALVES |
POSITION STEAW [ > A SHAFT
CHEST L > 10 convenser
1 T
2 A
3
4 15
16
17 21 Tcr
22 26 K; 1.0
1) HP
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2) TCH 0.2~0.5
11.5.2 B
[+ [2 E [4 [5 [6 |z [
12[3]4] s]6]7] s[ofo] 1] 2] 3] 4] 5[e]7[8] ool 1] 2] 3] 4] 5 6] 78] ol o[ 2] 31 4] 5] el 78] ol ol 12l 3] 4l s 6] 78] ol o] ] 2] 3] 4] 5l 6] 7[ 8] o] ol 1]2] 3] 4] 5] 6] 718k o 2l 2] 31 4] 5] 7] 8] o o
TB NAME kv II) Tch Fhp Trh Tip Tco Tlp s
A2 A8 F4.0 F5.3 F5.3 F5.3 F5.3 F5.3 F5.3 F4.2
| :@P ey
Fup ¥ ¥
+
+Z “E Fip FLp
4 i+ - A
1 1 1
Py ———» ———— > . —
1+STcu 1+STru 1+STco
‘ REHEATER ‘ ‘ CROSSOVER ‘
CONTROL ? A
VALVE VALVES
POSITION STEAM | P Y—p P ——Y—"[P |- BSHAFT
CHEST
TO CONDENSER
1 T
2 B
3
4 15
16
17 21 TCH : HP
22 26 Fyp 1P
32 36 Tru LP
37 41 Fp FuptFptFrp=1
47 51 Tco
52 56 Frp
77 80 A
Fup 0.3 Fpr 04 Fip 0.3
Tew  0.1~0.4 Tra  4~11 Tco 0.3~0.5
2006 6 110



PSD-BPA

11.5.3 TC
1 is H5|d7|ﬂ9|h1 2[3]4]5] 6 ﬂx|ﬂi||2|ﬂ4|ﬂe ﬂx|ﬂ3||2|ﬂ4|ﬂe ﬂx|J2||2|ﬂ4|ﬂe ﬂx|ﬂi||2|ﬂ4|ﬂe ﬂx|J2||2|ﬂ4|ﬂe ﬂx|ﬂ;||2|ﬂ4|ﬂe ﬂlei
S * +
9> (X > > —> Pu
f + + \\f+
Fvp Fhp Fip FLp
A
Pev— 1 1 - 1 _ 1
G # Ll »
1+STcn 1+STru1 1+STru2 148 Tco
‘ REHEATER ‘ ‘ REHEATER ‘ ‘ CROSSOVER
A A '
CONTROL
PS{SAI'-TVIEON \{SATLE\,/AEMS VHP A 2 HPT A 1P Y | SHAFT
CHEST
TO CONDENSER
1 T
2 C
3
4 15
16
17 21 Tcu
22 26  Fvynp - VHP
32 36 Trui HP
37 41 Fup P
47 51  Trm LP
52 56 Fp Fvup  FuptFrptFrp=1
62 66 Tco
67 71  Frp
Fygp 022 Fyp 022 Fp 03 Fip 0.26
Ten  0.1~0.4 Tri  4~11 Triz  4~11 Tco 0.3~0.5
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11.54 TD
[1 |B 3 [4 [5 [6 [7 [8
12 3[4]s]e[ 78] o] o[ ]2 3[4l 5[ s [7s[of o t]2[3]4] 5] 6[7[ 8] ol o] t]2[ 3] 4] 5T 6] 7I8] ol o tT2] 3 4] 5T 6] I 8] ol o t]2] 3 4] sT 6] 7 8] ol o] 1[2] 3[4 5] 6] [ 8] o] o] 1[2] 3] 4] 5[ 6] 7[ 8] o] 0
":'@ » Pui
A+
Fhp FLp/2
A A
1 1 1
Pov ——» >
1+STcu 1+STru 1+STco
A A
Fip FLp/2
+ +
20 Pu2
CONTROL
hLVE e 1] Lp g Lpfrere HP,LP SHAFT
CHEST \
‘ REHEATER. ‘ ‘ CROSSOVER ‘
e I g T S IP,LP SHAFT
1 T
2 D
3
4 15
16
17 21 Tcn
22 26  Fpp
32 36 Tru
37 41  Fp : HP
47 51  Tco IP
52 56  0.5Fp LP
57 61  0.5Fp FrptFrptFLe=1
Fup 03 Fp 03 Fip 04
Teun 0.1~0.4 Tru 4~11 Tco 0.3~0.5
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11.5.5 TE
[ [2 E [+ [s [o [ [s
1[2[3]4]56[7[s8]oo[ 1[2]3]4]5] 6 [7]8[o]o[1]2[3]4[5]s]7[s]o] o] 1]2]3]4]5]67[s]o]o] 1 [2[3]4]5[6[7]8]o]o[ ][] 3]4]5]6] 7[s[o] 0] 1[2]3]4]5]6[ 2[8[o] o] 1]2[3]4]5]6[7]8] o]0
;@ > Pt
$
FHp Fip
1 1 1
Poy —» >
1+STcu 1+STru 1+STco

\ 4

Fp

N Pu2

> - >‘ -------------
e e L
1 T
2 E
3
4 15
16
17 21  Tcu
22 26 Fup
3236 Tra + HP
37 41 Fp P
47 51  Teo LP »
57 61 Fip FuptFptFLp=
Fap 025 Fp 025 Frp 05
Tew  0.1~0.4 Tra 4~11 Tco 0.3~0.5
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11.5.6 TF
[1 [2 [3 [4 [5 [6 [7 [8
1 f; a[s[e[ 7] 8ol o[t [2[3[4]s[ s [7[s[of o] tT2[ 3[4 5[ [ 7] 8] of o] tT2[ 3[4l 5[ [ 7[ 8] of o] tT2[ 3[4l 5[ [ 7[ 8] of o] tT2[ 3] 4L 5[ e 7[ 8] of o] t[2[ 3] 4L 5[ e[ 7[ 8] of o] t[2] 3] 4[ 5[ 6 7] 8 o[ 0
1 5 > — Put
\ﬁ- 4+
Fvhp Fip/2 FLp/2
Pev 1 1 1 1
> > e >
1+STcn 1+STrm 1+ STru> 1+STco
h 4
Frp Fip/2 Fie/2
+/}\+ + ¥ +
> > > > Pu2
CONTROL
VALVE VALVES SHAFT
POSITION |  STEA VHP A P LP g Lpr
CHEST
‘ REHEATER ‘ ‘ REHEATER ‘ ‘ CROSSOVER ‘
lﬁ i Y 02
1 T
2 F
3
4 15
16
17 21 TCH
22 26 FVHP
32 36 TRHI
37 41 FHP
47 51 TRH2
52 56 FIP/2 1/2 : VHP
62 66 FIP/2 1/2 HP
62 66 TCO IP
67 71 FLP2 1/2 LP
72 76  FLP/2 1/2 Fvap  FuptFiptFLp=1

FVHP 0.22 FHP 0.22 FIP 0.28 FLP 0.28
TRH2 4~11

TCH

0.1~0.4

TRHI1

4~11

TCO 0.

3~0.5
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11.5.7

T™W

[1 [2 3 4 5 [6 [7 [8
1[2]3]4]s[e[7]s]o[ o[ 1]2]3]4[5] 6 [7]8[o]o[1]2[3]4]5]6[]s[o] o[ 1]2[2]4]56]7[s]o| o] 1[2]3] 4] 6] 7] 8o o[ 1]2]3]4[5[ 6] 7[s[o] o] 1[2]3[4] s[6[7[8]o[ o] 12]3]4]5]e[7]8] o]0
T
mny NAME kv ! K1 Tw/2 K3
P D
E
T|W| A8 F4.0 |Al F53 F5.3 F5.3
1-STw
Pov ——» _— —» Pu
1+0.5STw
1 T
2 W
3
4 15
16
22 26 K; -20
32 36 Tw/2
37 41 K; 3.0
Tw 0.5~5
|1 |2 |3 |4 |5 6 7
1 2[3[4] s[6[ 7] s[ol o[ 1] 23] 4] 5] e[ 718l ol o] 1] 2[3[4] 5] 6] 7] el ol ol t[2[ 3[4l 5] e[ 7I8[ ol ol 1[I 3[ 4l sl e[ 7] 8[ o] o] e[ 2] 3[ 4] 5] e[ 7[ 8] o] o 2] 2[ 3[ 4] 5] 6] 7[ B[ o[ o t[2[ 3[ 4[5 6] 7
dlx] NAME K [I) TSH ™ ™ Tdelay
A2 A8 740 |al] P53 F53 F53 F53 F53 F53 F53
FiEkEH
»i ,
1 0
¥
T}
* S
wamm —— |
Tp.s &
¥
k 1
HEEER
Tsh.s
tEle S D%{ 1
" 7| Twes+ e
o mE PEEITERT
SIS E

1-2 A2

GX
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4-11 A8
12-15 F4.0
16 Al
17-21 F5.3 Tsu
22-26 F5.3 Tp
27-31 F5.3 Tw
32-36 F5.3
37-41 F53 Tdelay
42-46 F5.3
47-51 F5.3
1) 27-31 37-41
2) 42-51 0 9999
-9999
11.7 (IGV/IGV+ )
IGV IGV+ IGV+ IGV
IGV
|1 2 3 5 6 7 8
1]2]3]4f s]e]7] s]o]of1f2[3]4]5] 6] 7|s]o]o]1] 2]3]4[s[s[7]s]o]o]1]2[3[4[s] 6f7[e|o]o]1]2]3[4[s[el7]8|o] ol 1]2]3]4]s[el7l8]o]o] ] 2| 3| 4[s] ef7[e[s]o]1]2]3]4f5[s[7]8]s]o
IGV NAME BASE |ID TSTART Tl FREQI1 T2 FREQ2 T3 FREQ3 T4 FREQ4 TS FREQS
1-3 A3  IGV
5-12 A8
13-16 F4.0
17 Al ID
19-23 F5.3
29-33 F5.3
34-38 F5.3 Hz
39-43 F5.3
44-48 F5.3 Hz
49-53 F5.3
54-58 F5.3 Hz
59-63 F5.3
64-68 F5.3 Hz
69-73 F5.3
74-78 F5.3 Hz
IGV+
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|1 |2 |3 |4 |5 |6 |7 8

1]2]3] 4] 5]6]7] 8]ofo]2]2]3]4]5] 6] 7]8[ofolz] 2]3[4]slel7[8]olof1]2]3]4]5] 6] 718[olo2l2]3[4]5 6] 7] 8] o] ol ]2l 3] 4|5)6]7l8[ ol o] ] 2] 3[4l 5] 6]7]8]o[ol ] 2]3]4]5]6]7]8] o]0
IGV+ NAME BASE |1D| T6 FREQG6 T7 FREQ7 T8 FREQS T9 FREQ9 TI0 | FREQI0 | TIl | FREQIL
1-4 A4 IGV+
5-12 A8
13-16 F4.0
17 Al ID
19-23 F5.3
24-28 F5.3 Hz
29-33 F5.3
34-38 F5.3 Hz
39-43 F5.3
44-48 F5.3 Hz
49-53 F5.3
54-58 F5.3 Hz
59-63 F5.3
64-68 F5.3 Hz
69-73 F5.3
74-78 F5.3 Hz
1) GS GW GL GI/GI+ G GK
IGVAIGV+
2) IGV+  IGV 11 5
IGV IGV IGV+ IGV+ IGV
3) Hz
50Hz 51Hz 1
4)
5) IGVAIGV+ IGV 19-23
6)
“ GENI 13.8” 10 20
51Hz 50 70 50Hz
3 51 20 51 70 50 70 IGV
IGV GENI1 13.8 10. 20. 1. 70. 1. 70. O.
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10
(1-0)/(20-10) 20

11.8

70

FGV

10
51Hz 70

20

50Hz 70

[2

[1
1] 2] 34| 5]6] 7] 8] o 1] 2[ 3] 4| 5] 6] 7] 8] of 0] 2] 23

4|5]6]7]8

[3
olof1]2[3

4[5 6]7]8

[4
ol o] 1] 2] 34| 5] 6] 7] 8] o

5
o]1]2]3]4

5|6 7]8]9

6
o] 1]2|3[4|s[ 6] 7] 8]0

ol|~

FGV NAME BASE |ID AMP1

FREQI

ANGLO1

TBEGIN1

TENDI1 AMP2

FREQ2

ANGL02

TBEGIN2| TEND2

Z 0 [o]w

A3 A8 F40 M1 F5.0

F5.2

F5.2

F5.0

F5.0

F5.0

F5.2

F5.2

F5.0 F5.0

1—3 FGV
5—12 NAME
13—16 BASE
17 1D
19—23 AMPI1
24—28 FREQI
29—33 ANGLO1
34—38 TBEGINI
39—43 TENDI
45—49 AMP2
50—54 FREQ2
55—59 ANGLO02
60—64 TBEGIN2
65—69 TEND2
80 CMW
W

1)

2) FGV

3)

4)
S)

kV

80

MW

FF

80
“ W”

P, =P, +4 sin(a)lt + @, )+ 4, sin(a)zt + (/)02)

FGV

FGV

MW
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11.9 oGV
|1 2 3 4 5 6 7 8
1]2]3]4] 516171 8]ofo] 1] 23] 4] 5] 6] 7]8]ofo] 1] 2[3]4]5]6]7[8]o]of1]2[3]4|5] 6] 7|8[ofo] 1 2] 3] 4] 5] 6] 7]8[o] of]2[3]4]5]6]7[8[ofol1[2]3]4]5] 6]7]8[9]of1]2|3]4]5]6]7[8] o]0
AT AT

1-3 oGV

5-12

13-16

17 ID

19 ALL

21 FREQ

23 PIDINP

25 PIDOUT

27 PCV

29 PCTO

31 PGV1

33 PGV

35 PCH

37 PRH

39 PRH2

41 PCO

43 PM

45 PGX GX

(1) GI\GI\GK+GA GL TA\TB\TC\TD\TE\TF

) 13

1 23 1
2 3
3 3

(3) FF 90

4) “ + GOV.OUT” “

+ GOV.CUR”

©)

GI\GI+
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PID

=
)
Q
2
-9}
a
[=9
+h A a
Z
IIIIIIIIIIII =)
=t =
S =
o | o
||||||||||||| =
) [~4
= [
“|%
3
3

GJ

PIDINP

FREQ

GK

PPRESO
+
PO
+

1+T,S

A®

Ao
PPr essure
P

PIDINP

PGV

PGVI

1
1+T,8
LVDT

PID

GL
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+¥

| |
VELopen | [
I LTS Pgy
| S 1T
| o1
| P 1
VELclose : MIN : :
| o1
PTCO PGV PGV
+
(3

FLp
| A
l .
1 [ 1 !
Poy ———» — || > !
1+STcr ! 1+STco !
PCH PRH PCO
TC
+L/_\ +L + I
T + + +
FvHp FHp Fip FLp
A
I | I I
PGH : [ 1 : » 1 : » 1 :
1+STCH !PCH g 1+STRH1 !PRH 1+STRH2 !PRHZ 1+STCO !PCO
TD
> 3 Pu1
+
FHp FLp/2
PRH
| A | | A
1 ! 1 ' 1 |
PV —» ———— ' > ———— | — - PCO
1+STcu : 1+ STru : 1+STco I
PCH Y : v
Fip FLp/2
+ +
203 Pu2
TE
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@ > Pui

Frp Fip PCO
|
| [
Poy —» o ! > L LI
1+STen | | 1+STen | | 1+STco | |
| | 4
PCH PRH FLp
|—> Pm2
TF
+ +
>@ 20 Pum1
A+ +
Fvup PRH Fip/2 FLp/2
| | PRH2 ]
P, 1 [ L R R U
1+STeu |1 | 1+STeut || [ 7| 1+STra2 | | 1+STco | |
! | Iy LY
|
PCH Frp Fip/2 FLp/2
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12
BPA
1 D
CEA DS
LS
2 DT
3 D
B D A
4
D 79
a.
b.
C. LN
d.
e.
PGEN, + jQGEN, PGEN, — jQGEN,

—>

342 342 1IX
E, =£Nr\/AR :ivp, cosy, = ——2——cos0,
n T \/Evpr
. 31
D:=E, cosa-——X '
r X PGEN, = D'l
cos®, =D\ /E,
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32 332 _
E =24Nvy. =22y =cosO — ¢
‘ NV —Vu cosf; =cosb, \/EVpi
D' =E,cosy—2 X, PGEN, = D'
cosf, =D’ /E,
I' = (E, cosayy —E;cosyyw — Vi, = Vi) /R
I =(E, cosay +E; cosago, = Vy, = Vi) /Rogp
3
WHERE Rior =R+R_ +R_, +—(X, - X,)
TT
12.1 D
T1 [2 I3 Ta Is B [7 8
1] 2[3[a[s[ e[ 7] 8ol of 1] 2[ a[4[ 5[ e[ 7] 8] ol o] a] 2 3[ a[ 5[ e[ 7[ 8[ ol o] al 2] s[ 4] 5[ 6[ 7[ e[ o[ o[ a[ 2[ sT a] 5] 6] 7 e o o[ 1l 2[ 3T al 5T 6] 7] 8] of o] 1] 2[ 3[ 4] 5T 6] 7] 8] of o] 1] 2[ 3[ [ 5[ 6 7[ 8] o] 0]
1 D
4 11
12 15 kV
16 20 T,
21 25 Ty
26 30 T,
31 35 T,
36 40 Ts
41 45 K,
46 MOD P I
47 50 IMAX
51 56 IMARGIN 0.05-0.3
57 61 G Stop
62 66 Tp 0.01
72 74 VLIM 0.25pu
79 DISA
80 MSU
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TWO TERMINAL

DC CONTROL DIAGRAM

Ppgg + +Pyop
; RECT
Vb 1 Vieas Pors Constan Constan
VOLTAGE 1+ST G v ] — I
TRANSDUCER v MEAS Power Current
L ]
Inc 1 Tieas
o —m8m8m Ivax
CURRENT 1+ STC s -
TRANSDUCER S IF(Lyss <Iy) Togn = Ipes
Vun  VMeas IF(Ipgs > Tyax)  Toro = Inax
A
Ty =10% 1,0
24\;\//\11%%21\] < Vi = Vi * Veateo
LOGIC 1
| LI _ 1+ST, 1.35E¢
Lieas DI I / OR ol
ORD
-K, 1+S8T, Va+ Vv, COSap = g’aR —cosy, cosa,
1+ST 1+ST
Tyoo - * 2 } . COSa, =—= —cosy | CO5%
RECTIFIER ol
CURRENT 0
MARGIN 2R
INVERTER Luns —2—a
Lorp
RECTIFIER INVERTER

LIM= E;( cosy,+cosay ) — 2l pasR(RECT)
LIM= Eq( cosy +cosogrop) —2lypasRc(IVERT)

I>1,+0.751

YES

MARG

DI
DI
DI

CON 72

DI

DI=0.0

MARGIN SWITCHING UNIT

0.25
0.5

0.5 DI

0.75

0.5
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12.2

DT

| 2 I3 T4 Is I3 7 8
1] 2] a[ 4] 5[ e 7] e[ of of 1] 2[ 3] 4] 5 6] 7] 8] of of 1] 2 3[ 4] 5[ 6] 7] 8] of o[ 1] 2[ 3[ 4] 5[ 6] 7] 8] o of 1] 2] 3[ 4l 5] 6] 7] &] o[ o 1] 2[ 3] 4] 5[ 6] 7[ 8] of o[ 1] 2] a[ 4] 5 6] 7] 8] of of 1] 2] 3] 4] 5[ 6] 7[ 8] 9] 0
p M
D|T NAME KV | DV Tviax TvarG Tc Ty Zstop s
u

N A8 F4.0 F5.4 F5.4 F5.4 F5.4 F5.4 F5.1

12
28
38
43
63
68
73
80

11
15
32
42
47
67
72
71

NAME

kV
DV VLIM
Imax

ImarG

Iord

Id=Iordi=10rdr'Imarg)

CURRENT CONTROLLER

Iy
Ie=Torar

CC

2006
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WV RC MODE AVy \/
di

IC MODE 1 T MODE

I'I'I I

A\

ordr ordi i I

ordi

ordr I T

Operating charateristic at theinvertor dc terminal

Showing the value of trial current,it,for three different operating modes

1 CC CEA
CC
Y i CEA [e=lorda Y =Y 0
2 CIA CC
a CIA

I=logr O =0 O(
3 CIA CEA
CIA CEA

T, =R;/L;=(R_,+R,+R —-R; +R
Ipe = (Vo €O 0Ly = Vi COS Y, =2V ) /Ry

)/(Lsr +LL +Lsi)

eqi

iT’Iordr’Iordi (
ir>low  CC-CEA

iy <L CIA-CC

s <ir <Ioe  CIA-CEA

ordi

CC CIA
CEA
quasi-stationary)
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V[: 1 VMEA | B PDES Const P Const 1
1+ST DES ™ Ll |
v VMEAS DES

I DES

IFlyn2 IDES’IORD: [yin

IMAXSIDES loro = luax

TinSToesSTuax loro=1pes

Iy 1 | gwgas| Margin DI
- > SW I
1+ STC _ mod
Unit
l ardr
Vetr V,,. cosa, =V, coso—2V, Ioe > - 1 . s COSe,
RT 1+ST. COSai
T l odi /
Vdoi l_ordi
DI Al

Block Diagram of Simplified Model + Current Margin

CONTROL SCHEME LOGIC
If 1= lorar - CC-CEA Control

> 1= lorar
Y i=Y o0;VerCOSA =V4iCOSY o+2Vo+Rrl4
If i< lorai - CIA-CC Control
- le=Tori
O =0 o;VarCOSY i=VwiCOSA o-2Vo-Rrlq
If Dorsi <ir<lorar - CIA-CEA Control
- l&is

a ~=a oY i=Y o

+
INV Controller
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12.3

DF

1[2[3 4|5I6I7I8I9I<11I1 2] 3[4 5] 6] 7 Blelglllz 3[ 4] 5[ 6[ 7] 8I9I <31|1|2 3[ 4] s[ [ 7] 8I9I3I1I2 3[4 s[e[ 7 8|9Ig|1|2 3[4[s[e[ 7 8|9Ig|1|2 3[4 s[6[7 8I9Ié|1l2 3I4I5I6I7I8|9Ig
1 2 DF A2
4 11 NAME A8
12 15 kV F4.0
18 22 dV/dt, pu/sec  F5.3
23 27 Vo dV/dt Vi pu
F5.4
28 32 sz sz pu F5.4
33 37 DT sec F5.4

38
43

53

63

42
52

62

72

12.4

12.4.1

VI'S
Cl Tl

C2 T2

C3 T3

F54 F53

F54 F53

F54 F53

DS

LOW

Vis
T

pu
1

T2

T

3

S€C

S€C

S€C

LEVEL MODULATION MODEL

F5.4

%

%

%

1 I2 I3 4 Is Ie 7 I8
1] 2] 3[ 4] 5[ 6] 7 8] of of 1] 2[ 3] 4] 5] 6] 7 8] of of 1] 2] 3[ 4] 5[ 6] 7] 8] o] of 1] 2[ 3] 4] s[ 6] 7[ 8] o] of 2 2] 3] 4 5 6] 7] 8] of of 1] 2[ 3] 4] 5] 6] 7[ 8] of of 1] 2] 3] 4] 5] 6] 7] 8] o of [ 2] 3] 4[ 5 6] 7[ 8] o[ 0|
H
D[S NAME KV Ta Tr & A B C D K IvopmiN Ivopmax "_ NAMEI1 KV1 NAME2 Kv2
o
Alfal A8 F40 | F33 | F33 F33 | F3.1 | F3.1 | F3.1 | F3.1 | F43 F5.4 Fs.1  |al BRANCH ~MONITORED
2 I
IAQ S 1 S S +SA+B MODMAX IMOD
|l e e — '- > —»
P 1+ST, 1+ST; S+e S*+SC+D I
AC MODMIN

Ty
T¢

DS
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28 30 A
31 33 B
34 36 C
37 39 D
40 43 K

44 48  ImopmiN

49 53  Imopmax
54 HILO HILO 0 HILO 1 Pac HILO=2 L

56-80

12.4.2

HIGH LEVEL MODULATION MODEL

I8

1 [2 3 4 [5 [6 [7
1] 2] 3] 4] 5] e[ 7[ [ o ol 1] 2[ 3[ 4] 5] 6] 7[ 8] 9] of 1] 2 3] 4] 5] 6] 7] 8[ o] o[ 1] 2 3[ 4] 5] 6] 7 8] o] of 1] 2[ 3[ 4 5] 6] 7] 8] o] of 1] 2[ 3[ 4] 5] 6] 7] 8] of of 1] 2] 3[ 4] 5] 6] 7[ 8] of of 1] 2] 3[ 4] 5] 6] 7[ 8] 9] 0
H

D[S NAME KV Ty T & A B C D K Pouin Pomax NAMEI KV1 NAME2 KV2

L
o

AlfA1 A8 F4.0 F3.3 F33 F3.3 F3.1 F3.1 F3.1 F3.1 F4.3 F5.4 F5.1 Al BRANCH  MONITORED

Ly S 1 S S’+SA+B P P
— P » » » 4»“_» DMAX MOD
P, | 1+ST, 1+ST, S>+SC+D <] PDMT —

1 2 DS
4 11
12 15
16 18 T4
19 21 T¢
25 27 ¢
28 30 A
31 33 B
34 36 C
37 39 D
40 43 K MW/ MW
44 48 Ppvmin Pomin=PpotPmopmin MW
49 53  Ppmax Ppmax=PpotPmobpmax
MW
54 HILO HILO 3 P,. HILO=4 Tac
56 80
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12.4.3

DUAL FREQUENCY MODULATION MODEL

1

[2 I3 4 I [6 [7 [8]
1] 2] 3[ 4] 5] e[ 7[ 8] of of 1] 2] 3] 4[ 5[ e[ 7] 8] o] o 1] 2 3] 4] 5] 6] 7[ 8] o] o[ 1] 2I 3] 4 5[ 6] 7] 8] 9] of 11 2] 3] 4 5] 6] 7] 8 9] of 1] 2I 3] 4] 5] 6] 7[ 8] 9] of 1] 2[ 3] 4] 5] 6] 7[ 8] 9] o 1] 2] 3[ 4] 5] 6] 7[ 8] 9] ©

D|s NAME KV Ty | T & Al B | c| D K Puooviv | Proowax || NAMEI KVI NAME2 KV2
Al|AT A8 F4.0 F3.3 F33 F3.3 F3.1 F3.1 F3.1 F3.1 F43 F5.4 F5.1 A1 BRANCH MONITORED
(’Oll S . 1 . S . S*+SA, +B, Puax| Pyop
RECT 1+ST,, 1+ STy S+e, S*+SC, +D, Py
®, S 1 S S*+SA, +B,
e »> »> | e——
INV 1+STd2 1+STf2 S+82 S +SC2+D2
1 2
4 11
12 15
16 18 Tq
19 21 Tt

25 27 €
28 30 A
31 33 B
34 36 C
37 39 D
40 43 K
44 48 PyopmiN MW
49 53 Pmobmax MW
54

56-80 1 2
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12.4.4

Y

GAMMA MODULATION

[L I2 [3 [4 B 6 7 B
[ 2 3[4l s e[ 7] e of of 1 2[ 3[4 5] el 7[ 8] of of 1] 2[ 3[ 4] 5| e[ 7[ 8[ ol o 1] 2[ 3[ 4] 5[ 6] 7[ 8[ o] of 1] 2] a[ 4[ 5] 6] 7] 8[ of o 1] 2] 3] 4] ST 6] 7[ 8] of o 1] 2 3[ 4] 5T e[ 7] 8[ ol of 1] 2] [ 4[ 5[ 6] 7[ 8] 9[ 0!
H
D|s NAME KV T T3 T4 TS T6 K, 7 max AlB I‘_ D| BUSNAME KV
o
A1l A8 F4.0 F5.1 F5.1 F5.1 F5.1 F5.1 F6.1 Fs.1 [nfnjad Al A8 F4.0
Vic 1 +
—p P A+ ST3 B+ STS K + Ymax
1+ST Y —
! 1+ST, 1+ST,
- + Vmr
V,
REF 'Y
0

12
16
21
26
31
36
41
47
52
53
54
55
68
69
77

15
20
25
30
35
40
46
51

59

76
80
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PSD-BPA

12.5 D DC DV
12.5.1 D
D D
CONSTANT CONSTANT
Vocy, 1| Vi, 1 = Pors POVER CURRENT [
D ¢ lDES
1+ ST, VLAG
' IF Iy <Ip <hvax
IMAX | THEN Torp =1Ip
» " ’ IF Ip <Ipmnslorp = ImiN
IF Ip > Iyaxslorp =Imax
\
IDC
Torp / LIM 1
| ~K_1+ST, |V V, COSa
Ve KT Ve o Ve oo Vo o0 L [
1+ST. | 1,0 (1+ST, )1+8T;) Vaol
4 -1
Teor i TVC Vol
6X ¢ 1 ;
+Slpm
RECT LM= Vyor(cosopn +cosyq) i Vv
IMEAST dO
INV  LIM = Vg (cosagrop +cosyo)
2R ~(FRACI
cosyon = cl IMARG +cosy,
VioINITIAL
Veorp = Vo (cosyon —cosyg) + 2R clgrp
Ipc I
ORD| / LIM +1
1 o - V, \Y
s V2 Ko (1+ST)) | V3 GREATEST OF | Yo/~ =—% _COYon| > I
1+STe | (1+ST,)(1+ST;, THE THREE Vdol COSa
MEAS$ | y -1
TMARG o Ve Tvdol
6X ¢ _ 1
- 1+ST;
LIM = V4,1 (cosygn + cososTop ) I v
MEAS do
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12

5.2

VDCL

DC

[t
AEREEERR

I2
e[ 7] 8[ 9] 0

I3
e[ 7] 8[ o] 0

I4 Is Ie [7 I8
e[ 7] 8] of of af o[ s a[ ] 6 7] 8] o of 1] 2[ 3 ] 5 6] 7 &] of of 1 2[ s[ 4] 5T 6] 7] 8[ o] o[ [ 2 [ 4 5[ 6 7[ 8T o[ 0

12[3 2[3[ 4[5 1 2[3[ 4] 5] 1[2[3[ 4] 5
1 CURRENT
1.0
Yl
Y, VOLTAGE
| | >
V, Vv,
VDCL
/ PDES
—* * D
VCI ‘\ZMEA
IDES
> / — Jorn
MODE CHANGE
1 2 DC
4 11
12 15
16 20 Yo
21 25 Y
26 30 Vi
31 35 \%
46 50 Vg pu)
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12.5.3

DV

1
[ 2[3[a] s[ e[ 7[ e[ of o[ 1

I2 I3 [4 Is I6 [7 [8]
2[ 3[4l s] e[ 7[ e of o[ 1] 2[ 3[ 4] s] e[ 7] e[ of of 1[ 2 3[ 4] s[ e[ 7] 8] of of <] 2[ 3[ 4[ s [ 7] &] of of 1 2] 3[ 4] s e[ 7] e[ of o 1[ 2 3[ 4] 5] e] 7 8 o o[ 2] 2] 3] 4] 5] 6] 7[ 8 o[ 0]

D|V NAME

KV Varer Reomp

IN|EN] A8

F4.0 F5.4 F4.0

DEFAULT VALUE:

Vdref = (Eor COSa_RcrI_Dr)_RcompIRECT O3
cosa,

= (_Eoi cosa _RCiI+Di)+RcompIINV

CONSTRAINTS: cosa,

Vdref ZEor COS(X‘_RcrI_Dr _RcompIRECT COSal

>-E cosa+R_ I+D, +RmmpIINV

CALCULATIONS:

3
COSa‘r :[Vdref +I(;Xc +RCOMP)_Dr]/E0r RECT

3
cosa; =[-Vy + (=X +Reoyp)+ DIV E;
T

MAX
SELECT
INV

MIN
SELECT
RECT

cosa

1 2 DV
4 11

1215

44 48 Vet 13%

49 52 Reomp
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13

13.1

V VG\VG+

SvC

Vv

W

1 2 I3 [ Is I6 [7 B
1] 2] 3] 4] 5] 6] 7] 8] o] o 1] 2[ 3[ 4] 5] e[ 7[ 8] of of 1] 2[ 3] 4] 5] 6] 7] 8] o] of 1] 2[ 3[ 4] 5] 6] 7] 8 o] of 1] 2[ 3] 4] 5] 6] 7] 8] of of 1] 2] 3] 4] 5[ 6] 7] 8] o o] 1] 2[ 3[ 4] 5] 6] 7] 8] o] of 1] 2] 3] 4] s] 6] 7[ 8] of o
REMOTE SIGNAL BUS NAMH
v NAME kv |1 Ta Vo] Te Tss |A[B] Tsi | T | Ksws | Ko | Buae | Buax | Buw | Bun | T | DV
BUS NAME KV
Al A8 F40 [11| F33 | F33 | Fa4 F44 [nfn| £33 | F3.3 | F40 F4.0 F4.3 F4.2 F4.2 F42 | F33 | F33 A8 F4.0
Voo FAST OVERRIDE THYRISTOR
REGULATOR
DELAY
V, IF Ve 2 DV B
FILTER ViR > BL=Bly + =
Ve Vewax Ko (Vg ~DV) | g
Vv /M7 BR DVy <V, <DV, A 1
1 A +STg, 1+ST. IF DVHI < VERR LO ot e >
T esT Baste | st | 1 T meeme TS Bavs
+ST, B+ ST, +STgs IF Vigp <DV,
Vemin VEMIN B'R = B'MIN By
1 \%
4 15
16 ID
17 19 Ty
20 22 VEMax
27 30 Tss
31 A 0
32 B 0
33 35 T4
36 38 Tss
39 42 Kivs
43 46 Ksp
47 50 Bumax
51 54 B Mmax
55 58 B MmN
59 62 Bmmv Bmmn Bwmin
63-65 Ts6 Thyristor)
66 68 DV
69 80 4 15
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1) Vemax aTs3 A, B, sts s Bymax>Bumaxs B;\/HN =Bun aTS6
2) T51 aTsz > Ts4 aTss > KSD’DV

3) Vewin =~ Vimax

4) DV 0 DVLO B'MAX/KSVS DVHI=B'MIN/KSVS
5) DV>0.0 DVLO=DV DVHI=-DV

6) W IERR 0 S VSCS VERR

1) 12 15

50Hz
2) Mvar
3)

4)
5)

6)
7) KSD KSD

8) Q

9)

sts(

Vscs(
1 P Af Py
2 Vr Q T

2006 6 137



PSD-BPA

13.2

VG

STATCOM

VG\VG+

0 |1 |2 3 |4 5 le |7 |s
12]3[a]s]6]7] s[olol ]2l 3] 4]5] 6] 7Is] ol o] 2la] 4l 56l 7[s] ol o] ] 2] 3[4l s e[ 7Islol ol 1l2ka] 2] sl el 7Tsl ol ol 2l s al sl el 7T sl ol o al 2] s[4l s 6l 7] sl ol o] ul 2] 3] ] T 6] ] 8 o] o]
VG BUSNAME | BASE MVA TI T2 T3 T4 TS TP TS KP KI KD XT REF_BNAME | BASE
A2 A8 F4.0 F5.0 F44 | F44 | P44 | P44 | P44 | F44 | P44 | Fa2 | F42 F5.5 F5.5 A8 F4.0
VG+
0 1 4 5 6 7 8
1]2]3]4]5]6] 7] slololl2]3]4l5]6l7]slolo]al 2l sl 4ls]6]7ls] ol o] il 2l 3] 4l 5] 6] 7ls] ol ol 1] 2l 3] 4] 5] 6] 7l 8] ool 1] 2] 3] al sl 6] 7] 8] ool 1] 2] 3] a5l 6] 7l sl o] o] 1| 2] 3] 4] 5] 6] 7] 8] o] 0
VG+| BUSNAME | BASE vMAX | VMIN | 1cMAX | ILMAX Vsranos
A3 A8 F4.0 F5.3 F5.3 F5.3 F5.3 F4.4
KP
1+ST,
VMax Vmax Vsmax V. CMAX
/’ SMAX
Ny + X 1 1 1
1+ST, | | 1+ST, oKl 7@,@,7$ s,
1+ST, 1+ST; S Xr| | 1+48Tg
Vsmm
Vuin Vi Vamm Iimax
K,
STATCOM VG VG+
VG
1 2 VG
4 11 BNAME
12 15 BASE kv
17 21 MVABASE MVA
22 25 Ty
26 29 T,
30 33 T;
34 37 Ta
38 41 Ts
42 45 Tp
46 49 Ts STATCOM
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50 53
54 57
58 62
63 67
69 76
77 80

VG+

1 3

4 11
12 15
17 21
22 26
27 31
32 36
42 45

1)
2) VG

3) VG
4) VG

5) VG

6) VG
7) VG+

8)
9) VG+

10)

11)
12)

Kp
K
Kp STATCOM V- 0
Xt STATCOM pu STATCOM
BNAME
BSE
VG+
BNAME
BASE kV
Vmax pu
Vmmn pu
Iemax pu STATCOM
ILmax pu STATCOM
VSTANDBY STATCOM pu
STATCOM VG VG+
17-21 VG XT VG+ ICMAX ILMAX
50-57
58-62 KD STATCOM V-1
63-67 XT STATCOM
12-15 17-21
69-80 4-15
12-15 VG 17-21
VSCS 13.3 VS STATCOM
VSTANDBY 0 STATCOM
STATCOM STATCOM
VSMAX VSMIN
Vomax = Vr + Xp *Ioyax
Vemv = Vr =X *Ivax
G
13.1 SVC
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13.3

WA\WB\WC

TL [2 I3 [a [5 I6 7 T8
1] 2[ 3[ 4] 5] 6] 7[ 8] o] o[ 1] 2] 3[ 4] 5] 6] 7[ 8] of o] 1] 2] 3] 4 5[ 6] 7] 8] of of 1] 2] 3[ 4] 5] 6] 7[ 8] o] o] 1] 2] 3] 4] 5] 6] 7[ 8] o] o] 1] 2 3[ 4] 5] 6] 7] 8] o] of 1] 2] 3[ 4] 5] 6] 7[ 8] of of 1] 2[ [ 4] 5[ 6] 7[ 8] 9] 0
. REMOTE SIGNAL BUS NAME
W NAME kv I ke Tsy Tss Ty |AlB]  Tsis Tsis Kss | Vscswax |R c
P R NAMEI KVI | NAME2 KV2 |R
T
Al A8 F40 || F40 F4.4 F4.4 F44 |uu| Fa2 F4.2 F4.2 F43 |11 A8 F40 |11 A8 F4.0 |11
0 |1 2 B |4 5 6 7 3
1]2]3]4ls]6]7] s]o]o]1l2]3]4]5]6l 7 slolol1] 2l3l4lslel zlslolol 1] 2]3]4l 5] 6] 7]s]o]o]1]2]3]4]5]6]7ls]lo] ol1l2l3l4lslelzlslololl2]3]4l5] 6l 7]8]olol1]2]3]4]5]6]7]8] o]0
W] NAME BKV rl) Kks2 | Tsto | Tsi1 | Tsi2 | TSis | Tsie
A A8 F4.0 [A] F40 | F44 F4.4 F4.4 F4.4 F4.4
P
Af —* Ksi L, 1+8Tgs Vscesmax
1+STg, 1+ ST,
7
PACC A +ST. 1+ST. V.,
S13 S15 SCS
FILTERS ——sB — > K, 3
B +ST. 1+ST.
+51g14 S16
VSCSMIN

WA\WB\WC

WA\WB\WC

B
A

B

C

NAME kV

1D

K1

Ts7

Tsg

15
16
17
21
25
29
33
34
35

20
24
28
32

38

WD\WE\WF
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39
43
47
51
54

WD\WE\WF

16
17
21
25
29
33
37

1)
2)
3)

4)
5)

42
46
50

79

15

20
24
28
32
36
40

KSZ ’ TSIZ

VSCSMIN

Tsl4
Ks3

Vscsmax
IERR IERR 0 V S Vscs

A 54 65 66

B 1 2 1 54 65
67 78 2 79
79
C 50Hz 54 65

\Y TS15 TS16
\Y 1
D E F
D \Y 69 80
E Mvar
F
NAME kV
1D
Ks
Ts10
Tsi1
Ts12
Tsis
Tsi6

A",B', Ty, Tss- K3, Vsesmax
K, Tso
Ksi Ks 0

= _VSCSMAX

13.1 A% 13.2 VG\VG+
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14 CASE XO XR LO LM

14.1
1)
2) CASE
X5=1.22X 4 Xo=(X ¢+X ¢)/2
X; = X;
X5,=1.22bX 4 Xo=bX 4
b=Xg/X4q b CASE 0.65
Z1 08 j06 (
Z2 019 jC  (
C CASE C 0.36
3)
>
>
> LO
> G]_-j 81:1/(R1+jX1)
> GO'j BOZO.SG]_'j 031381 Gco:O.7G(;1 Bco:O.6SBc1
> LO
> X0
X0
> XR YolYo
XR
> LM
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14.2 XO

|3

[1 [2 [+ [s
1]2]3]4] s]6]7] s]ofo] 1] 2] 3] 4] 5] 6]7]8]o]ol 1] 2]3]4|s]6|7]8[ofo] ] 2]3] 4]5] 6]7[8]ofo]2l2]3]4]5] ] 7]8]¢] of

XO| BUSL BSE1l BUS2 BSE2 i F: X0 RO
A2 A8 F4.0 A8 F4.0 17} AL Fr.4 Fr.4
1 2 X0
5 16 BUSA Bl A
19 30 BUSB B2 B
32 SID
1 A
2 B
3 A, B
34 PAR
38 44 Xo
45 51 Ro
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14.3 XR

[1 [2 [3 [4 [ [6 [7 B
al s e[ 7] e o[ of 1] 2[ 3[ 4] 5T e[ 7] 8] of of 1] 2 3[ 4] 5] 6] 7] 8] of o[ 1] 2] 3[ 4] 5] 6] 7[ 8] of o 1 2] 3[ 4[ 5] e] 7[ 8] of of 2] 2] 3[ 4] s e] 7[ 8] of of 1 2 3] 4] 5] e 7[ 8] of of 1] 2 3] 4] 5[ ] 7[ 8] o] 0

1[2[ 3
X R BUS KV Ro Xo
A2 A8 F4.0 F7.4 F7.4

1 2 XR
5 12 BUS
13 16 KV
22 28 Ro
29 35 Xo

1) X0 X0 BusA  BusB
XR Bus A

2)
Xo
XR

C. Yo/Yo
XR

4)
XR
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14.4 LO

[1 I2 B [2 5 I8 7 8
s[e[7]8[ofof1]2[3[4]s[6]7[8olof1]2]3[4[5]6]7[8]of0]1 6 7[8]ofof1]2] 3[4 s[e6[7[8]of ol 1] 2] 3] 4] 5[ e[ 7]8[of ol 1] 2] 3[4 5[ 6] 7] 8] of o 1T 2] 3] 4] 5[ 6] 7[8] o]0

1[2[3[4 I8 [2[3T4]5

2 LO

12 BUS A A
13 16 KV
19 26 BUS B B
27 30 KV
33 PAR
36 42 Ro
43 49 Xo
50 56 Gao BUS A
57 63 Bao BUS A
64 70 Gro BUS B
71 77 Bro BUS B
1) LO

LO
2) E
B XR
3) Go Bao G B
4) Gao= Goo  Bao= Bio
Gao Bao Goo  Bro Gro=0 Bwo=0, Goo= Gao  Bro= Beo-
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14.5 LM

I8

[a Iz
6] 7] 8[ o] of 2 2[ 3[4 5[ e[ 7 8[ o[ 0

1 I2 I3 5 I6
s] e[ 7] s[ of of 1] 2] [ 4] s[ 6] 7] 8] of of 1] 2[ [ 4] s[ 6] 7] 8] o] o] ol o[ 1] 2[ 3] 4] 5[ 6] 7] e[ o[ o] 1] 2

1] 2 3[4 I IBEEBEHEENREEREREE BB
P P

LM BUSA Bl BUSB B2 A BUSI BI BUSJ BJ A R Xm
R R

A2 A8 F4.0 A8 F4.0 Al A8 F4.0 A8 F4.0 A1 F7.4 F7.4

1 2 LM

5 12 BUS A 1 A
13 16 Bl

19 26 BUS B 1 B
27 30 B2

33 PAR

36 43 BUS 1 2 1
44 47 Bl

50 57 BUS J 2 J
58 61 BJ

64 PAR

67 73 Rn

74 80 Xa
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LO-Z

2|2 3[4] 5|6]7] 8 9I; 1]2]3[4|5]6] 7] 8]9 g 1] 2[3]4]s[6]7]8]9 g|1 2|3]45] 6] 7[8 9!3 1]2]3[4|5]6]7]8]9 Z 1]2[3]4]5 6|7|8|9|g 1]2[3]4]5 6|7|8|9I; 1]2]3]4]5 s|7|s|9lg
A2 a2| [az] [az] [az] [a2] [ az] [a2] [a2] [A2] [A2] [ Az2] [a2] [A2] [A2] [A2 F5.4 5.4 5.4 5.4 5.1 5.1
1~-2 A2 LO
4 Al VA
6~7 A2 1
9~10 A2 2
48~49 A2 15
6~50 15
51~55 F5.4 Ko
56~60 F5.4 Kgo
61~65 F5.4 Kaeco
66~70 F5.4 Ksco
71~75 F5.1 VMmN
76~80 F5.1 Vmax
1) BPA
2) 6~50 15
3) 51~70 4
4) 71~80 Vuin  Vmax
VMIN 0 VMAX
5) LO
6) LO
LO-Z
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14.7
1)
]
A " B A B
@YJA | YTy
Yo
X X1 B
AvyyLB A
QYd Y v
° XHO
X XX c
A/ vy B X=X +X,, v A
A « B Ay y LB A X, 5
"0 : 228
= Xw:w
éon EXBO
Q)Y Yo )
Xip =X +X; + !
no
Xpo =X, + X0 + 'XX”O
1
Xgo =X + X0 + X”XX“O
|
A D B A D B
4
@ Xio Xio Xio Xiio
Yo/Yo/A
= Xino ~Xino
A D B Xio Xio B A Xo X B
(5) YO YO
\(O/Y%J\( )(uo >(u0
C H H
2006 6
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2)

A. B 35 38

B G1 G2 Bl B2

BUSA R1 X1 BUSB
| [ Il fYYY\_4I —{ | \7

— ~——Xo Gll:l —B1 o2 I:I e

= = A = — — B py ey
B L
B L
E
B L XR LO
E
B L XR LO
E
A.
B.
E L

C.
XR

D LO XR E

LO

2006 6 149



PSD-BPA

15
15.1 LA LB
[1 [2 [3 [4 [5 I6 [z B

1]2]3[4]sTe[7[elof ol 1]2]3[4]s]e6[7[elolol1]2]3[4] 5T 7[elofof1]2]3[4]5T6e]7[ el of ol 1] 2] 3[4l 5Tl 7[ 8l ofof 1]2[ 3[4l 5T 6l 7[8[ ol o 1]2] 3T 4[5 6] 7[8[ o] o 1]2] 3 4[5[6[7[8[ 9]0
1 L
2 A B
4 15
16 17
18 27
28 32
33 37
38 42
43 47
48 52
53 57
58 62 A
63 67 A
68 72 1
73 77 1

LA P PoPV+PV+Ps+P; (1+ Af Lpp)]

Q QIQuV*+QV+Qs+Qu (1+ Af Log)]
LB P Py PVA#PV+P3)(1+Af Lop)
Q Q QuVH+QV+Q3)(1+Af Log)
1) LA P, P, P; P» 10 Q. @ Q Qi 10
LB P P, P; 10 Q Q Qs 10

2)

a (Area)

b. (Zone)

C. Name
2006 6
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PSD-BPA

Area
01
3)
4)
F1 28~31
0.5pu
15.2
LA P Py (PLVZ+P,V +P3+ P (1+A f- Lgp) + Ps V')
Q Q (VZ+QV+Qs+Qu(I+Af Lag) +Qs VMY
LB P Py (PLVZ+ P,V +Ps+Ps V) (1+A £ Lgp)
Q Q (QVP+QV+Qe+Qs VN (1+Af L)
LA P +P+P3+Pi+Ps=1
Ql+Q2+Q3+Q4+Q5=1
LB Pi+Py+Ps+Ps=1
Qu+Q+Q+Qs=1
Np Ng
V= LJ/lJo
Af
LA LB L+
LA LB 15.1
L+ LA LB
L+ LA LB PP Q Ps Qs P, Q
LB N16 230. 04 04 00 00 00O 00 18 -2
L+ N16 230. 06 06 25 25

Np Ng

2006
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15.3 MI

E |

[1 B [4 B 6 7 8
12 3] 4] s[e[ 7] 8[o] ol 1] 2[ 3[4 5] e[ 7l 8T ol o 1] 2] 3] 4] s el 7[ 8] ol o[ x[2[ 3[4l 5] e[ 7[ 8] ol o 1 2[3[ 4l 5[ 6] 7] e[ o] ol e[ 3[4 s el 7[ e[ ol o[ [ 2 3[ 4] 5 el 7 8] o] of 1] [ 3[ 4] 5[ 6] 7] e[ @

I MVA
M| 1 NAME KV (5| Bws  |POOW BASE R Xs Xy Re X2 [ vi| T A B
A2 A8 R0 Al R0 3 F4.0 5.4 5.4 F5.4 F5.4 B4 | R2] FM2 F5.4 5.4

1 2 MI

4 11

12 15 kv

16 ID

17 22 Emws

23 25 P P< 1.0

29 32 MVABASE MVA
MVA

33 37 Rs—
38 42 Xs—
43 47 Xy—
48 52 Rr—
53 57 Xgp—
58 60 V,— Vi T

61 64 T—

65 69 A

700 74 B

80 IM 1

1)
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T,Emw

X Xs Xm
XmXR
X+ Xg

XI =Xs+

®p = 2nfbase, fbase = 50
o, =1-S
dE

5 =g+ (<-X)lg]-an(or -DE

[

—= 'i'[Elq'(X‘Xl)ld]Jf@b((ﬂr'1)E‘d
TO
ly = 1 [R(V,-Ey)+X (V, -E)]

2
24X

1 . . .
lq - R2+X,2[R5(Vq-Eq)-X (Vq-Ey)l

S

Te = Edly +Edl,

Ty = (Ae? + Bo, + O)T,
do, _ 1
dt 2T,

(TE - TM)

A B C C

A2 +Bw,+C=1.0
0, =1-§,

2)

Ml 23-25
Ml
0.001-0.2

0.5-0.98

3)
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Rs iXs iXr

V. P Rs Xs Xu Xg Rg

S Qs )
Xem = Xg + X
X =Xg+Xy

Xp=XXp + XXy +XuXg
(IXu)R+iXg) _ 1

Z=R_ +jXg+
sT1%s R+ X ay Y

P+jQ=VI=V2Y¥
REAL(Y)=P/V?
R+ jX gm
RsR-Xp +j(RsX gy +RX gy )
_RR®+X{HR+RXgy - j(XsuR* +XpX gy )
A'R?*+B R+C

Y =

A =RZ+X2,
B '=2R.X,,’
C'=X2+R3X3a,

A=AP/V?-Rg
B=B P/V?® -X}
C=C P/V?-RgX3n

B++B2-4AC
2A

R=—

S=Ry /R

B2 -4AC>0
0.001<S<0.2
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Q=IMAG(V?Y)

=(V2XXSMR2+XPXRM)
A 'R?>+B R+C
PF=cos[ TAN-1(Q/P)]

0.5<PF<0.98

V=1.0064 P=0.40 RS=0.032 X5=0.443 XM=20.15 XR=0.375 RR=0.034
XRM=20.525 XSM=20.573 XP=16.6488

A'=424.073 B'=25.9854 (C'=277.615

A=167.446 B=-395.760 (C=96.1572

R=2.08855 S=0.034/R=0.01628 Q=0.2003

©=0.8942
4) 1 M 80
FF 60 1 MI 80
FF
5 80 01 2 2 1
6)
7)
05
8) DEBUG 24
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154 ML MJ MK
15.3
1? 3[4 s[e[7] 8I9I3I1I2I3I4I5 6 7I8I9I§I1I 2] 3] 4 s[6[7]8]o gI1I2 3[4 e[ 8I9I3I1I2 3[4[s[e]7 8I9I ZI1I2 3[4]5[e]7] 8I9Ig 1]2[3]4]s] [ 7] 8]0 ;I1I2I3I4 EEEEE 3
o\ v feew| ke femel R | x| | R | % v || oA | s '
1 2
ML ——
MJ ——
MK ——
4 5 ZONE MJ
4 13 AREA MK
4 11 BNAME ML
12 15  BASE ML
16 ID ML
17 22 TJ
23 25  Pper
26 29 KL
30 32  PMIN ML
33 37 Rs
38 42  Xs
43 47 Xy
48 52 Ry
53 57  Xg
58 60 VI VI TI
61 64 Tl
65 69 A
70 74 B
80 IM 1
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1) 15.3
> 153 Ml
Ml
>
2)
MVABSE = porestion > Poes
K L

T
Ewms :7J-MVABSE

P P, 23-25

powerflow per

K, 26~29 T, 17~22
3) MB
MJ MK

MB 5 MB
1-2 A2 MB
4~11 A8
12~15 F4.0
18~25 A8
26~29 F4.0
32~39 A8
40~43 F4.0
46~53 A8
54~57 F4.0
60~67 A8
68~71 FA4.0

g o A B W WDNDNDNPEL PR

4)
Ml MJ MK MB
ML Ml ML MB MJ MK

5) ML MJ MK
MVABASE
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6)

7)

8)

F5.4 26~29

F4.4
0001 0.2
MVABASE

jxm '(Rr/S+ jxr)

Ze =Rc+ X+
r=RsT1%s X +R,/S+jX,

. ) A ) \V;
Pt = Re[vt(o) |(0)J = Re Vt(O) Zt(O)
>

P

per

MVABSE = I:)powen‘low

*

t

T
Ewms :EJ-MVABSE

MJ MK
DEBUG 24

153

Sn

S’

30-32

75~79

26-29

2006
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PSD-BPA

15.5
153 Ml 154
ML/MJIMK MI+/ML+/MH/MK+ MI/ML/MJIMK
153 154
MI+/ML+/MH/MK+
1234|5|6|7|B|9I(1)|1|2|3|4|567|8|9I§|1l23|4|5|6|7|89|g|1|234567893123456789(5)1234567892123456789;123456789§
§+ [') RL XL [¢
7
1 3 MI+/ML+/MI+/ MK+
4 5 ZONE M+
4 13 AREA MK+
4 11 BNAME MI+/ML+
12 15 BASE MI+/ML+
16 ID MI+/ML+
17 22 RL pu
23 28 XL pu
29 32 C 10 105
1) MI/ML/MIMK 1-16

2) 17-22 RL 2328 XL
3) 29-32 C 1.0
4)
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P+Q . X

R +'!X —— RgHX AN
> Xs —— v § 1Xm Rr/s

153 154

20-32
ﬁ—c C 1.0-1.05
Y;

Qsc

, —2V2XLi\/(ZVZXL)2—4(RE+XE)((V2+PRL)2+(PXL)2—V402)
) 2R? +X7)
Qsc:Q'—Q

V2
X = —
SC QSC
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15.6 LE

[1 [2 [+
1 2[3]4] s[e[ 7] e[o] o[ 1] 2[ 3] 4] 5 ol of 1] 2 3] 4 5[ €[ 7]8 [ 3[4] 5] e[ 7[ 8] o] o 1] 2 3] 4] 5] 6] 7

=)
=
=)
©
=)
-

L L RD XD Pper | Qper PG QG

A2 1 5.3 F5.3 33| F33 F5.3 F5.3

1-2 A2 LE

4-11 A8

12-15 F4.0

4-5 A2 6-15
6-15 A10 4-5

17 Al

1 2 3
19-23 F5.3 Rp
24-28 F5.3 Xp
32-34 F3.3 1
35-37 F33

38-42 F5.3 MW
43-47 F5.3 Mvar
48-52 F5.3
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220kV

IIIIIIIIIIIIIIIII

IIIIIIIIIIIIIIIII

LE

17

LE

LE

32-37

LE

19-28

LE

38-47
LE

LE

38-47

162

6
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LE 32-37

{PO = PLoad* Pper
Qo = QLoad* Qper

{Pé =P,-AP
Qo =Qo—-AQ

{Pl = Po + Peen
Q: = Qb + Qeen

Puoror = P1 % Puper

{Pz = I:)1 - PMOTOR
Qz = Q1 - QMOTOR

P,
LE 48-52

PSTATIC = Pz
Qsramic = P, x tan[arccos PFac)]

QCOMP = Qz - QSTATIC

MRMC\WMG
LE 17

MRMC\WMG
LE 38-47

2006 6 163



PSD-BPA

MRMC\WMG 3
M PSS
3
LE
16 ID
7
MI\MAMK\MJ 3
LE 17
5
1
LE
16 ID
8 LA\LB\L+ LA\LB\L+
LE 17 LA\LB\L+
9 0.05pu
10 LE LA\LB
MRMCWMG MI\MAMK\ML 3 LE
LE
LE LA\LB\L+ MRMCWMG
MI\MAMK\ML 3
11
12 LS4 LS4 34
LE 17
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13 B
G
14 LE 48-52 -1 01 99999
15 LF
LF 69 LE 17 LF

LE
ML1 2 230.11.86 .50.51 0. 0.123.499.02 .12 .85 0
ML2 2 230.21.86 .50.51 0. 0.123.499.02 .12 .85 0
LE 2 230. 1 0.02 0.05 0.50.5 0.3
LE 2 230. 2 0.02 0.05 0.50.5 0.3
LB1 2 230. 1.0 1.0
LB2 2 230. 1.0 1.0
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16

MOV

|
im—
SCR

Bang-Bang

2006
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PSD-BPA

Vo
+ l
v _’®_’ K TS 1+T;S i+}"3§
1+T,S 1+T,S 1+ TS +T4
y
a v
b
+
Xresco
+
PLO a e
l 7y
Po + K, T,S | | 1+T8 1+ T3S
>)—s16N 1+T,S I+ T,S 1+T,8 1+ TS
Xr1esc-max
X -
N TCSC-d R 1 Xrese
> > - - )
/ @—> 1+STTCSC
Xresc-mi
) X‘Icsc X‘"{CSC
Ftrigger Tr
XTCSC—Force mﬁ»
I
Trorce Xc [Xresd < KT(I_)B|XCO| T
— ! ' N Bypass | Xt1Cs¢-Byvas
*:Tforcedr_ t _>ETBypasi<_
A " ' —> 1
TFmgg TBtrigger
PSS PID
VtO 1
TS ] A
TwS | Kr(1+T;S TCSC
—> 1+TyS 1+ T8 -
Vr Kp
1+TPS
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PID PSS

T It P
XTCSC,max = X TCSC,rated .(I_) K
N

TCSC

MOV

Re =X (0.0745 +0.49¢ 2P —35 07 — 0,607 )

Xe =Xco (o. 1010—0.0057491 , +2.088¢™"**!rv )

I
pu pu 1
I,
L, X o
MOV 098 MOV
MOV
MOV MOV
2006 6
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0 1 2 B |4 | 5 | |7 3
1]2]3]4]s]6] 7] s]olol ]2l 3] 4l 5 6] 7ls] ol o] 1] 23] 4ls) sl 78l o]o] 1] 2l3]4ls] 6] 7ls]olol 1] 2l3] 4l 56l 7] sl ol o] 1l2]3l4]s]6l 7 sl o] ol 1]2] 3] 4] 5] 6] 718l o]0l ]2k 3] 4] 5] 6] 7] 8] o]0
T
F
Rlz| [a] | BUSINAME | BASEI BUS2NAME | BASE2 | 1D Xe Iy Kpg Evov  |Evov/CYC|  Tuax | Teross0] Teross | Tvax crose] Tmax |L
n
G
A2 A8 F4.0 A8 F40 [Al F6.5 F40 | F42 F5.2 F5.3 F5.2 F4.1 F5.1 F5.3 F4.1 |11

33 38
39 42
43 46
47 51
52 56
57 61
62 65
66 70
71 75
76 79

1
2) MOV

3)

4)

N N P -

MOV
MOV

MOV

kv

kv

MJ

MJ/CYCLE
kA

MOV
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5)

16.2

76 79

TCSC

RZ—V

80

76

79

A TSl el Aot e e Ao A e A e e
1 2 —RZ

4 —V

6 13 1

14 17 1 kv

19 26 2

27 30 2 kv

31

33 37 1 T 2 T

38 42 1 Te 2 T,

43 47 1 Tu 2 Ts

48 52 1 T, 2 T,

53 57 1 T, 2 Twm

58 62 1 Ke 2 Ty

63 67 1 Kr 2 Kwm

68 72 a vy

73 78 D

80 1—PID 2— PSS

1) o =1 a o =1.0

2)

TCSC

2006

170




PSD-BPA

RZ—P

0 [+ [2 [3 4 [s B [z 8
1]2[3]4] 5] e[ 7] s[of ol 1] 2 3] 4] s 6] 7] 8] of of 1 2[ 3] 4 5] e] 7[ e[ o[ o] 1 [2[ 3] 4] 5] e[ 7] e o[ of a 2] 3 4] s e[ 7] e[ of o[ 1] 2] 3] [ s el 7] ] of of a[ 2] s 4] 5 e[ 7] e[ o[ o] a 2] 3[ o] s 6] 7] 8] o] 0
Rlz| |p BUSI NAME | BASEL BUS2NAME | BASE2 |iD T/T, T/T, Ty/T, T /T4 T,T, K, /Ty, KKy, K, o r ‘IT:
1 2 —RZ
4 —p
6 13 1
14 17 1 kv
19 26 2
27 30 2 kv
31
33 37 1 T 2 T
38 42 1 Te 2 Tz
43 47 1 Ty 2 Ts
48 52 1 T 2 Ts
53 57 1 Tz 2 Ty
58 62 1 Ko 2 Ty
63 67 1 Ke 2 Ky
68 72 a»
73 78 D
80 1—PID 2— PSS
1) a =1 o vta »=1.0
2) TCSC
3) RZ—C
0 [1 [2 B 4 5 6 [z 8
1] 2] 3] 4] s e[ 7] e[o]of 1] 2f s[ 4] s[e[ 7] ] of of a] 2[ 3] 4] s[e[ 7] ol ] 1 [2[ s] 4] o] e] 7] e of o[ a] [ 3] 4] 5] e] 7] 8] of o] 2] 2] o] 4] sT ] 7] 8] o[ o] u] 2[ 3] 4T o] 6] 7] e] of o] 1] 2] 3 4] s e[ 7[ 8] o] 0
Rrlz| |c] BUSI NAME | BASEI BUS2NAME | BASE2 [ID I B K, Xe Xtesc-min | Xtese-max X, Tresc
A2 A8 F4.0 A8 40 |AI[ | P51 F6.3 F53 6.5 765 6.5 F6.5 753
1 2 —RZ
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4 —C

6 13 1

14 17 1 kv

19 26 2

27 30 2 kv

31

33 37 I A

38 43 i
44 48 Kr

49 54 Xc pu

55 60 Xtcsc-min  pu
61 66 Xtcsc-max  pu
67 72 X, pu

73 77 Trese

1

2) 38 43

3) 49 72

(4 MoV RZ-M

SEEDEGH! 8I9It1>|1I2I3 [3[e[]s sl§|1| EEOEE v|a|9l3 EEEGE 8I9I3I1I2I3 [5[e[ s 9I3|1|z|3|4 BOREE0NEEDEGHEER EELED
1 2 —RZ

4 —M

6 13 1

14 17 1 kv

19 26 2

27 30 2 kv

31

33 37

38 43 MoV Eiin MJ
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44 48 MOV MJ/CYCLE
49 54 KA
55 59 Tinit
60 64 TCIose
65 70 KA
71 75
76 1- 0-
D
2) MoV MOV
3) 59
4) 71
75 71 75
5) 76
5) RZ-B
0 [1 |2 |3 |4 6 g
1 2[3] 4] 5[ 6] 7] s[of o] 1] 2[ 3[ &I 5] el 7] [ ol o <] 2[ 3[ 4] s 6] 7] &l o o] 2 [2[ 3] 4] 5] 6] 78] ol o] ][ 3[ 4] 5] 6] 7[8] ol of 1] 2] 3[ 4] 5] e[ 78] o 9ol o
1 2 —RZ
4 —B
6 13 1
14 17 1 kv
19 26 2
27 30 2 kv
31
33 40 Bref—name
41 44 Vref—base
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D
2)

RZ-V

RZ-V
RZ-V

RZ-L

0 [1 B [3 [4 [s 5 7
1 2[3] 4] 5] 6] 7] s[of o] 1 2[ 3[ 4] 5L 6] [ 8] ol o 1] 2 3[4l 5[ e[ 7] el o] = [2[ 3] 4] sl 6] 7 8] ol o] el 2] 3[ 4] 5[ 6] I 8] of o I 2[ 3[ 4 Bl 6] 7] 8] o] o] 2] 2[ 3] 4] 5] e[ 7[ 8] o[ o] L[] 3
R|Z] |L BUSI NAME BASE1 BUS2 NAME BASE2 |ID Bref-namel Vbasel Bref-name2 Vbase2 I;
A2 A8 F4.0 A8 F4.0 Al A8 F4.0 A8 F4.0 Al

1 2 —RZ

4 —L

S) 1=-0,1,2,....9

6 13 1

14 17 1 kv

19 26 2

27 30 2 kv

31

33 40 Bref-naner

41 44 Vref-baset

46 53 Bref-nanez

54 57 Vret-base2

59 1PAR

1) RZ-P

2) RZ-P

a RZ-F
0 [1 |2 3 4 5 6 7
23 4] 5] el 7] e[ ol o[ 1] 2[ 3[4 sl 6] 7[ 8] o of ] 2] 3[ &I 5] 6] 7T e[ ol o] 2 [2[3[4] [ 6] 78] ol o] 1] 2[ 3[ 4] 5] el 7T e ol o] el 2[ 3 4] 5[ 6] 7 8] ool 1] 2 3[ 4] 5] e[ 7] &[]0
rRlz| |F BUSI NAME | BASEI BUS2NAME | BASE2 [ID| |Teompsran]  Teowr Taverman]  Tover | Toveosson | Toyve
A2 A8 F4.0 A8 F4.0 |Al F5.1 F5.1 F5.1 F5.1 F5.1 F5.1
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PSD-BPA

o B~
N

19
27
31
33
38
46
51
56
61

D
2)

3)
4)

37
42
50
55
60
65

A2
Al
A8

F4.

A8

F4.

Al

F5.
F5.
F5.
F5.
F5.
F5.

R

N N P -

—RZ
—F

kv

kv

90

MOV

2006
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17

17.1

1 2 3 4 5 6 7 8

1[2[3 4|5|6|7|8|9|0|1 2[3[4[5 6|7|8|9|0|1|2|3|4|5|6 7|8|9|0|1|2|3|4|5|6|7 8|9|0|1|2|3|4|5|6|7|8 9|0|1|z|3|4|5|e|7|s|9 O|1|2|3|4|5|6|7|8|9|0 1|2|3|4|5|6|7|8|9|0

s[c

U|H LEVEL1 LEVEL2 LEVEL3 LEVEL4 LEVELS

B|G| DI ] DIC DI (] DIC DI C
U NAME kv VOLT(pu) |E N Y|LOAD| VOLT(pu) |E N Y[LOAD| VOLT(pu) [E N Y|LOAD| VOLT(pu) |E N Y|LOAD| VOLT(pu) |E N Y|LOAD

T|c L C|SHED L C|sHED L c|si L C|sHED L c|sH®

Y|0| A L| (pu) A L| (pu) A L] (pu) A L[ (pu) A L| (pu)

P[D FREQHZ) |Y  E| FREQHZ) |Y  E| FREQHZ) |Y FREQHZ) |Y E FREQHZ) |Y E

E|E s S| S| S| s
1] A8 F4.0 F5.3 F32 | Fa2 F5.3 F32 | F32 | P53 F32 | Fa2 F53 F32 | F32 F5.3 F32 | F32

4-15

16-26
16-20
21-23
24-26

27-37

38-48

49-59

60-70

1)
2)
3)
4)
5)

ga b~ wWwDN

(LEVEL 1)

(PU)

(

)

(H2)
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17.2

(U

+

[t 2 I3 [4 [s 6 7 I8
1] 2[3[4]s[e7]8]of o[ 1] 2] 3[4 5] e[ 7] 8] o o[ 1] 2] 3] 4] 5[ 6] 7[8[of oT1]2[3[4]s[e[7[8] ol o] 2[2] 3] 4] s[ e[ 7] 8ol o] 1[2 3] 4] 56 7] 8] o] o] 1[2] 3[ 4] s[e[ 7] 8] of o[ 12 3[ 4] 56 7[ 8] o]0
DELA DELA DELA DELA DELA
FREQ [Y IN|LOAD| FREQ |Y IN|LOAD| FREQ |Y IN[LOAD| FREQ |[Y IN|LOAD| FREQ |Y IN[LOAD
ul+ NAME KV VOLT [cvcL|sHED| vOLT |cycL|sHED| vOLT |cycL|sHED| voLT |cvcL|sHED| vOLT |cycL|SHED
E E E E E
LEVEL 6 LEVEL 7 LEVEL 8 LEVEL 9 LEVEL 10
A2 A8 F4.0 F5.3 | F30 | F33 F53 | F3.0 | F33 F53 | F30 ] F33 F5.3 | F30 | F33 F5.3 | F30 | F33

1—2
4—15
16—26

6

16—20
21—23
24—26

FREQ/VOLT
Delay in Cycle

Load Shed

27(—37 38—48 49—59 60—70

1)

2)

7—10

2006 6
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17.3

( MW )

1 2 3 4 5 6 7 8
1]2[3 4|5|6|7|8|9|0|1 2[3[4]5 6|7|8|9I0|1|2|3|4|5|6|7 8|9|0|1|2|3|4|5|6|7|8|9 0|1|2|3|4|5|6|7|8|9I0|1 2|3|4|5|6|7|8|9|0|1|2|3 4|5|6|7|8|9|0|1|2|3|4|5 6[7[8]9]0
s|c]
U[H LEVELL LEVEL2 LEVEL3 LEVEL4 LEVELS
B[G voLT [p1 ¢ voLT [p1c voT [p 1 ¢ voLT [p1 ¢ voLT [D 1 ¢
u NAME kv (u) |[ENY| LOAD (u) |[ENY| LOAD (u) [ENY| LOAD (u) [ENY| LOAD (u) [ENY| LOAD Wi
T|c L ¢| sHD L c| sHD L c| sHD L c| sHD L c| sH>
v|o) A L Mw) AL Mw) A L Mw) AL Mw) AL (Mw)
P|D| FREQ |Y E FREQ |Y E FREQ |Y E FREQ |Y E FREQ Y E
E|E (H2) S| (H2) S (H2) S (H2) S| (H2) S
u A8 F40 | Fa2 | Fal | F50 | F42 | P31 | F50 F42_| F31 | F50 Fa2_| Fal |  F50 F12_ | F31 | F50

4-15
16-27

16-19
20-22
23-27

28-39
40-51
52-63
64-75
80

1)
2)

3)

U

FC ) v )

(LEVEL 1)
(pu)
()

MW

(Hz)

ga b~ wWwN

MW

MW
(Mvar)

Q

=P /P )Q

2006
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17.4

(U+

MW

)

[ 2 = 4 [5 [6 K 8
1] 2[3[4]s[e[7]8]of o[ 1] 2] 3[4 s] e[ 7] 8] o] o[ 1] 2] 3[a[ 5T e 7[8[of oT1]2[ 3] 4] s[e] 78] o] ol 22 3] 4] sTe] 78] ol o] 1] 2 3[ 4] 5] 6] 7] 8] ol o] 1[2] 3] 4] 56 7] 8] of o] 12 3[ 4] 5] 6] 7[ 8] o]0
DELA DELA DELA DELA DELA
FREQ | Y IN| LOAD FREQ [Y IN| LOAD | FREQ | Y IN| LOAD | FREQ [Y IN| LOAD | FREQ |Y IN| LOAD
ul+ NAME KV VOLT |cycL| SHED VOLT |cvcL| SHED | voLT |cvcL| sHED | voLT [cvcL| sHED | voLT |cvcL| SHED
E E E E E
LEVEL 6 LEVEL 7 LEVEL 8 LEVEL 9 LEVEL 10
A2 A8 F4.0 Fa2 | F30 | F50 Fa2 | F30| F50 F42 | F30 [ F50 Fa2 | F30 | F50 Fa2 | F30 | F50 A1

1—2

4—15

16—27
16—19

6

20—22
23—27

80

W

Freq/ Volt
Delay in Cycle
Load Shed
28—39 40—51 52—63 64—75

MW

Hz

MW

7—10

pu
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PSD-BPA

17.5

1 2 3 4 5 6 7 B
1]2[3]4]s[6] 7[8] o] o[ 1] 2[3[4] 5] 6 [7[8] 9] o[ 1] 2[ 3[ 4] 5[ 6] 7[ 8] o] o] 1[ 2[ 3[ 4] 5] 6] 7[ 8] o[ o] 1] 2[ 3] [ 5] 6] 7[ 8] o[ o[ 1] 2[ 3[ 4] 5[ 6] 7[ 8] o] o[ 1 2[ 3] 4] 5] 6] 7[ 8] o[ o] 1] 2[ 3] 4 5] 6] 7[ 8] o ©
LEVELL LEVEL2 LEVEL3 LEVEL4
F s

ulv NAME kv E FREQ | & | FREQ | & | x FREQ | « FREQ |
D n| vour | w o |woap| volT | w | o |LOAD w LOAD| SHED | w LOAD| SHED | w LOAD
T s |a [SHED s |a [SHED s SHED s SHED = SHED

- - - - -
U AB F4.0 F5.3 | F30 [F20[ F33 | F53 | F3.0 [F2.0] F33 F30 [F20 F33 | F53 | F3.0 [F2.0 F3.0 | Fa2 | F3.0 |F2.0| F33

4-15

4-15

14-15 (4-13

4-13 (14-15

4-8 TOTAL(9-15
16 SHUNT =
=S

17-29 :
17-21 Frgeq/ Volt (Hz)

22-24 Timer ()

25-26 PCB
27-29 Load Shed
30-42
43-55
56-68
69-80

CASE 23 I

(pu)
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PSD-BPA

17.6

U+

[ I2 3 4 [5 [6 Iz B
1] 2] 3[4]s[e]7]8]of o[ 1] 2] 3[4 5] 6 [7[8] ol o 1[2[ 3] 4] 5[ 6] 78] o] o[ 1] 2] 3[4]sT e[ 7] 8] o] o[ 1]2]3[4[s[ 6] 7] 8] ol o] 1] 2] 3[4 5]l 7[8] ol o 1] 2] 3] 4] 5] 6] 7T 8] ol o 1] 2] 3T 4] 5] 6] 7] 8] 9] 0
s
H| FREQ LOAD| FREQ LOAD| FREQ LOAD| FREQ LOAD| FREQ LOAD
ul+ NAME kv |u|l vour [M™MERPCE| guen| vorr  [TMERPCB|suep| vort [MMERPCE spep| vort |"MERPCE| shep| voit |TMERPCE| shep
N
T LEVEL 6 LEVEL 7 LEVEL 8 LEVEL 9 LEVEL 10
A2 A8 F40 |al  Fs3 [ F30 [r20] F33 F53 | F30 [F20] F33 F53 | F30 [F20[ F33 F5.3 | F30 [F20] F33 | Fa2 [ F30 [F20] F33

4—15
4—15
14—15
4—13
4—8
16 SHUNT
S
17—29 6

17—21 Freq/ Volt
22— 24 Timer
25—26 PCB

27—29 Load Shed
30—42 43—55 56—68 69—80

TOTAL

4—13
14—15
9—15

7—10
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PSD-BPA

17.7 UuT
[1 2 3 [4 [s 6 7 8

EElEGEEEEREEEEEEEEENEEEEEECREE BB EEEEEEEGEHEE IR EEEEE N EE RN E B HEERREENBBHEED
orl |||l v i vt o 7 o 5
A2 A8 F4.0 Al 11 12 F5.3 3.0 F5.3 F5.3 F5.3 [F2.q F5.3
1—2 uT
4—15

4-15

14-15 (4-13 )

4-13 (24-15 )

4-8 TOTAL(9-15 )
17 VF V F V
F
19 Ul 1
20 u2 2
21 U3 3
22 U4 4
23 U5 5
24 U6 6
25 u7 7
26 us 8
27 U9 9
28—29 uUl10 10
30—34 V Fbegin pu Hz
35—37 Thegin
38—42 VFblock pu Hz
43—A47 V Fdeblock pu Hz
V Fblock
48—52 DFDVDT _block DV/DT
DF/DT pu/s Hz/s

53—54 DT
55—59 VFDVDT_VFdeblock

pu Hz VFbegin
1) 17.1-17.6 UF UV

ubD
2) 17 V F Vv
F

3) 19-29 Uuv UF
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4)

5)

6)

7)

8)

30-37

30-34
35-37
38-47

38-42
43-47

38-42
48-59

53-54
T-DT
dv/dt=[v(t)-v(0)]/t

UV\UF

30-34
35-37

38-42 0

48-52

30-34 VFbegin 48-52

DT
dv/dt=[v()-v(t-dt)]/dt t-edt<0

30-34

43-47

55-59

2006

6
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PSD-BPA

18

18.1 (RB )

B [z

1 2 3 4 5 8
1 2] 3 4] 5[] 7[ 8] o] o] 1] 2[ [ a 5] 6] 7] el o] o] 1] 2] 3[ 4] 5[ 6] 7[ 8] o] o[ 2] 2 3[ a[ 5] 6] 7[ 8] o] o] 1] 2] 3[ 4] 5] 6] 7[ 8] o] o[ ] 2 [ [ 5] e[ 7[ e[ o] o] 1] 2[ 3[ 4] [ 6] 7] 8] o[ o] ] 2[ 3] a] 5] [ 7] e[ o] o

RESI STANCE BRAKE

Bus1 Bus2 | Bus3
o2 |
I Measured power
Generator |
P
G= Brake
3
STw X V, =1.0p.u.
1+ST,,
1-2 RB
7-18 NAME1 kV1 1 ( )
20-31 NAME2 kV2 2
32 PAR
34-45 NAME3 kV3
46 ID
47-51 PBRAKE (MW) (kV3)
52-56 PDROP P> (MW)
57-60 VDROP 2 (pu)
61-63 TW (Washout) 01 )
()
64-67 TMAX ()
68-71 TMIN ()
72-75 TINSRT
76-80 PBIAS
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18.2 (RC )
1 2 B 4 [s [s [z [s
B R o = I R s e R B DR e
Bus4 BusS
| T |
I yMeasured power acc power est I
/ power speed est
Alternatel —ST, Py N 1 v
1+5T, D'+ SM e HZ'
TRANSPUCER Y = % pu pwr
Alternate2 1 S dt  sec
1+ST, 1+8T,
1-2 RC
7-18 NAME4 kV4 BUA ( )( NAMEL1L
kvl )
20-31 NAMES kV5 BUSS ( NAME2 kV2
)
32 PAR
34-45 NAME3 kV3
46 ID
47-50 T,
M Bus4
M =2* Epyws /( *50) pu.Sec/radian.Hz
Emws
51-54 T, ()
D' 4
D'=(D )( MW)/( *50)
D
55-58 T3 ()
59-62 TDISC ()
63-67 FDISC (H2)
68-72  FINS (Hz) 10"
73-76 TBLOCK RC ()
77-80 PCBIAS Pss (MW)
2006 6
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18.3
(1
1)
RB
RB
(NAMES3, kV3) (PBRAKE) (NAME2
kV2) (VDROP) (NAME1 kV1) (NAME2 kV2)
(PDROP) (TINSRT)
VDROP 10%
PDROP 10 RB
TMAX TMIN
(NAME1, kV1) (NAME2, kV2) (PBIAS)
(NAMES3, kV3)
ID RB
TW (NAME1 kV1) (NAME2 kV?2)
(Reset time contant) TW TW
RC
RB
FINS
10%° RC
2)
RC
(FDISC)
TBLOCK (NAME3 kV) RC
TDISC
TMAX
(NAME4,kV4) (NAMES5,KV5)
Chief Joseph
RC
RC
(PCBIAS) RC (NAME4, kv4) (NAMES, kV5)
Chief Joseph
800MW RB RC
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(RB RC
1) 5 RB 5 RC
2) RB
3) RB RC
4)

RC

TMIN TINSRT RDISC TBLOCK

5)

T™W TMAX PBRAKE T2
6) VDROP PDROP
7) PDROP VDROP FINS

©)

1)
X > PDROP>0
V,<VDROP
PLo> PBIAS )
Pss> PBIAS* ( )
2)
PLo> PBIAS )
Pss> PBIAS ( )
F>FINS
* RC
(4)
1) t>Tuax
2) ( Tmax)
F<FDISC t>TBLOCK
Y <FDISC t>TBLOCK

©)

M

Paxc <0

RB
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19

RA

0 [1 |2 3 4 [5 [s |

1] 2| 3] 4] 5] 6] 7] 8] 9]of 1| 2] 3] 4] 5] 6] 7[ 8] o] ol 1] 2] 3] 4[5 6] 7|8 9] o] 1[2]3]4]5| 6] 7| 8] o] o] 12| 3] 4] 5[ 6] 78] o 0] 1]2[3]4]5|6] 78] of o 1] 2] 3] 4]5] 6] 7]8]9fo] 1] 2|3
RA BUSL BASL BUS BAS2 |ID| CBUSL CBSEL | Vim1 | T1 CBUS? CBSE2 | Viim2 | T2

A2 A8 F4.0 A8 F4.0 [i1] 8 0 | R4 | RL A8 0 | R4 | R

1-2
4-11
12-15
17-24
25-28
29
32-39
40-43
44-47
48-51
53-60
61-64
65-68
69-72

RA

NN DN PP P

NNMNNNEFE PP PP

pu

pu

200

2006

6
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20 UL
[ 2 3 4 [5 [6 [7 E
1[2[3]4]s[6]7[8]o] o[ 1]2[3[4]5[6]7]8]o[0]1]2[3[4]5]6[7[8] o[ o[1]2[3]4]5]6] 7[8] o]0 1] 2[ 3] 4] 5[ 6] 7] 8] o] o] 1] 2] 3[ [ 5] 6 7[ 8] o[ o] 1] 2[ 3] 4] 5] 6] 7[ 8] o] o] 1] 2[ 3] 4] 5[ 6] 7] 8] o] 0
1-2 UL
4-15 NAME kV
18-19 N
21-24 (kV)
26-29 Vi (Vo )
31-34  V, ( Vo )
36-39 T ()
41-44 T,
69-80 NAMER KVR
1) )
2)
A V,<V L(pu) T
* " TkVR '
B V. <V, (pu) T 2
R T2 R ’
3) (Mvar) B )
4)
2006 6
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VC

1 B I3 [4 [5 [6 [z I8
1]2[3[4]s[ e[ 7[8] ol o[ 1] 2[ 3[4 5] 6] 7] 8] o] o] 1] 2[ 3] 4] 5[ 6] 7[ 8] 9l o[ 1] 2] 3[4 5] 6] 7[ 8] o] o] a] 2] 3] 4] 5[ 6] 7[ 8] o[ o[ 1] 2] 3] 4] 5] 6] 7] 8] o] o[ a] 2] 3] 4] 5] 6] 7[ 8] o] o] 1] 2] 3] 4] 5] 6] 7] 8] o] 0
v|c] NAME KV \ Va T T2 Ve NAME C KV C
A2 A8 F4.0 F53 F5.3 F5.3 F5.3 F5.3 A8 F4.2

4—15

17—21
22—26
27—31
32—36
64—68
69—80

vVC

Vi pu

V2 pu

T1

T

Vg pu Vg

V<Vg-V1

V>Ve+V)o

T1
T2

T1
T2

Vg

2006 6
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22 LI

| [2 I3 4 [s B 7 I8
4s[e[7]8]ofo[1]2]3]4]s]6]7]8olof1]2]3[4ls[e6[7[8]ofof1[2]3]4]s]6]7]8] oo 1]2[3]4]s[e6[7]8[ofof1[2]3[4]s[6]7]8]olof1]2]3]4s[6[7]8[ofol12]34]5[6[7]8]9]0

1]2)3
Lf! NAME KV Ap AQ AT TEND
A2 A8 F4.0 F6.2 F6.2 F5.1 F5.1 A

4—15
4—15
1415 4—13
4—13 1415
4—8 TOTAL 915
17—22 AP AT
2328 AQ AT
2933 AT AP AQ 60

34—38 TenD
40 w MW  Mvar

F>1 A

AP

Po =

>t
AT Tenp ¢)
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LF/LFT

1]2]s 4I5I6I7I8I9Iéll 2[3]4]s[6 7I8I9I3I1 2[3]4s[6 7I8I9I3I1 2[3]4[s[6 7I8I9I3I1 2[3]4s[6 7I8I9Igll 2[3[4]s]6 7I8I9Igll 2]3]4s[e[7[8]0 ; 1I2I3I4I5I6I7I8I9I§
e NAME KV ap, I do, ap, 8, b, ap, I b, Tew
1—2 LF
4—15
4—15
14—15 4—13
4—13 14—15
4—8 TOTAL 9—15
17—61 AP1 AP3 wl w3
AQlL AQ3 wl w3
wl w3 / w 2rf
63 67 TEND
69 LEID (LE )
70 \W MW  Mvar
P PO ZAPSnwi i=1 2 3
LF 0 TEND
LFT
LFT
1]2]3[4] 5]8]7| s|9l(1)|1|z|3|4|5 6 7|s|9l§|1 2|3]4]5]86]7[8]9 g 1]2]3]4]5] 6 7|8|9Ig|1 2|3]4]5]6 7|s|9l §|1 2|3]4]5]6]7]8] 9] o[ 1]2]3]4]5] 6]7]8]9 ; 1]2]3]4]5]8] 7 8] 9
LFT Tor | Tendl To2 | Tend2 T03 Tend3
1-3 LFT
4-15 LF
17-21 LF 17-31 1 TO1
22-26 LF 17-31 1 Tendl
32-36 LF 32-46 2 T02
37-41 LF 32-46 2 Tend2
47-51 LF 47-61 3 T03
52-56 LF 47-61 3 Tend3
2006 6
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LF 4-15 LFT
@ °
LF 6367  TEND TEND
3) LF TEND
TEND TEND
@ LF
(5
P=Py+Y Rsin(w - (t-Ty)) =123
6) LALFT LALLB
(7) LALFT

2006 6 193
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24

TC

1 [2 3 [4 [5 [6 [7 [8
1] 2]3[4]s[ e[ 7] 8] ol o] 1] 2] 3[4l 5] 6] 7] 8] ol o[ 1] 2[ 3] 4] 5[ 6] 7[ 8] 9] 0 [1]2[3[ 4] 5[ 6] 7[8] 9l o] 1] 2] 3[4]5]6] 7] 8] oo 1] 2[ 3] 4] 5[ 6] 78] 9] o[ 1] 23] 4] 5] 6] 7] 8] o]0 1] 2] 3] 4]5]6] 7] 8] o]0
T[] NAME 1 KV 1 NAME 2 KV 2 D \ A T T Ve NAME C KV C
A2 A8 F4.0 A8 F4.0 Al F5.3 F5.3 F5.3 F5.3 F5.3 A8 F4.2

4—28
30
31—36
37—41
42—A46
47—51
64—68
69—80

TC

ID
V1
Vo
T1
T2
Vg

V<Vg-V;

V>Vg+V2

pu
pu

pu Vs

Vg

T1
T2

T1
T2

2006 6
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PSD-BPA

25 CF-1
1 ;3 4|5|6|7|8|9|;|1 2[3[4]5 e|7|s|9|§ 1[2[3]4]s[6] 7[8[9] o[ 1] 2[3[4]5]6[7]8 9|g|1|2|3|4 5|e|7|s|9|2 1[2[3]4]s]6 7|8|9|g|1|2 3[4[s[e[7[8 9|;|1|2|3|4 5|e|7|s|9|$
RB NAME kv FRELAY | TLEVER | BKRDLY |  PSHED1 QSHEDL PSHED2 QSHED2 PSHED3 QSHED3 PSHEDA4 QSHED4
T (kv) H2) | (se0) |Cvop|  (Mw) (MVAR) Mw) (MVAR) (MW) (MVAR) Mw) (MVAR)
1 R
2 S
3
415  NAMEKV (kV)
16-20
21-24  FRELAY (Hz)
2528  TLEVER ()
20-32  BKRDLY ()
33-44 PSHED1 QSHED1 (MW Mvar)
45-56 PSHED2 QSHED?2 (MW Mvar)
57-68  PSHED3 QSHED3 (MW  Mvar)
69-80 PSHED3 QSHED3 (MW Mvar)
CF-1
® FRELAY @ TLEVER
FRELAY TLEVER
RS1 VIVo
RS-2
CF-1
(CF-1)
f - K X .
S Trip
A
2006 6
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X2

1)
2)

K

TLEVER

(TLEVER)

K =1/(2.3+0.125(f-49))

N =l e
T e e e s S A e
15 - oo R e R EEEE R

THAE LEVEL !
1d —------ X i CToTTo 1T o T P it 1T '
13 - r—-------i-------i- ---------------------------------------
iz 12 -. ------- r -------------- R - -
29.] 5_____: _______ :. ______________ S demem oo

oo o
ﬁ 10 --------- 4----4-------:- ---------------------------------------
?[-:j_ 9 I D Ir ______________ B A I [
b (V28 S N A U SRR R N S

by 8 5 5
[’Eﬂ T =" :" - "““"""‘":L ““““““““““““““““““““““
6 _-__-__:- - = - : - l__-_ﬂ__-__-_lr _______________________________________

R ! 172 :
B 5 =------ i ----- i -------------i— -------------------------------------
4 - NN i i REE R doeee-
3 oo E-___ . e S S
2 L : """" ':' ':' o e e e T a======"
o SN Sy —— S
0 | | ! } —t |
8] 1 2 3 4 5] 5 7 3 9 10

THEREH THEETIE Hz
RS-2
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26 /
1 2 [3 4 [s 6 [7 8
1] 2[3[4] 5] e[ 7[ 8] o[ o] 1] 2[ 3] 4] 5] 6] 7[ 8] o] o[ 2] 2 3[ 4] 5 6] 7] 8] o] o] 1] 2[ 3] 4] 5] 6] 7] 8] o] o[ 2] 2] 3[ 4] 5 6] 7] 8] of o] [ 2[ 3] 4] 5] 6] 7[ 8] o[ 0[ 2] 2[ 3[ 4] 5 6] 7] 8] of o] ] 2[ 3] 4] 5] 6] [ 8] o] ©
R E NAME (l:{\‘ll) ||3 GTSE)Ql ?(I:DYE(I:_LAE\; GTS;QZ (B(I;R(?LLEY) HGFREQ1 | HRDELAY | HGFREQ2
1 R
2 M
3
416  NAME kV ID (kV)
17-20
21-25 GFREQ1 (H2)
26-30 RDELAY GFREQ1 ()
31-35  GFREQ2 (H2)
36-40 BKRDLY ()
51-55  HGFREQL (Hz)
56-60 HRDELAY HGFREQ1 ()
61-65 HGFREQ2 (H2)
D)
) GFREQ1
RDELAY
GFREQ2
3
HGFREQ1 HRDELAY
HGFREQ?2
(4) BKRDLY
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27

1 2 [3 4 5 6 7 [8

1[2] 3]4[s]e[7[8] 9] 0] 1[2[3[4]5]6[ 7] 8]0 [o] 1]2[ 3[4] 5[6] 7[8] o] o[ 1] 2] 3[4] 5] e[ 7] 8] o] o] 1] 2[ 3[ 4] 5[ 6] 7[8] o] o] 1] 2[ 3] [ 5] 6] 7 8] 9] o] 1 2[ 3[4] 5] 6 7] 8] o] o] 1] 2[ 3[ 4] 5[ 6] 7[ 8] o] 0

s|c c

uiH N c TRANF
RIZ S NAMEL wi [0 Name2 w2 |k| | FRP | TRELY | TRP TRP

vlo R T (H2) ©¥o) ©vo DELAY

P|D | ! (cvo)

E|E P D
R[U A8 F40 A8 F40 F5.1 F52 F55 F52

3-6
7-18
19
20-31
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34-38
39-43
44-48
49-73
74-78
79-80

FTRIP
TRELY

TRIP
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FTRIP(H2)
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1 2 [3 7 [s
1[2[3]4]s] 6] 7] 8] of o] 1] 2[ 3] a[ 5] 6] 7] 8] o[ o] ] 2] 3[ 4l 5 e[ 7] 8] o] o 1] 2 [ 3] a 5] 6] 7] 8] o o] 1] 2 3] ] 5] 6] 7] 8] o[ o] 1] 2 3[ 4] 5] 6 7] 8] o] o] ] 2] 3] 4 [ 5] 6] 7] 8] of o] 1] 2] 3[ 4] 5 6] 7] 8] o] 0
sc cls
ulH K|E| GAP | REINSERT | REINSERT | NUMBER | IF Gap Arc TRANSFER
B|g T|c| FRING |CURRENT| TIME oF persists B TRIP
R NAMEL Kv1 NAME2 Kv2 T| CORRENT | (pu) DELAY | RELAY | shunting or TIME
T|c ] e CYCLES sw L DELAY
vlo o] ATTEMPTS| dlosesin CYCLES
P|D| N (Cydles)
gl
RrlG A8 F4.0 A8 Fa0 |alln]  Fs2 F5.2 F5.2 5 F5.2 adl F5.2

3-6
7-18
19
20-31
32

33
34-38
39-43
44-48
49-53
54-58
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74-78
79-80

1 15-18

2 28-31
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()
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1 2 B 4 5 6 7 8
1[2[3[4] 5] e[ 7] 8] o o] 1 2] 3] 4 5] 6] 7 8] o] o[ 1] 2[ 3[ 4] 5[ 6] 7] 8 o] o] 1] 2 [ 3] a[ 5 6] 7 8] of o 1] 2[ 3] 4] 5[ 6] 7[ 8] o] o] 1] 2[ 3] 4] 5[ 6] 7[ 8] o] o 1] 2[ 3 4 [ 5[ 6] [ 8] o] o 1] 2[ 3[ 4] 5[ 6] [ & o] ©
sc cld
ulH c K|g
B|g D ¢
R NAMEL kvi [0 NAME2 Kv2 T ZONE T ZONE B
T|c N 1 TRANS
v|o) (T) blo TRIP
p|D T N| CENTER | ANGLE |DIAMETER| TRIP | CENTER | ANGLE |DIAMETER| TRIP TIME
E|g R cr Ar Zr TIME Ce As Z TIME | DELAY
I (v |(Ecrees| (u [(cvcies| (v |©OEcrees)| () | (cvoLes) | (cveoLEs)
P
R A8 F20 |A] A8 r20 |alil Fss F5.2 F55 F5.2 F55 F5.2 F55 F52 F5.2

Impedance Relaying

Relaying Location
at Origin

3-6
7-18 1 15-18 1
19 “Cr
20-31 2 28-31 2
32
33
34-38 Cr( )
39-43 Ar( )
44-48 Z+( )
49-53 ()
54-58 Ca( )
59-63 As( )
64-68 Zs( )
69-73 ()
74-78 ()
79-80
ZT CT ZB CB Z
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1)

2) Zr Z( )

3) Zr Cr( )

4) Zr ()

5) 1(Key No.1) Zg

5a) ()

6) Zr 5

6a) ()

7 2 Zr z

8a) Zs ( )

8b) Zg Ca( ) Ag( )
8C) Zg-Zr () z  Z
9) 3
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(RL

)

1 2 3 [4 B B [7 B
1[2[ 3] 4] s] e] 7] 8] o[ o] 1] 2[ 3[ 4[ 5] 6] 7 8] o[ o] 1] 2[ 3[ 4] 5[ ] 7[ 8] o[ o 1] 2 3[ 4] 5] 6] 7[ e[ o] o] 1 2] 3[4 5] 6] 7] 8] o[ o [ 2] 3[ 4] 5] e] 7 &[ o[ o] ] 2[ 3] 4] 5[ ] 7[ 8] o[ o] ] 2[ 3[ 4] 5 6] 7[ 8 o] 0
R|L RDELAY | TRCLSE

(cvcLg) | (cveLg
R|L F5.2 F5.2

39

10-14
15-19
20-80

30.2

RDELAY
TRCLSE

X

(RLV

)

1 2 3 4 5 6 7 8

1[2[3]4[s] 6] 78] o[ o] 1] 2[ 3[ 4] 5 6] 7[ 8] of o] 1[ 2] 3[ 4] 5] 6] 7] 8] o] o] 1] 2] 3[ 4 5] 6] 7 8] o o] 1] 2[ 3] 4] 5[ 6] 7 8] o[ o 1] 2 3[ 4] 5 6 7] 8] o] o] 1] 2[ 3 4 [ 5] 6] 7] 8] o] o] [ 2] 3[ 4] 5 6] 7] 8 o] 0
R[L| |V CKRA kvi kv2 CKRB kv3 kv CKRC kvs kv6 CKRD kv7 kv8
(ND) (kv) (kv) (ND) (k) (kv) (ND) (kv) (kv) (ND) (kv) (kv)
RlL[ [V F5.4 F5.0 F5.0 F5.4 F5.0 F5.0 F5.4 F5.0 F5.0 F5.4 F5.0 F5.0

A WN PP

59
10-14
15-24

25-69
70-80

)

CKRA
kvl kV2 CKRA

(

kv2

CKRA

CKRA kV1 kV2

(kV)

kV1)

2006 6

202




PSD-BPA

30.3 (RLD )

1 [2 [3 4 [s [6 7
1]2[3]4]s[6[7[8] o[ o] 1]2[3[ 4] 5] 6] 7] 8] o[ 1[2] 3[4] 5[ 6] 7[ 8] o] o[ 1] 2[ 3] 4[5] 6] 7[8] o] o[ 2] 2[ 3[4] 5[ 6] 7[ 8] o] o[ 1] 2[ 3] 4] 5[ 6] 7[8] o[ o] 1] 2] 3] 4 [5[ 6] 7[ 8] o[ o] 1[2] 3[ 4] 5[ 6] 7] 8] o] ©
R[L| |D NAMEL KL NAME2 Kv2 NAME3 K3 NAME4 Kva
R[L] |p A8 F4.0 A8 F4.0 A8 F40 A8 F4.0

RL-D ()

D
10-34 NAME1 kvl NAME2 kV2-

40-64 10-34
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1
2) R-X
3) R
4)
i)

i)  220kV
i) 220kV

5)

6)

7)

8)
i)
i)
iii) (LS )
iv)

Vi 61

60°

85% 125%

75°

AN

l RL=K1XL

K R, /X,

0 =75°
A =FX_ cost=aX,
B=FX, sind=bX,
F
=2F-X, =
2F=0.85

AX

(AB)

V;U
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2F=1.25

Vij Vij . .
Z=T= vV V. (KX +jX ) =aX +]BX,

1 ! ]

(aX, =A) +(BX_ -B)* < (FX,)*
:OLZ+B2—20LA—2BBSO

R, /X, BPA
R, /X,
(kv) R /X,
13.8 05
16.5 05
18.0 05
69.0 05
115.0 0.31
132.0 0.25
230.0 0.125
280.0 0.125
345.0 0.095
500 0.05
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1 2 I3 [a [5 6 7 [
1[ 2[3[ 4] s[6[ 7] 8] o] o] 1] 2] 3[ 4] [ 6] 7] 8] o] o] [ 2] [ ] 5 e] 7[ 8] of o 1] 2[ 3[ a[ s 6] 7] 8] o] o 1] 2[ 3] a] [ 6] [ 8 o] o] 1] 2] [ 4] [ 6] 7] 8] o o 1] 2 3] 4 [ 5] 6] 7[ 8] o[ o[ 1] 2 3] 4] 5[ 6] 7[ 8] o]
Rs RMAX | RATE BIAS | POWER | TIME T T

E N o RMAX(@3 | RMIN@) | SETTING | SETTING | LEVEL |CONSTANT| Te(® | (CYCLES)

N = clg| Mwisec) | (mwisec) | (Mwise) | (Mw) Mw) (SEC) | (cYCLES)

A NAMEL Wi |- NAME2 w2 |[klcl
H|Y 2 T|T

T S 11

Y 1 D|O|

P © N

E
Rl 1 A8 F4.0 A8 F20 |afill  Fs0 F5.0 F50 F50 F5.0 F5.2 F5.1 F5.2

is v SetBlock=1
P, : €S |andholdfor
‘H>RB >
T, cycles
No
SetBlock=0
Tie line
power,P P
Ll

> S

. / R| 1 |Rr T, cycles
0 ]

RMIN

RELAY
BLOCKING

if Block=1

1 |Q Q=0
1+sT.| | ifBlock=0

Q=Q

w0~
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1 R
2 (1)
3-6
7-18 1
19 “C
20-31 2
32
33
3438 Rs (MW/ )
39-43  Ruax MW/ )
44-48  Rs (MW/ )
49-53 1 2
1 2
54-58  Ps (MW)
59-63  Tc ()
64-68 Tp ()
69-73
74-78 ()
79-80
1) 0"
o
2)
R=(FR -F)/At
P,
P>
P1
At
3 |F
P At
B[>Rs  TIM2=TD B|<Rs TIM=TIMy-A't
RB TD
TIM1
TIM2
4)
a) 1
b) TIM2
5) 4)
6)
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1 2 I3 [a [s 6 7 [s
1] 2[3[ 4] s[ 6] 7[ 8] o] o[ 1] 2[ 3] a] 5[ 6] 7] 8] o] o] [ 2] 3[ a] 5] 6] 7] e[ o] o] 1] 2] 3[ 4] 5[ 6] 7] 8] o] o[ 1] 2[ 3] a] 5[ 6] 7[ 8] o[ o] 1] 2 3] a] 5 6] 7] 8] o[ o 1] 2] 3] 4] 5] e] 7] 8] o] o 2] 3[ 4] 5] 6] 7] & o]
R
E o S
L E C|E] Rs RMAX RATE BIAS POWER TIME To Tu THANSION
A - KISl rRMAX(@3) | RMING) | SETTING | SETTING | LEVEL |cONSTANT| T3 | (cvoLes)| THIP
i = TT (MWISEC) | (MwisEC) | (MwisEC) | (Mw) (MW) (sE0) | (cvcLES) DELAY
v NAMEL i3 NAME2 w2 [plo (CYCLE)
H| P © N
E
R[ 2 A8 F4.0 A8 Fa0_|adil Fs0 F5.0 F5.0 F5.0 F5.0 F5.2 F5.2 F5.2 F5.2
BLOCKING
if [P[> R,
P'=0 for R vax
Tie IlnPe . T, cycles 5 — R 1 R
ower, ) ' '
poverP | o R Cber LB . L
[ <R, R
) , .
P'=P +
after R MIN
T, cycles
+
1
1+sT
c
(3 )P . 1 P
Ps Q
B
BIAS
TRIP Yes
RELAY
No
DO NOT
TRIP RELAY

3-6
7-18
19
20-31
32

33
34-38
39-43
44-48
49-53

54-58

1
“ Cn

Rs
Rmax
Rs

Ps

2

MW/ )
MW/ )
MW/ )

(MW)
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59-63 Tc
64-73
74-78
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1) TIM2
2)
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)
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2006 6

209



PSD-BPA
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[t 2 E [4 5 [6 [7 [8
1]2[3[4]5[6]7]8][ 9] o[1]2[3[4 o[o]1]2[3[4]s[e[7]8]o[ o[ ] 2[3[4]5] 6] 7[ 8] o] o] 1[2[ 3[4] 5] 6] 7] 8] o[ o] 1[2] 3[4 5] 6] 7] 8] o[ o] 1] 2] 3] 4]5[ 6] 7] 8] o[ o] 1[2] 3[4 5] 6] 7] 8] o]
A <|e| s | mans | s | s | em o] T | oae || e
¥ = TIT (MW/SEC) | (MwWisEC) | (MWisEQ) | (Mw) Mw) (SEQ) (CYCLES) DELAY
v NAMEL 9 NAME2 kv2 blo (CYCcLE)
Tie line Ruax
power,P R 1 R’ 1
oy | / - R_S 1+sT,
DO NOT
Ry TRIP RELAY
Has P’ been> Have both inputs
during the last > "uously during the RELAY
T, cycles last T,, cycles?
i No i No
DO NOT DO NOT
TRIP RELAY TRIP RELAY
1
2 3)
3-6
7-18
19 i
20-31
32
33
3438 Ruax (MW/ )
39-43 Rmin MW/ )
44-48 R MW/ )
49-53
54-58  Ps (MW)
59-63  Tc ()
64-68  Te ()
69-73 Th
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2006

210




PSD-BPA

79-80
1
) |Rl21 Pl<1 At
P|>=1 TIM2=T,
Pl<1 TIM2=TIM1-At
P, P P 3
TIM1 TIM2
T, At
2) TAUX2 At
TAUX2
a) 1
b) TIM2
3) TAUX2
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w
N

1 2 3 4 5 6 7 8
1]2[3]4|5|6 7‘8 olo]1]2|3[4]5]6 7|s 9 o|1 2|3 4]5|6[7]8]9 0|1 2|3 4‘5‘6 718 9|0 1f2[3 4‘5|6 7|3 9|0|1|2 3[4|5]|6[7[8 9|o 1 3|4|5|6|7|8|9|O|1‘2|3|4|5|6|7‘8|9|0
s|c CONTROLLING BUS CONTROLLING BUS CONTROLLED BUS CONTROLLED BUS
ulH| |©
B| G N M NAME kv NAME kv C| R(pu) X(pu) B(pu)
: K
T |, S[o T
v|lo| |R] NAMEL kvl NAME2 k2 [C|E o NAME kv NAME kv
Rr|P|D| |E] $ (T: R 1
L W DROP DROP
lgl |A p|ol LOAD LOAD
ﬁ N|B NAME kv NAME kv BUSNO.1 | BUSNO.2
v (pu) (pu)
P DROPGEN | DROPGEN
E| G NAME kv BUSNO.1 | BUSNO.2
NAME kv (ID) (ID)
R[R A8 F4.0 A8 F4.0 11ja1 A8 F4.0 A8 F4.0 F6.5 F6.5 F6.5

7-18
19
20-31
32

33

35-46
47-48
49-60
61-62

63-80

1

35-62
35-62
35-62

O ®TXWOZL

1

2

B G

M

O

15-18

28-31

35-46 49-60
35-46 49-60

43-46

57-60
M D R
61
35-62

R 63-80

61

62

63-80

62

63-80

B m

R KR

B 63-68
) 75-80

69-74 35-46 49-60 (

35-46 49-60

16 )

(ID) (ID M

75-80
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1) *OUT

2) CurveMake * CUR

3)
[

0

1

2

3

4

5

6

7
[ J
1y

MH (EXMAX) (EXMIN)
EXMAX EXMIN EXMAX=1.3pu EXMIN=0.8pu
2)
MH AREF AREF
AREF 60
3)
20
4)
20
MH T1 T2 T1-T2 T1 T2
5)
MH
T1-T2 T1-T2 T1 T2
6)
(
)
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2|2 3[4]s]e] 7] ] 0 ;|1|2|3|4|5|6|7|8|9 §|1IZI3|4|5|6|7|8|9 z|1|2|3|4|5|6|7|8|9 3|1|2|3|4|5|6|7|8|9 2|1|2|3|4|5|6|7|8|9 s|1|2|3|4|5|6|7|8|9 ;|1|2|3|4|5|6|7|8|9 3
15 90CARD
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4|5

6] 7|8|9

Lo
=
N

AEECECE

0|l|23

JBEEED

3
AEEE

IECEEE

REEE

T

SECEE

=
| ]
©
(=]
=

2|3[4[5

o

T

o

12][4[5

o

NUMPLT

MAXT

EXMAX

EXMIN

AREF

EDT

MXCYC

NSKP
—~

T, |TSTART

LOTdAT | ~
710S74d | ©

>
S
S

F5.1

F10.5

F10.5

F10.0

F5.2

F4.0

F4.0 F5.1

7-11

13-22

24-33

35-44

46-50

52-56

58-60
62-65
67-70

71-75

77
79

1)

MH
NUMPLT

MAXT
MAXT

EXMAX

99 NOPZ

EXMIN

99 NOPZ

AREF
AREF
AREF=60"

EDT
MXCYC

NSKP
Ty
T2

NSKP

Tl T2

TSTART

IFPLOT

IDELSOL
OPT

0
0

NOPZ>0

NOPZ>0

99 NOPZ

15

C 9 )

C 9 )

Bad Apparent Impedances”

NOPZ>0

EDT=50 /

T1

SOL OPT

MH

T2

EXMAX=1.3

EXMIN=0.8

AREF
B/l
C 9 )

600

SOL
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3)
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4) SOL OPT
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36.1 (BH )

0 1 2 3 4 5 6 7
NEEEEEE EREEEEEEEEEEEREEEEEEEE R EEEEEEEE L EEEEIEEEE B E P EEEEEEEE R R EIEEEEEEEEREEEEEEEER
8 g B 8
B = = =
BH g q E MAX MIN “,;’E MAX MIN E MAX MIN S MAX MIN
® Q Q O
wfn ] In F6.0 Fo | [u F6.0 Fo | |u1 F6.0 o | [0 F6.0 F6.0
CLASSIFICATION MAX MIN
1-2 BH
4 TS
TSZ 0
6 TIANGCUR 0
CLASSIFICATION
1
2
3
4
MAX
MIN
1)
2) MAX MIN CLASSIFICATION MAX MIN
3) 6 0
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22|3 AEBEEE flJll PEZECEEEREEEREE 78|9§|1 2]3|4]s]e]7] 8931 PEEERLER Z|l|2|3|4|5|6|7|8|9z|1|2|3|4|5|6|7|8|9 ;|l|2|3|4|5|6|7|8|92
=

B BUSNAMEB:\S/Eéégé GRP ABC§§
CHENENE clE
ENENENRE ZHIS

2
A8 paof nl Il Il o B ul b fof ful fn
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1 B

4-11 BUSNAME

12-15 BASE

18

21

24
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32-34 GRP 0-999

38 A

40 B

42 C
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(BV/BV+ )

BV+ BV

BV
0 1 2 3 4 5 6 7 8
1|2]3]4]s]6|7]8|o]o] 1]2] 3| 4] 5| 6] 7] 8| o]of 1] 2] 3] a] 5| 6] 7| 8] o] o] 1] 2| 3] a| s] 6] 7| 8] o[ o] | 2] 5] 4| 5| 6| 7] 8| o] o] 1| 2] 5| 4] 5| 6| 7] 8| o] of 1] 2] 3| 4] 5| 6] 7 8] o] o] 1] 2] 3] 4] s ] 7| 8] o] 0
Bv| | [z1]| [ 22| | 23] | 24| | 25| | z6| | 27| | zs| | z0] |z10] |z11| |z1o| |z13| |21 |z15| |z16] [217] |zasf | wamin | wiax | N[ viim | veim Vl‘:;“
| T2 T2 Taz| o a2 T2 Tzl [az| T2 [az| [a2| 22| [a2| [z [22] [22] [A2| [ A2 F5.0 F50 | 12| F43 | F33 ] F33
1-2 BV
5-6 Z1 1
8-9 72 2
56-57 718 18

5-57 18
59-63 Vmin kv
64-68  Vmax %
69-70 N 30
71-74 0.75pu
75-77 1.0
78-80
BV+
0 1 2 3 4 5 6 7 8
1|2]3]4]s]6|7]8|]o] 1]2] 3| 4] 5| 6] 7] 8| o]of 1] 2] 3] a] 5| 6] 7| 8] o] o] 1] 2| 3] a| s] 6] 7| 8] o| o] | 2] 5] 4| 5| 6| 7] 8| o] o] 1| 2] 5| 4] 5| 6| 7] sf o] of 1] 2] 3| 4] 5| 6] 7] 8] o] of 1] 2| 3] 4] 5| 6] 7{ 8] o] 0
Bv|+| [zt [ 22| | z3] | 24| | 25| | z6| | 27| | zs| | 20| [z10] |211] |212] |213| |214] |215| |z16] [217) |zas) | wemin | wimax
x| [ {22 Ta2| Tz T2 22| [a2[ Tzl [a2| [a2] [a2| {22 [22] [a2| [az[ [22| [A2] [A2[ [ A2 F5.0 F5.0
1-3 BV+
5-6 Z1 1
8-9 72 2
56-57 718 18

5-57 18
59-63 Vmin kV
64-68 Vmax kV
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3 BV 18
4 59-68
0.0 0
0
5 BV+ BV BV\BV+
BV/BV+ 10
6 BV 71-74
78-80
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BV
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jlz 3|4]s|6]7]s]o z|1|2|3|4 s{e|7]slo] of1]2|s]4]s]e|7]s|o t3J|1|2 BOERERE g 1]2]3]4]s|e]7]s]o Z|1 BOERERE §|1 2|3 4]5]6]7]s]o ; 1[2]3]4]s]6]7|s]o 3
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GH REFBUS ‘;’g’ % § MAX MIN § MAX MIN é MAX MIN  |IGRD
A2 AS Fa0 | a1 | F6.0 F6.0 b F6.0 F6.0 o F6.0 F6.0 13
CLASSIFICATION MAX MIN
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4 TS
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13 600
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TS=3 TS=1
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7-14 REFBUS
15-18 BASE
20 ID
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2
3
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2) MAX MIN
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15 GH
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5 1
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7 13
8 14
9 15
MAX MIN
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0 1 2 3 4 5 6 7 8
1]2l3| 4| slel 7| ] o] o] 1] 2] 3| 4| 5| 6] 7| 8] ol of 1| 2| 3| 4| 5| 6] 7} 8] ol of 1| 2| 3] 4] 5] ] 7 ] o] o] 1fkele] s| ] 7| ] o] o] 1| 2| 5| 4 5] 6] 7| ] of o] 1 2] 3] o] s| 6] 7] 6] ] o] 1] 2f 5| 4 5] €] 7] ] o]
g g g
= 2 z
L] |3 MAX VIS i = MAX VIS 5 MAX MmN | InsyM [N | D TI v
O O ®
2l i F6.0 reo | 1n F60 Feo | i F60 F60 pll o ll psf] psfl] pas
CLASSIFICATION MAX MIN
CLASSIFICATION=
1
2
3
MAX
MIN
59-61 NSYM NSYM 4
63-65 NTIM NTIM () 4
67-80 ™D T1 T2 R ()
TD=0.012 T1=0.053 T2=0.053
1
P —»
1+STo
R
1 PV’ 1 1 1
= 1+STo S PeQr | Test | L0 TTesn | st R
FILTER
CAL R CALCULATE FILTERS
1 DERIVATIUE
V—>
1+STo
TRANSDUCERS .
R R
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38.2

(L

)

T T T T e e e e e T T e e e el
= I é

L LH

1 L

4-11 BUSI

12-15  BASEI

17-24  BUS2

2528  BASE2

30 PAR

35

38

41

43-48  RMAX

50-55  RMIN

57-62 XMAX

64-69  XMIN

72-74  GRP

80
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38.3 (LC )

12 34I5I6I7I8I9Ié|1 2I3I4I567|8|9I§I1I2I3I4 5l6[7[s[o g 1[2[3]4 iGI? 8 9Ig 1]2l34[5lel7[e] 9 g|1|2I3I4I5 6 7|8|9I§I1I2 HEECKEE g 1]2[3]4]5[e[7]8
7e BUSI | BASEI B2 foasiz | | A § N | | zrvax || zrviN [B|ZR MAX [c|z7& MIN [Nz Gre
LH L LC
1-2 LC
4-11 BUSI
12-15 BASE1
17-24 BUS2
25-28 BASE2
30 PAR
35
38
41
38 41
43-48 Z/R
50-55 Z/R
49 A
56 B
63 C
70
71
57-62 Z/R
64-69 Z/R
72-74 GRP
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1]2[3]4| s|e|718]olol 2] 2] 3| 456l 7] 8l ol ol 2] 2] 3[4l5]6|7A 8]0l of 2] ]3] 4]5] 6k 7]e]ofo] ]2]3]4[s] 6] A 8]l of 1]2] 3| 4] e 7] 8] ololal2] 3] 4fs]6] A e]o]of 2l 2] 3] 4] 5 6] 78] o]
Z p4 Z Z]
8 8 § 8
H H] H >
4 4 < <
I = MAX MIN 5 MAX MIN 5 MAX MIN £ MAX MIN
g g z z
g g s 3
A2| il F6.0 F6.0 I F6.0 F6.0 I F6.0 F6.0 i F6.0 F6.0
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1 2
3 4
5 6 Va
7 Vo 8
9
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NEECECEEEEREEEEEEEEEEEEEEEEEEEPEEEEREEEER EEEEEEEEEPEEEEEEEEEPEEEEEEEEE EEEEEREEER
. o o
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1 2
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4 2 2 2
g 4 g 4
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9 g 9 g
RH 5 MAX MIN 5 MAX MIN 5 MAX MIN 5 MAX MIN
9 g 9 g
9 < 9 <
g q g q
A2 11 F8.4 F8.4 11 F8.4 F8.4 11 F8.4 F8.4 11 F8.4 F8.4

CLASSIFICATION MAX MIN

CLASSIFICATION=
1

3 MOV

5

o N AN

7 MOV
MAX MIN
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1|2[3] 4] 5| 6| 7] 8] o of 1| 2[ 3] 4] 5| 6] 7] 8] o] of 1] 2[ 3] 4| 5] 6| 7] 8f o] o[ 1] 2[ 3] 4| 5] 6| 7] B[ o] o] 1] 2|3 4]5s]7|8] o[ o] 1| 2] 3| 4] 5[] 7[8]9[0] 2| 2]3[4]5]e]7[8]ofo]] 2 8fo
A A B 5 C 9
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1 Al —R
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12-15 F4.0 1 kV
17-24 A8 2
25-28 F4.0 2 kV
30 Al
33-74 I1
AB,C

78-80

MOV

vy

I3

MOV

33 34 35 37 38 39 40

48 49 50 52 53 54 55

63 64 65 67 68 69 70
A

42
57
72
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Prony

PRONY

D

G L 80
ouT
1-3 A3 MHC
5-8 F4.0 Twmin
9-12 F4.0 Tmax
MH TMIN
MHC
) —PY
PY

PY

MHC

0 TMAX

TEND
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18-25 REFGEN NAME
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30 REFGEN ID

32 PY NG
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36 DEL_W

38 EFD
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46 PMW
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50 REGULATOR OUT

52 PM-PE

54 PMVAR

56 PSS PSS

58 T DAMP

60 IFD

62-65 TIME]1

66-69  TIME2
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CASE PFTS2 TS2.SAV 0.650.030.050.040.3
C
C TSET SYSTEM SWING DATA
C

LS sSn 525. S12 525. 1 00 111

LS sSn 525. S12 525. -1 50 111

M N1 13.8 1880. E

M N2 13.8 706. S .0238.0238.2241.66

M N3 13.8 882. H .0284.02840.1 0.2

M N4 13.8 235. S .078 .078 .1291.89

M N5 13.8637.5 S .031.0310.105

M N6 13.8 100. SC 148 .1480.1 0.2

MC N1 13.8 7041. .015 .015 .0151.015 2.
MF N2 13.8 1500. .0382.0764.321 .321 8.372.10.0360.11 0.362.
MF N3 13.8 3975. .0396.068 .138 .068 7.24 0.11 0.442.
MF N4 13.8 784. A21.242.77 .77 6215 0.11 0.362.
MF N5 13.8 1960. .048 .096 .306 .306 6.2 1.5 0.11 0.362.
MF N6 13.8 131. 197 .394 1.6331.6336.921.7 0.11 0.362.
MI N8 230.150. 04  150..0130.11 3.00.0120.12 774 -.207

EA N2 1380 20. .080. -1.0. 050.220.950. 5. .04.04

EA N4 1380 20. .080. -1.0. 0.50.220.950. 5. .04.04

EA N5 1380 20. .080. -1.0. 0.50.220.950. 5. .04.04

EA N6 1380 20. .080. -1.0. 0.50.220.950. 5. .04.04

GH N3 13.8750. 0.050.2 0045 05 02 02 05

GSN2 13.8600. O 00501 0. 02501 1.

GSN4 13.8200. O 00501 0. 02501 1.

GSN5 13.8510. O 00501 0. 02501 1.

TA N2 13.805 1.

TA N4 13.805 1.

TA NS 13.805 1.

XO N1 13.8 N7 230.2 .00001

XO N2 138 N9 230.2 0.0503

XO N3 13.8 N22 230.2 0.0490

XO N4 13.8 N19 230.2 0.1340

XO N5 13.8 N18 230.2 0.0066

XO N6 13.8 N17 525.2 0.0337

XO N10 230. N11 525.3 0.0180

XO N15 230. N12 525.3 0.0180

XO N17 525. N13 525.3 0.0100

XO N17 525. N16 230.3 0.0010

XR N8 230. 0.0 0.0510

XR N10 230. 0.0553

XR N15 230. 0.0553

XR N21 230. 0.6544

LO N8 230. N9 230. 0.0116 0.03768

LO N9 230. NI10 230. -0.002

LO N9 230. N22 230. 0.1764 0.6407 0.1470

LO N8 230. N22 230. 0.1570 0.5658 0.1260

LO s1u 525. Sl12 525. 0.0250 0.0796 0.5663

LO N12 525. S13 525. 0.0185 0.0591 0.1260 0.9780
LO N14 230. N15 230. -0.002

LO N14 230. N19 230. 0.0188 0.0743

LO N18 230. N16 230. 0.0100 0.0622 0.3774
LO N16 230. N19 230. 0.1742 0.6339 0.1420

LO N16 230. N20 230. 0.053550.1849 0.1770

LO N16 230. N21 230. 0.1381 0.5304 0.1230

LO N19 230. N21 230. 0.0364 0.113

LO N20 230. N22 230. 0.0569 0.2541 0.2290

LO N21 230. N22 230. 0.0492 0.1776 0.1650

LO NI11 525. S11 525. 0.0001

UF N21 230.49.8125 6.148.6125 8.948.412510.748.2125 10.748. 125 11.5 w
UF N19 230.49.8125 10.948.6125 15.848.4125 18.948.2125 18.948. 125 20.5 w
LA N8 230. 10 10

LA N9 230. 10 10

LAN16 230. 10 10

LAN18 230. 10 10
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LAN19  230. 10 10
LAN20  230. 04 04 06 06
LAN21 230 10 10
LAN22  230. 10 10
FF 20 150.
2
MH
BH
B SI3 525 11 11111
GH1 N3 138
G N1 138 1 1 1
LH
L S11  525.S12 52 1 1
LCSll  525.812 525 1 1 1 1 11
9
MC MF
(M) (EA) GH
GS TA XO XR LO
LA Ml
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2.1
LS N12 525 S13 525 1
LS -N12 525 -S13 525 -1
1) :
@
0 N12 j
®
5.0 N12
2)
2.2
LS N21 230 N19 230. 2
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LS -N21 230 -N22 230. -1
1)

i
N21
@
N22
2.0 : | 0(3)
- @
N21
2
6 9
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S13
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2.0
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2.3

LS
LS
LS
LS
LS
LS

5.0

8.0

10.0

13.0

2

S11 525 S12 525 9 0.0 1
Sl11 525 N11 525 9 50 7
N12 525 S12 525 9 8.0 7
S11 525 S12 525 -9 8.0 1
S11 525 N11 525 -9 10.0 7
N12 525 S12 525 -9 13.0 7
1
@
K
N | 4 | |
| I | |
N11 S11 S12 N12
1) KD

VAR | |
X | |
N11 S11 S12 N12
) @
LU0 N
X | |
N11 S11 S12 N12
(@D)

| | N

| | | |
N11 S11 S12 N12

| | | |

| | | |
N11 S11 S12 N12

S11 S12

RPRRRPRR

RPRRPRRRR
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24

LS S11 525 S12 525 9 0.0 1
LS S11 525 N11 525 9 5.0 7
LS N12 525 S12 525 9 5.0 7
LS S11 525 N11 525 -9 10.0 7
LS N12 525 S12 525 -9 10.0 7
LS S11 525 S12 525 -9 15.0 1
LS -S11 525 -S12 525 -1 15.0
1)
@
0 - | | 7 | |
| i | |
N1l S11 S12 N12
)
ELRAA IRV
5.0 :
O T | |
N1l S11 S12 N12
1
. 4K | |
10-0 ] i | |
N11 S11 S12 N12
o®
15.0 :| | | |
N11 S11 S12 N12

2)

RPRRRPRR

RPRRRRR
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25

LS S11 525. S12 525. 9 0.0 1
LS Sl11 525. N11 525. 9 50 7
LS N12 525. S12 525. 9 8.0 7
LS S11 525. N11 525. -9 12.0 7
LS S11 525. N11 525. 9 15.0 6
LS N12 525. S12 525. -9 17.0 7
LS N12 525, S12 525. 9 20.0 6
LS S11 525. S12 525. -9 20.0 1
1)
@
0 - | | | |
| ¥ | |
N11 S11 S12 N12
oD gk | |
5.0 X ¥ | |
N11 S11 S12 N12
e éK(l) e
50 - | | |
SO I N | |
N11 S11 S12 N12
@)) 1
| 4K U9
12.0 1 i | |
N11 S11 S12 N12
L 0® 4P VA
1.0 =X | |
N11 S11 S12 N12
L 0® kP | |
17.0 =% | |
N11 S11 S12 N12
L0 | o
0.0 /X | |
N11 S11 S12 N12

PRRPRRRRRR

PRRPRRRRPRR
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2.6
LS S11 525 S12 525 9 0.0
LS S11 525 S12 525 -9 50
LS Si11 525 S12 525 9 5.0
LS S11 525 N11 525 9 10.0
LS N12 525 S12 525 9 10.0
LS S11 525 N11 525 -9 15.0
LS N12 525 S12 525 -9 15.0
LS Sl11 525 S12 525 -9 18.0
LS -Sl11 525 -S12 525 -1 18.0
1)
§K(1)
0 - | | |
| I | |
N11 S11 S12 N12
K@
| | 4 | |
5.0
| I | |
N11 S11 S12 N12
0@ 4K® VAR
0.0 =77 | |
N11 S11 S12 N12
| 4 | |
15.0 4 ¥ | |
N11 S11 S12 N12
o -l | o |
01 | | |
N11 S11 S12 N12
2)

~AOCOOOOKWOKWIA~RELEF

NNNNNDNPEFP PR

PRRPRRRPRRR
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2.7
LS N8 230 4 0.0 -100. -50.
LS N2 13.8 4 2.0 900000
1) N8 100MW S0Mvar
N2
2)
2.8

LS N2 138 8 50 1000 00 50. 04
LS N2 138 8 250 500 04 60. 14
LS N2 138 8§ 750 600 14 100. 19
LS N2 138 8 1000 1000 19 100. 20
LS

3

S

3

3

3

oo

_)\<—|LO

:

8

9 /

2

E —

=5

=

2

S

g

S

8

8.00 25.00 50.00 75.00 100.00  125.00 150.00 175.00

CYCLES
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29

LS

LS

LS

LS

LS
LS
LS
LS

LS
LS

[TTT

N3

N3

N3

N3

N3
N3
N3
N3

N3
N3

138

13.8

138

138

13.8
138
138
13.8

13.8
138

N3
N3
N3
N3

N3

N3

10 00 1 005 6.5
10 0.0 2 001 10
10 00 3 .001 .0006
10 00 4 03 65
10 0.0 2 0.001 1.0

8 1500 100. 00 40 80

8 5500 40 08 40 30
10 7500 5 6.5
10 00 3 001 .006
4 200. 900000
70% 30%
N
2
150 (3 ) 8 550
40%
40%
750 (15 )
220 (4 )

MF
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2.10

211

Sl1
S12
N12
S11
S11
S12
N12
Sl1

1.0

1)FF

2)

Sl1
S11
S12
S12
S13
S13
N20
N20
N16
N16
N22
N22

1.0

525
525
525
525
525
525
525
525

10.

LS

525
525
525
525
525
525
230
230
525
525
525
525

100.

S12
S11
N12
S12
N11
S12
S12
S12

100

S12
S12
S11
S11
N12
N12
N16
N16
N20
N20
N9

N9

525
525
525
525
525
525
525
525

525.
525.
525.
525.
525.
525.
230.
230.
230.
230.
230.
230.

0.0
1.0
2.0
3.0
4.0
5.0
6.0
7.0

0.0
1.0
2.0
3.0
4.0
5.0
6.0
7.0
8.0
9.0
90.
91.

AR WWNNRERPRE

PRRPRRRPRRRER

PRRPRRRRRR
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2.12
LS S11 525  SI12 525. 9 0.0 1 1 1
LS N11 525. S11 525. 9 0.0 7 1 1
LS N12 525  SI12 525. 9 0.0 7 1 1
LC S11 525. N11 525. 1 1 1 1 11
LC Sl1 525  SI2 525. 1 1 1 1 1
1
N11 S11 S12 N12
C
B
A
2 S11-S12 A S11-S12
A S11-N11 A S11-N11
S11-S12 A
3 S11 S12 S12 S11
2.13 1
LS SI3 525, NI2 525. 9 0.0 1 1 1
LS SI13  525. Ni3 525. 9 0.0 6 1 1
B N13 525, 1 11111
B S13 525. 1 11111
B N12 525, 1 11111
1
N12 S13 N13
C
B
A 4
¥
2 s13 B
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2.14 2
LS S13 525. N12 525. 9 0.0 1 1 1
LS S13 525. N13 525. 9 0.0 8 2 1
B N13 525. 1 11111
B S13 525. 1 11111
B N12 525. 1 11111
1)
N12 S12 N13
C
B
A s
M
2 S13 C
3
31
SLACK 20
STATIONN5S00 T
™ o i o
NORTH 500
AT RECTFIER
v
v
——INVERTER 113
BV v
T SOUTH 500
T
= SOUTH 61 20
% i STATIONS 500
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3.2

Fr

90
MH

99

T=0.09 T,=0.03 T;=4.6 T3=0.12
I max=1.2

K=249 Ts=0

| marg:O
CASE PFDC2

LS RECTFIER113. INVERTER113. 5 5

LS SOUTH 500. STATIONSS500.1 1 00
LS SOUTH 500. STATIONS500.1 -1 5.0
MC NORTH G120.0 4000. .01

MC NORTH G220.0 4000. .01

MC NORTH G320.0 4000. .01

MC SLACK  20.0 4000.
M  SOUTH G120.0 1511. .9 H 2 2
MF SOUTH G120.0 7238. 15110035 .7 09 0.7 760.00.18 2.
EJSOUTH G120.00.0 30.0.04.0-6.0 -3.224.030.0.7

GH SOUTH G120.02000..05 .25 .04 50 05 02 03 .25

D RECTFIER113. .09 .034.60 .012249.P1.2 0.100. 1
D INVERTER113. .09 .034.60 .012249.P1.2 .10100. 1
LB SOUTH  500.
LB STATIONNS500.
LB STATIONS500.
LN RECTFIER113.
LN INVERTER113.
FF 2.0 150.

NN

.064.08

B NORTH 500. 1
B SOUTH 500. 1
B STATIONNS500. 1
B STATIONS500. 1
GH SLACK  20.0
G NORTH G120.0
G SOUTH G120.0
G SLACK 200
LH 1 3500. -500.
L NORTH  500. STATIONNS00. 1 1
L STATIONNSO00. STATIONS500. 1 1
L NORTH 500. RECTFIER113. 1
L SOUTH  500. INVERTER113. 1
DH

D RECTFIER113. INVERTER113.
99

(SNSRI

11 1
11 1
11 1

PR

pePe

111111111111111111

20 150. 50 10

10

90-99

OUTPUT SELECTIONS

lmarg=0.1 O gop=100

*.OPT
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B
2 3
Curve Maker * CUR
2.1
* CUR
MH 78
+ 200 + 0.8Hz
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C DEBUG

DEBUG
DEBUG

1 2 3

~

7

N

[5 I8 I8
1] 2 [3[4fs[e[7]8]9[o[1]2]3]4]s]6] 780 1[2[3[4]5]6]7]8]ofof1]2]3]4]5s]6]7]8]ofo]]2]34ls el 7I8[olo]]2]3]4ls]6]7T8[olo[1T2[3[4[s]el7]8o o 1T2[3[4]s[6[7[8]o[0

D E BUG, T T, T3 Ta Ts Ts

A5 F5.1 F5.1 F5.1 F5.1 F5.1 F5.1

7-42

DERIV
REDUCE Y

O 0

10 IDSW DAMPN DTSC DTSI
GENDROP

11 Y

12 CNTRL CNTRLA

13

14

15 ECS

16

17

18

19 Y

20 DERIV

21

22

23 Y

24

25 CNTRL

26 YE

27

28

29

30 INPUT3

31 INITIAL2

32

33

35 DERIV
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36
37
38
39
40
41
42

51-80

MATMOD Y DCSUB
INPUT1

ZNO

Ty To T3 Ta Ts Te

DEBUG T1 T2
DEBUG Tz Ta Ts Te

CNTRL

DNX DNXRLY
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